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Answer all questions.

All questions carry equal marks,

Only one answer is to be given for each question.

If more than one answers are marked. it would be
treated as wrong answer.

Each question has four alternative responses marked
serially, as a, b, c, a. You have to darken only one circle
or bubble indicating the correct answer on the Answers
Sheet using BLUE BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet.
When you are directe to open the Test Booklet, take out
the Answer Sheet the fill in the particulars carefully with
blue ball point pen only.

1/3 par to the mark(s) of each question will be deducted
for each wrong answer. (A wrong answer means an
incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of
any question blank will not be considered as wrong
answer.)

The candidate should ensure that Question Paper
Booklet No. of the Question Paper Booklet and Answer
Sheet must be same after opening the envelopes. In case
they are different, a candidate must obtain another
Question Paper. Candidate himself shall be responsible
for ensuring this.

Mobile Phone or any other electronic gadget: in the
examination hall is strictly prohibited. A candidate
found with any of such objectionable material with him
/ her will be strictly dealt as per rules. Please correctly
fill you Roll Number in O.M.R. Sheet 5 Marks can be
deducted for filling wrong or incomplete Roll Number.
If there is sort of ambiguity /mistake either of printing or
factual nature then out of Hindi and English Version of
the question, the English Version will be treated as

standard.

Do not open this Test Booklet until you are asked to do so.
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YR SfAem= & \rHToTe FHEar o7 3 2-
(a) SATRT D HH

(b) THAT BT HH

(c) TS & It T & oI gHT= SIaeR

(d) Frefafad & 4 12 78t

Q1.

What is the meaning of "social equality” in the

Indian Constitution?

(a) lack of opportunities

(b) lack of equality

(c) equal opportunities for all sections of the
society

(d) none of the following

Q.2 fF=fafed fa=ivaisit &1 wdl e | fam

PIfoTT 2
(a) TN & A0 9 D & (i) R ST
(b)STHIGAR] B ]MTY HT YR DERIEESE
(c) % T & S I DT SCaRT  (jii) TuH ST
(d) Xrsg YT H el &1 3frde (iv) TTaa S
Q.4
@ (b) () (d)
(A) @ Gy Gv) (i)
(B) @iy @  (v) (i)
© @iy (v) () (i)
(D) @ @) @v) (i)
Match the following characteristics with the
correct code?
(@) Names and jurisdiction (i) Third Schedule
of states
(b) Form of Oath of the (ii) Fourth Schedule
Candidates
(c) Division of subjects (iii) First Schedule
between the Center and
the States
(d) Allocation of seats in the  (iv) Seventh Schedule Q.5

Rajya Sabha

(a)
(i)
(iii)
(iii)
(i)

(b)
(ii)
(i)

(iv)
(i)

(c)
(iv)
(iv)
(i)

(iv)

(d)
(iii)
(ii)
(i)
(iii)

(A)
(B)
©
(D)

Q.3 fAEfafed sy A A Tt Hu 2
(A) HRAT AfGU™ FHT BT Tl SRR SHaT,
1947 H g3 T

(B) YR T GHT TN 1946 & Uica GHT3MN gRT
ESIKIERI

(C) STaTERAd g%, Heldl et 3R THu S
YR P FAYH IHT & T& |

(D) YRd &1 WAYF 26 SHARI, 1950 B ifipa
foram T

Which of the following statement is correct?

(A) The first session of the Indian Constituent
Assembly was held in January, 1947.

(B) The Constituent Assembly of India was
elected by the Provincial Assemblies in the
year 1946.

(C) Jawaharlal Nehru, Mahatma Gandhi and M.A.
Jinnah were members of the Constituent
Assembly of India.

(D) The Constitution of India was adopted on
January 26, 1950.

YR WG BT 26 TR 1949 F fhad gRI
Sif¥rfrafira far mar ur?

(A) YR T gRI

(B) HRA & TR SR gRT

(C) HRd & QT

(D) fofewr dug g1

By whom was the Indian Constitution enacted
on 26 November 1949?

(A) By the Indian Parliament

(B) By the Governor General of India

(C) By people of India

(D) By the British Parliament

frafafea & ¥ f5a urau= & Y Iy
fIuruTel #1 wgufa ¥ dve & faxiy agua
T "R forar s goar 82

1. I § Il &1 ufaffda

2. 71U IS} BT YA AT RITYAT

3. 9% U9 Jd1 Hx gRkug

4 feT T FIs FT IUURT FF Jat IR P

TG PN
(a) Pad 1 3R 2 (b) pad 2 3R 3
(c) Pad 1 3R 3 (d)Ppad 1,2 3R 3

Which of the following provisions can be

amended by a special majority of the




Q.6

Q.7

Parliament with the consent of half of the
State Legislatures?

1. Representation of States in the Parliament

2. Admission or establishment of new states

3. Goods and Services Tax Council

Select the correct answer using the code given
below :

(@ 1and 2 only (b) 2 and 3 only
(1Tand3only (d)1,2and3only

TRIY B 26 TN & G & ar H= &1 Aok

Y foram mam?

(A) 39 T BY 1942 $. & YR BIST A 3IMRH
gor|

(B) T§ YR GaT SR YH o Tl

() BT A 39 fafy BT 1930 5. § W feag &
XU H FE T U7

(D) IWIad H I &Is el

Why was the decision taken to implement the

constitution on 26 January itself?

(A) Quit India Movement started on this day in
1942 AD.

(B) It was an auspicious day according to the
Indian calendar.

(C) Congress celebrated this date as
Independence Day in 1930 AD.

(D) None of the above.

frafafaa d A gl sy 82

() HRA H Ifgu I & TTed o1 faaR gauyy
1934 H TH.UAG = X@1 U

(i) U< Tfaem quT & o 15 Afgen I i

(iii) Sfqum gu1 gofd: =afa 4

(iv) TfILU™ THT & Ugal Rt sregef i Ioix gae
of

TE! BIS BT TG BI-

(A) ST () TEI &

(B) et (i) T (i) Wel B

© I S 3|

(D) B (i), (ii) T (iv) eI &1

Which of the following is the correct

statement?

(i) The idea of forming a Constituent Assembly in
India was first mooted by MN Roy in 1934.

(i) There were total 15 women members in the
Constituent Assembly of India.

(iii) The Constituent Assembly was fully elected.

(iv) The first permanent President of the
Constituent Assembly was Dr. Rajendra
Prasad.

Select the correct code-

(A) Only (i) is correct.

(B) Only (i) and (ii) are correct.

(C) All are correct.

(D) Only (i), (ii) and (iv) are correct.

Q.8 T 8 # AfRuit-200 AREFET IPbe & yawm $

e ¥ Fufafad Hy= = faar Fifor:

1. 3RTI-200 &I TRUN ITQT JAdbe g Sl ISP
UdIs & 91y 70 foomt o1 SaTs db e H TearH
gl

2. 3RUD- 200 AW H Ugad TBAT '200' be Bl
dars &) ot § axiar g

3. 3RUT-200 & A 3R GO R0 31 HIeR! gRI
Tarferd g |

SR U T Hy= § @ S5 9/ 98 2782

[a] Pad 1 3R 2 [b] Pad 2 3R 3

[c] ot 1 3R 3 [d] 1,2, 3R 3

With reference to the recent launch of Rohini-
200 sounding rocket, consider the following
statements:

1. The RH-200 is a two-stage rocket capable of
climbing up to an altitude of 70 km with a
scientific payload.

2. The number '200' in the name RH-200 refers to
the length of the rocket in mm.

3. The first and second stages of the RH-200 are
driven by solid motors.

Which of the statements given above is/are

correct?
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d]1,2,and 3

Q.9 fr=fufEa & & 3rira &1 gATT Fifore-
() ufsrar faw afafa 81 o= TG
(i) IT=T g 31 {19 SiegaR
Gip Iodf » g afafd WReER deavyE ued
(v) I dfge ofafa o ad T

(A) HId (iii) (B) I (iii) T (iv)




(C) pad (i) d (iv) ) T TEt B

Choose the odd one out from the following-

(i) Rules of Procedure Dr. Rajendra
Committee Prasad
(ii) Drafting Committee Dr. Bhimrao
Ambedkar
(iif) Committee for States Sardar
Vallabhbhai
Patel
(iv) Federal Constitution Jawaharlal
Committee Nehru
(A) (iii) only (B) (iii) and (iv) only
(C) Only (i) and (iv) (D) All are correct.

Q.10 AU JUT §RT 26 AAWER, 1949 & AT fby

T yrayT=i # Wi @ 2
(i) AR
(i) STUTARTA HTaHT
(i) Fratam
(iv) AT B Uy BT UG
(v) TEg HoTTett

TE! BIS BT TG BI-

(A) Had (i), (i) 9 (i)

(B) Had (i), (iii) T (iv)

(O) ad (i), (ii) T (iv)

(D) Had (iii), (iv) T (v)

The provisions implemented by the
Constituent Assembly on November 26, 1949
include?

(i) Citizenship

(i) Emergency Provisions

(iii) election

(iv) Provision of oath of the President
(v) Federal system

Select the correct code-

(A) (i), (i) and (iii) only

(B) (i), (iii) and (iv) only

(C) (i), (ii) and (iv) only

(D) (iii), (iv) and (v) only

Q.11 YRd "fyu & WHia srawit & @efor fagae

8, I9 BIforg

() fafaa dfaem™

(i) fege-taan

(i) Ay &1 a=dtaraq
(O ESERICEINE

(v) Tep HfdyT

g PIS BT TG Be-
(A) BT (i), (iii) T (v)

(B) Had (ii), (iv) T (v)

(C) W (i), (ii) T (iv)

(D) B (i), (ii), (iii)  (iv)

The features of federal system are present in
the Indian constitution, select the following -
(i) Written constitution

(ii) Bicameralism

(iii) Flexibility of the constitution

(iv) independent judiciary

(V) a constitution

Select the correct code-

(A) (i), (iii) and (v) only

(B) (ii), (iv) and (v) only

(©) (i), (ii) and (iv) only

(D) (i), (ii), (iii) and (iv) only

Q.12 Hd YR Tfyur &t fawarsit & fAfga 82
(i) ThIhd T W AT
(i) TRDR DI HAETHD TUITA!
(iii) TR T S{TRIAT BT JHGY
(iv) Thd ARTRST
(v) Tfeie BT
TGl IS BT TG -

(A) (i), (iii), (iv) d (v)
(B) (i), (ii) d (iii)
(© (i), (i) 9 (iv)
(D) (i), (iii) 9 (iv)

The basic features of the Indian Constitution
lie in?

(i) Integrated and independent judiciary

(ii) Presidential system of government

(iii) Rigid Constitution with flexible character
(iv) Single citizenship

(v) Fundamental Duties

Select the correct code-

(A) (i), (iii), (iv) and (v)

(B) (i), (ii) and (iii)

(©) (i), (i) and (iv)

(D) (i), (iii) and (iv)




Q.13 wiearg uf¥ady & Wefka grar € # "uw 279
R gWeT (@19-27) & < A g sy=1
TR faR &3
1. SYDT TANSH B9 BT 3remerar | foar mar 1|
2. T 3R YT A WY FU F IDRA dT faan
T

3. YRAIG AHRETSd &1 Add Tuaa R
T 3 fomam |

Sue A | o puT agt 8 2

a) $ad U b) dad &l

o gt = d) 59 q BIS el

With reference to the recently concluded

27th Summit on Climate Change (COP-27),

consider the following statements:

1. It was organized under the chairmanship of
Egypt.

2. Spain and Senegal jointly launched IDRA.

3. The Indian delegation was led by Prime
Minister Narendra Modli.

How many of the above statements are

correct?
a) only one b) only two
¢) all three d) none of these

Q.14 YR WU $1 $o favar? o= widl 9 ot
T 2, Prafafea 3§ @ sRiva o 82
(A) I & Hifq-Fdee aa (i) MRS
(B) fafer g =1fUa ufean (i) foreT
(C) ITad &g &b TTY T HIRAT (i) HTST
(D) TTUTCHATHD AR (iv) Wi

Some features of the Indian Constitution have
been borrowed from other sources, which of
the following is the incorrect code?

(A) Directive Principles of State (i) Ireland
Policy

(B) Procedure established by law  (ii) UK

(C) Federal system with strong (iii) Canada
center

(D) Republican system (iv) France

Q.15 HRHIT AAU TUT H fFd YR W 7fda
far ar U2
(A) IR a=dm SfafAaa-1947
(B) Hfae firem e
(€ oo uxara
(D) AT3de TIoHT

On what basis the Indian Constituent Assembly
was constituted?

(A) Indian Independence Act-1947

(B) Cabinet Mission Plan

(C) Cripps proposal

(D) Mountbatten plan

Q.16 URA & JAUTH & YT & Ja9 H Tt HY=

gl

A) TRy &1 U § fbg P13 fafdie gurg 8t
G|

(B) TfIYT BT U 76T g 3R Pis fAfd gHra +ff 7af
G|

(C) TfIY™ BT HIT § 3R 391 &) fafdie wvma Taan
8 O fF PIS 3T U

(D) AU &1 UFT B fhg IF 3= UFT J WA
BIPR IUDT BIs fafdid UHT a1 B

The correct statement regarding the Preamble

of the Constitution of India is

(A) Itis a part of the constitution but has no legal
effect.

(B) It is not a part of the constitution and has no
legal effect.

(C) ltis part of the Constitution and has the same
legal effect as any other part.

(D) ltis a part of the constitution but has no legal
effect independent of its other parts.

Q.17 Ireal & faferfaa ¥ @ #19-9 9gg 1 TdR &t
3T TITYAT feas A 272
a) AT U, HHlcd, UWTd, Pbd, gRATOM, 3fiy
Y 3R TS
b) Hed USTI, Hicd, deiTHI, Bd, gRaTm, 3y
TS 3R BTG
<) HEO U, H-led, USE, Pbrd, gRITOM, 3iiy
TS 3R JeTHT
d) A U, ORI, USllE, B, gIRATo, 3
T 3R BTG

Which of the following groups of states

observe November 1 as their foundation day?

a) Madhya Pradesh, Karnataka, Punjab, Kerala,
Haryana, Andhra Pradesh and Chhattisgarh

b) Madhya Pradesh, Karnataka, Telangana,
Kerala, Haryana, Andhra Pradesh and
Chhattisgarh




¢) Madhya Pradesh, Karnataka, Punjab, Kerala,
Haryana, Andhra Pradesh and Telangana

d) Madhya Pradesh, Rajasthan, Punjab, Kerala,
Haryana, Andhra Pradesh and Chhattisgarh

Q.18 fA=ferad Seal & ®1HT U HIRd & |faur

31 yaraT A fAfga adi g 2
(A) fo=arg &1 WdFan

(B) 3HYeTdd &t Tadaarl

(C) SUTRIAT DI G|

(D) IS aa=dT|

Which one of the following objectives is not
enshrined in the Preamble to the Constitution
of India?

(A) Freedom of belief.

(B) Freedom of expression.

(C) Freedom of worship.

(D) Political freedom.

Q.19 I & UFATa-T & HaY H AT PY @ -

(i) AU B YRT & AN GRT SR faa B
(ii) 75T o GRITT B! AT U ¥ § Faffad axa
gl
(iii) THTSIATE! g YwfRUe Teg 1950 3. H Wfgem &
U & 3T Y|
(iv) 0. STATExdTd g% & 35T UKTd P, Sil Wi
YT gRT WeR far mar o1, dfaur & fHafor
TR 3RR T
TE! BIS BT T B3 -
(A) B (i), (ii) 9 (iv)
(B) bad (i) d (iv)
(C) et (i) g (ii)
(D) %4 (i) d (iv)

The correct statement regarding the Preamble

of the Constitution is -

(i) The Constitution has been enforced by the
people of India.

(i) The head of the state is directly elected by the
people.

(iii) The words socialist and secular were part of the
Preamble in the Constitution in 1950 AD.

(iv) Pt. Jawaharlal Nehru's Objectives Resolution,
which was adopted by the Constituent
Assembly, had an impact on the making of
the Constitution.

Select the correct code-
(A) (i), (i) and (iv) only
(B) (i) and (iv) only

(C) (i) and (ii) only

(D) (ii) and (iv) only

Q.20 & A Ft ~Re araf & siavfa ywara=n &1
TfAYTT BT U /T 74T
(A) S=aTS! Y AT (1960)
(B) HRIATHG YR HIHAT (1973)
() firat firey AT (1980)
(D) DT AT (1967)

In which judicial debate, the Preamble was
considered a part of the Constitution.

(A) Berubari Union Case (1960)

(B) Kesavananda Bharti case (1973)

(C) Minerva Mills Case (1980)

(D) Golaknath Case (1967)

Q.21 ifau & uxara-n ¥ fAfga fawal &1 wargaR
AR HI1T? Wl Fe T -
(A) FHT - FadAdl - 1
(B) TIdAT - ™ - FUdT
(C) T - WdAdT - JHdT
(D) FHT - <X - AT

Arrange the subjects contained in the Preamble
of the Constitution in chronological order?
Select the correct code -

(A) Equality - Freedom - Justice

(B) Freedom — Justice — Equality

(C) Justice - Freedom - Equality

(D) Equality - Justice - Freedom

Q.22 YRdW WfIU™ H I Rw1/vuara &1 faar
e mar g 2
(A) SITUH & Tfge™ I
(B) fore & Wfgem &
(C) JUH.E. & Wy 9
(D) HITST & AU o

The idea of Preamble/Preamble has been
taken in the Indian Constitution?

(A) From the Constitution of Japan

(B) From the constitution of Britain

(C) From the constitution of U.S.A.




Q.23

Q.24

Q.25

(D) From the Constitution of Canada

i fou T ar foIH T $YA (A) T G

PR (R) $ =9 H 3ifpd g1

YT (A) Hifcie B R FRUe T2 |1

PR (R) T gRI U Aifeie ISR a1

RT3t & 3 B

(A) (A) 3R (R) QI TG § TUT (R), (A) BT Fat
RAT Bl gl

(B) (A) 3R (R) GFI Wl § TUT (R), (A) BT T
AT el g

() (A) T&T & AP (R) Tad B

(D) (A) Tod § A (R) T&1 5

Given below are sentences marked as

Assertion (A) and Reason (R).

Assertion (A) Fundamental rights are not
absolute.

Reason (R) The
conferred by the Constitution

fundamental rights

are  subject to judicial
interpretations.
(A) Both (A) and (R) are correct and (R) is the
correct explanation of (A).
(B) Both (A) and (R) are correct and (R) is not the
correct explanation of (A).
(C) (A) is correct but (R) is wrong.
(D) (A) is wrong but (R) is correct.

3T I F et gt 8k smu wffay +t
gital & R M ST T8d 8 URA
AU BT AT TD¢ 3MUP FTYBR HY

HREUT GAT B 2
(A) 3J=aq - 21 (B) 3G - 19
() 3rTedq - 14 (D) 3G - 22

You are a resident of Rajasthan and you want
to go to Goa during summer vacations’
Which article of the Indian Constitution
protects your right?
(A) Article - 21
(C) Article - 14

(B) Article - 19
(D) Article - 22

fafr o wrdiqar & 9 Jed Iugaa dSy
@, Frefifee & @ o ufafsfa svar @ 2
A afe faftr 78t g o Treh=ar «ft 7Y 81

(B) Tfe Trehar g o fafd- fafor Sar &) =
BRI

(C) Tfe fafdaT 3ifies gYclt § @ Tareh=ar A gt
gl

(D) Ife fafYy - uRad IR-IR g1 § @ I8
refiar & e TR 8|

Which of the following best reflects the

relationship between law and liberty?

(A) If there is no law then there is no liberty.

(B) If there is independence then law-making will
have to be done by the people.

(©) If there are more laws then there is less
freedom.

(D) If law-change happens frequently then it is a
threat to liberty.

Q.26 HRHI WA & 3rg=de-19 & siaia faft=

IPRI # IR e m 8 St
UgHIg ?

(i) 9Tep Ud S{HfoRkT ! TacizId |

(i) TH TG T TehR] Al T BT ARDR |
(iii) Tt Tty bl Wi 9 9o &1 SifidR|
(iv) Difayd® a FRIgY T &1 fER |

(v) facwr amn & &1 YR |

TG Fe BT g9 DT

(A) (i), (i), (iv) d (v)

(B) (i), (ii) d (iv)

() (ii), (iv) d (v)

(D) (i), (iii) 9 (iv)

Various rights have been included under

Article-19 of the Indian Constitution, identify

them?

(i) Freedom of speech and expression.

(i) the right to form an association or a co-
operative society.

(iii) Right to buy and sell any property.

(iv) Right to assemble peacefully and unarmed.

(v) Right to travel abroad.

select the correct code

(A) (i), (i), (iv) and (v)

(B) (i), (ii) and (iv)

(Q) (ii), (iv) and (v)

(D) (i), (iii) and (iv)




Q.27

Q.28

Q.29

T USRI & Y | T8t FUYT 8 ?

(i) ¥ PId R P NI B U g

(ii) T8I0 U J U B

(iii) I SATITABIA P GRIM 3G 19 G 20 B
ISR 3 B! (ifad far o1 g 21

el R BT 4G HIfoT

(A) bae (i) 3R (i) T8 31

(B) P9 (i) (i) TBI &

(C) baet (i) T &

() Tt TEt B

Which is the correct statement regarding

Fundamental Rights?

(i) Itis available only to the citizens of India.

(i) Itis obtained relatively.

(i) Except articles 19 and 20, others can be
suspended during national emergency.

select the correct code

(A) Only (i) and (iii) is correct.

(B) Only (i) and (ii) are correct.

(C) Only (ii) is correct.

(D) All are correct.

ORI & TAYR JEX | T fHmion wya wR s
& TG P PO HolgY BT HXd Y| d BTH HA S
fRIT SaqR # I5d A1 31 HeIgR] B gAaH Heigel
¥ W Hu gorgdt & ot <R, 39 foeg d@fyu=
BT PIAT SIS TREIUT YST Bl § ?
(A) =< - 23 (B) SIITG - 14
(C) 3G - 21 (D) 31TG - 19

Some laborers from outside the state were
working at a construction site in Jaipur city of
Rajasthan. They lived in Jaipur to work. Which
article of the constitution provides protection
against those laborers who were paid wages
less than the minimum wages?

(A) Article - 23 (B) Article - 14

(C) Article - 21 (D) Article - 19

ffe = dfeu & Sexal § § U
frafafed & 9 feg wu A yeM fear T 8-
(a) URATATT 3R Hiferd 3ifIpR

(b) TRATGAT 3R I9 P A e da

(c) Afeiep 3MfIPR 3R IsT & Hifd Fcwe da

(d) IUYeRI H 4 DTS T

'Economic justice' is one of the objectives of

the constitution provided in the form of-

(a) Preamble and Fundamental Rights

(b) Preamble and Directive Principles of State
Policy

(c) Fundamental Rights and Directive Principles
of State Policy

(d) none of the above

Q.30 JHAYTIP IRPR BT AIAT &:-
(a) UG TR & WY T Y B! Ul ISR
(b) T T PR S U@ B AHAH DI
it U g
© Wﬂgﬁwmmﬁaﬁ%mﬁr
U g
(d) dfqem & el gRT Hffd WeR

Constitutional government means:-

(a) Representative government of a nation with a
federal structure.

(b) A government whose head has nominal
powers.

(c) A government whose head has real power.

(d) Government limited by the constitution

Q.31 fFufaf@a & ¥ 19 WRd &1 te wifeRue I
P ¥4 H aftfa sar &2
1. 3¢ 25 2. 3G 29

3. 3q 44

Iuad | | TEI B BT 99 DY -
(a) Pad 1

(b) 2 3R 3

(€ 1,233

(

d) Iuad ¥ q B LT

Which of the following describes India as a
secular state?

1. Article 25 2. Article 29

3. Article 44

Select the correct code from the above -

(@) 1 only

(b) 2 and 3

(©1,2and 3

(d) none of the above

Q.32 fau @t a1 & deu A frufafaa syt
TR faarR sifvre:.-
1. TG & IR WfAuU™ YR &1 Hfaem I
T 3T 3ABR U FRaT




2. YRa Afqur gf-ar &1 ugar dfaur of, fSae!
BT U1 9 g8 At

3. URATGTT TG T T fowdn g 3R Tfgur ot
TSB! WP el B

SR U U Hy= § @ o9 91/Q 98 2/

(a) pad 1 3R 2 (b) Had 3

(c) I 2 3R 3 (d)1,2 3R 3

With
Constitution,

reference to the Preamble of the

consider the following

statements: -

1. According to the Preamble, the Constitution
derives its authority from the Constituent
Assembly of India.

2. The

constitution in the world, which started with the

Indian Constitution was the first
Preamble.

3. Preamble is a part of the constitution and
interpretation of the constitution gives its

clarity.
Which of the statements given above is/are
correct?
(@ 1and 2 only (b) 3 only
(c) 2 and 3 only (d)1,2and 3

Q.33 1. WIRTE srdsd? & R Fufafea o &

oA dfaur™ #Y srer & =u A afvfa fear wan

&7
a. 3G 32 b. Mifeies SR
c. TRt d. Afeies pdoa

According to the Dr. Bheemrao Ambedkar
which of the following has been described as
the soul of the Constitution?

a. Article 32
c. Preamble

b. Fundamental Rights
d. fundamental duty

Q.34 YRd Hfyu A oy Ay A I=w & Hifa

fadwe a9« Ut fpe @2
1. STHT

2. 3RS

3. 9gad oY AR
4.fyeq

From which constitution has the Indian
Constitution borrowed the Directive Principles
of State Policy?

1. Germany 2. Ireland

Q.35

3. United States 4. Britain

Tare =ararad | F:3ew Ren & fter ot
fFrafafaa sfierl # 3 fra sfter &1 fewm
T &2

1.7101 U4 SRR Wzl 1 SHRbR

2. 9901 & FAT® SIfIeR

3.91% R ifNfFT Bt WA BT AR

4. piad 3R A R

The Supreme Court has made the right to free
education a part of which of the following
rights?

1. Right to life and personal liberty

2. Right against Exploitation

3. Right to freedom of speech and expression

4. Cultural and Educational Rights

Q.36 TIPRad @I AR UG A ATl Ugeln

YR I B AT UT?
a) [egr b) IR UG
¢) T8I T d) HERTY

Which was the first Indian state to establish
the institution of Lokayukta?

a) Bihar b) Uttar Pradesh

c) Andhra Pradesh d) Maharashtra

Q.37 YR Tfae # HeUIUISRI I5T P SGYURUM

s Smfiret 22

(a) Aifere SHfIPR

(b) TT & i Az aa
(c) RTRBaT

(d) Fafa 3T %1 uray™

In which of the following is the concept of
Welfare State
Constitution?

included in the Indian
(a) Fundamental rights

(b) Directive Principles of State Policy

(c) citizenship

(d) Provision of Election Commission

Q.38 Fufifad & & @19 w1/8 w9 ¥ Hifd Fdze

acdl § & T /22

1.3750 faer & fore fagm sik deifiia &1 agrar
3 BT U BT

2.3 N URA H ARTRS| & [ U JqH AFRS
e QRI&T R 1 T BT




3. 3T ST Hifd 3R ulkar e srfeH o
o RId B &1 T BT

4. 5T Te $I 9141 ¢ & U deH ISTT|

Sa ¥ & fa vy 98t &

(a) Pad THh (b) Fad &1

(c) had aF d) gt IR

Which of the following is/are one of the

Directive Principles of State Policy?

1. The State shall endeavor to promote science and
technology for development.

2. The State shall endeavor to secure for the
citizens a uniform civil code throughout India.

3. The state will try to develop population policy
and family planning programmes.

4. The state will take steps to promote tourism.

How many of the above statements are correct:

(a) only one (b) only two
(c) Only three (d) All four
Q.39 AU ¥ 3gDe 51-TF frafafaa &
ﬁﬁﬂm YR ARG & P 82
. HTSTaTe, YHfARUET 3R Adad H Ay ST

z. I 1 UTeH BT SR AP &ae SR AFTH
BT JHH HAT
YR B} YUY, TehdT 3R SRASAT PI & HIAT
4. TV B ARG TEpia B TG fRd &I
TRI&TT =T
5. U & TRIG 3R HHASR T DI A Bl
wéaaﬁﬁ%ﬁmwaﬁ%
(a) Had al (b) ad A
(c) Had AR (d) Tt ot

w

Which of the following are the fundamental

duties of an Indian citizen as per Article 51-A of

the Constitution?

1. Believing in Socialism, Secularism and
Democracy

2. To abide the constitution and respect the
national flag and the national anthem

3. To protect the sovereignty, unity and integrity
of India

4. To preserve the rich heritage of the composite
culture of the country

5. To help the poor and weaker sections of the
society

How many of the above statements are correct:
(a) only two (b) only three
(c) Only four (d) All five

Q.40 fAufafaa # A frw Wy wu A o+ ufafAfua

Q.40

SfUfaw (RPA) 1951 & agd gATdI SHfigaR] &1

a@?%mwww%mﬁmﬁm

™Al e?

1. e & forg gor

2. 1971 & AP JHM MAFNTH & dgd AP &
DT A B & forg Tl

3. ' 3RYYYAT &1 URURS U1 & 9gI1dT &1 a7 JaR
B o forw o, fo URdg dfqer &
eﬁ,@?ﬂ%ﬁ%ﬂt{ﬁﬂ?@'@ﬂﬂmm%m

ﬁﬁwwm@nwvﬁwgﬁql
(a) Had 1 (b) Pad 1 3R 2
(c) Pad 2 3R 3 d)1,23MR3

Which of the following has been explicitly cited

as a ground for disqualification of electoral

candidates under the Representation of People

Act (RPA) 1951?

1. Conviction for robbery

2. Conviction for insulting the National Flag
under the National Honour Act of 1971

3. Conviction for promoting or preaching the
traditional practice of 'untouchability' which
is abolished completely under Article 17 of
the Indian Constitution

Select the correct answer using the code given

below.
(a) 1 only (b) 1 and 2 only
(c) 2 and 3 only (d)1,2and3
Q.41 fFuffaa y= w faurR Fifeme:
1. e 32 Mfed feRl & uadd & fou
hA BIE AR TP AT B Re T A A
e ST B

2. P ®IE 3 7T § % daufe IR @
PR AU B Gt TR &1 T =T ]

SWRITd | | B A1/d FY T8 8/8?

A. Had 1

B. ohdd 2

C. 1 3R 2 gHl

D.AdN13RAE 2

Consider the following statements:

1. Article 32 empowers both the Supreme Court
and the High Court to issue writs for the
enforcement of fundamental rights.

2. The Supreme Court has held that the right to
constitutional remedies is a part of the basic
structure of the Constitution.




Which of the above statement(s) is/are
correct?
A.Only 1
C.Both 1and 2

B.2 only
D. Neither 1 nor 2

Q.42 fHfuafad Hy= wR faar Fifse
1. YRd & G A YR AU DT ot TR
& oRYI fora 8 o e gR srgen =gt o
gl gl
2. YT RUET WA &1 o SR BT U =

gl
IWRIad # F B9 /A Y HEI § /82
A. Had 1
B. Hdd 2
C. 18R 23
D.9a13RAR2

Consider the following statements

1. The Constitution of India has defined the
'‘Basic Structure' of the Indian Constitution
which cannot be changed by the Parliament.

2. Secularism is a part of the 'Basic Structure' of
the Constitution.

Which of the above statement(s) is/are

correct?

A. 1 only

C.Both 1and 2

B. 2 only
D. neither 1 nor 2

Q43 fufafEa & ¥ o= It fivarst # wat=
AT §RT HRAH |3 &t g SRa-1 &

T & wu & 9ifva forar man 32
1. Yydlg 2. <TRies Hlef

3. DI BT AT 4. o] T GYFBRT
ﬁqwﬁwmmﬁﬁwgﬁq
(a)éo—dmsﬁn (b) Fad 1, 2 3R 4
(€) Pad 2,3 3R 4 (D) Sudad Taft

Which of the following features have been
declared by the Supreme Court as part of the
basic structure of the Indian Constitution?

1. Federalism 2. Judicial Review
3. Rule of Law 4. Separation of Power
Select the correct answer using the codes
given below:
(@) 1 and 2 only

(c) 2, 3 and 4 only

(b) 1, 2 and 4 only
(d) all of the above

Q.44 HIRA § JHIY YUITel! Bt TRPR 8, Fifh
(a) TIp GHT ST GRT Ye &9 F Faifd gt 8
(b) Tg, TAUTT BT MY HR Tbell §
(c) XTSI YT I HTT T} fhar ST bl
(d) FfuRYe, o IHT & Ul ITRar §

India has a parliamentary system of

government because

(a) Lok Sabha is directly elected by the people

(b) Parliament can amend the constitution

(c) Rajya Sabha cannot be dissolved

(d) Council of Ministers is responsible to the Lok
Sabha

Q.45 frufafEd syl wR faar #ifve

1. YR ¥ foblt I &1 fayr gikug SR o 39
W&»"f%%mmn%sﬂs)@a{%a?ﬂe‘r
I gl

2. Tt IT o1 ISYUT I Iy i e uRug
F U BT TAMSRIT BT B
STiE U § § PH-91 /A 9 /2
(a) P 1 (b) Had 2
(€)1 3R 2 g (d)Tdr13iRAE2

Consider the following statements :

1. The Legislative Council of a State in India can be
larger in size than half of the Legislative
Assembly of that State in size.

2. The Governor of a State nominates the Chairman
of the Legislative Council of that State.

Which of the above statements is/are correct?

(b) 2 only

(d) neither 1 nor 2

(@) 1 only
(c) both 1 and 2

Q.46 FuffRd §' | 19 YR & Jfaur o1 sifiRers
(FRIfETT) 8 ?
(a) HRd T IgUfct

(b) HIRT BT TETTHAT
(c) I GHT Ffearerg
(d) HRd BT IFdH T

Who among the following is the Custodian of
the Constitution of India?

(a) President of India

(b) Prime Minister of India

(c) Lok Sabha Secretariat

(d) Supreme Court of India




Q.47 UGGl IS GRIT T Yo I 1 A

PR ?

1. o & S9-yrier

2. JSHITd® SIaTecal

ER I ECATEEACRLI

4. fa<iia SUgU (BRI HifdeseRH)

1 feT 1T e &1 wahT HR 981 I gAY |
(a) pad 1,2 3R 3 (b) P 2 3R 4
(c) Pad 1 3R 3 d) 1,2, 3 3R 4

Which among the following is/are the basic
objective of Panchayati Raj system to ensure?
1. Public participation in development

2. Political Accountability

3. Democratic decentralization

4. Financial Mobilization

Select the correct answer using the code given

below.
(@ 1,2 and 3 only (b) 2 and 4 only
(c) 1 and 3 only (d) 1,2, 3and 4
Qs FuRifa A A s WM ayT adi &2
1. dipayl ¥ dfad $is (999 Taa™ «R Jard
B

2. TugHT | dfad @5 fadus, SR dieayr 3
iid =TeY foar 8, NpIHT & W 811 IR AW

R
2 foT 7T $e &1 v R 9 IWR g
(a) Had 1 (b) Fad 2
(€)1 3R 2 &Y (d) Far13RAE?2

Which of the following statement is correct?

1. A bill pending in the Lok Sabha lapses on the
prorogation of the session.

2. A bill pending in the Rajya Sabha, which has not
been passed by the Lok Sabha, shall not lapse
on the dissolution of the Lok Sabha.

Select the correct answer using the code given

below :
(@) 1 only (b) 2 only
(c) both 1 and 2 (d) neither 1 nor 2

Q.49 FATI-® qifeT AR W 390 | P AN
e e & de # fufafaa sy w®
ﬁ?ﬂ?ﬁ
1. TR DY SHTH F el fdbed BT TN Pb

THRIAD dIc 4 BT AR B
2. TG H 3R el &) T 1T are fird at R
W AT BT SET

Q.50

T T U P &1 wE HT G 9 g
a. Had 1 b. Had 2
c. 13R 2 gt d. 3T Y &rs o 78

Consider the following statements with

reference to 'None of the Above (NOTA)'

option on the Electronic Voting Machine:

1. Citizens have right to cast negative vote using
NOTA option in EVM

2. If NOTA gets the maximum number of votes in
the election, then re-election will be held

Select the correct answer using the code given

below

a.only 1 b. only 2

c. both 1 and 2 d. none of these
frafafad faee w foar #ifse:

1. TI&0T 4as 3! AepayT i & forg gama

2. GgaR} &1 U | a1 e & o g1

3. faett ot fau™ 9yt & 19

4. IR gERIETE TR 1 g9

5. IR UeRT IH Uad I g1

6. HIcH QYT GRYE & 19

SWIed ¥ | $IF A AT YR F AT AT
TR afra fpu wma 87

a) Had 1,2 3R 3 b) %4dd 3,4,5 3R 6
) Had 1,2,3 AR 6 D) Iwiad Jeft

Consider the following options:

1. Election for the Lok Sabha seat of Mumbai
South

2. Election for the only Rajya Sabha seat from
Puducherry

3. Elections to the Legislative Assembly of Delhi

4. Greater Hyderabad Municipal Corporation
Election

5. Uttar Pradesh Gram Panchayat Raj Election

6. Elections to the Karnataka Legislative Council

Which of the above elections are conducted by

the Election Commission of India?

a) 1,2 and 3 only

b) 3,4,5 and 6 only

c) 1,2,3 and 6 only

D. All of the above




Q51 WP e WY (TIHeR) & Hdy |

fFrafafad sy W faR #3%:

1. TTUIIR H oot AN M B

2. YRd & TP qEg Fardt & Tdem |
Toiiep 0T BRI SHfHar g

3. TIUIIR & foru SeT ugd! §R 2010 | 2011 i
SRTUMT o BT39-TAIReT aRUT & 1Y U foba
T AT

SR U U Hy= § @ $9 91/Q 98 2/
(a) Had 1 (b) Pad 2 3R 3
(c) $ad 3 (d)1,2 3R 3

With respect to National Population Register

(NPR), consider the following statements:

1. Only citizens are included in NPR.

2. It is mandatory for every usual resident of India
to register in NPR.

3. The data for NPR was first collected in 2010
along with the house-listing phase of the 2011
Census.

Which of the statements given above is/are

correct?
(@) 1 only (b) 2 and 3 only
(c) 3 only (d)1,2and 3

Q52 ?%ﬁ%wﬁm@aﬁﬁww

|

1. B T IR W edfa & &1 giit 31

2. YRdtg et Sififam fad U Hisal
BT § N ST Y & BT B

= f3T 71T Fe &1 v HR 9El IR gl

(a) P 1 (b) Pad 2

() 1 3R 2 GHf (d)Tar13MRAE 2

Consider the following statements regarding

phone tapping.

1. Phone tapping usually takes place without
consent.

2. The Indian Telegraph Act is the only existing law
that protects tapping.

Select the correct answer using the code given

below.

(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

Q.53 g@dd Ig Agar Iftfa &t Rywrien & wnfire g

1. Uemclt IS & HTHE! § IoHae gal B galt
YRTGRT|

2. TET IS TSl Y I 3R IR B
GIRS|EE ARSIV

3. UETrl} ST bl HAUTHe TRET |

4. e uRwg &7 sregef fSrell weideR IHT A8 U

5. GaTad 9fAfd o1 srieR) Rer gl

i feT 1T He &1yt w1 98l 3T g

(@ 1,2and 5 (b) 2,4 and 5

(©2,3and 4 (d)1,3and 4

The recommendations of the Balwant Rai

Mehta Committee included:

1. Open participation of political parties in the
affairs of Panchayati Raj.

2. Actual transfer of authority and responsibility
to Panchayati Raj Institutions.

3. Constitutional protection to Panchayati Raj.

4. The District Collector should be the chairman
of the Zilla Parishad.

5. Panchayat Samiti to be the executive body.

Select the correct answer using the code given

below :

(@) 1,2and 5 (b) 2,4 and 5

(¢©)2,3and 4 (d)1,3and 4

Q54 ey ot mRed srggdl Fufafaad 3 fea
ATl & gRR § @l 82
1. A Tl
2. 14l UTH U4 HER IR
3. IR-URuR& SHeif A
4. TaSes faavor gomelt
5. Y aIgol
12 T 7T Fe @1 T wY 9E Sw g
(a) 1,2 and 3 only (b) 1,2,4 and 5 only
(c) 2,3,4 and 5 only (d) 1,2,3,4 and 5

Which of the following is included in the
purview of the Panchayats in the Eleventh
Schedule of the Constitution?

1. Fishing

2. Khadi, village and cottage industries

3. Non-Conventional Energy Sources

4. Public Distribution System

5. Minor Forest Produce




Select the correct answer using the code
given below

(@) 1,2 and 3 only
(€) 2,34 and 5 only

(b) 1, 2,4 and 5 only
(d) 1,2,3,4and 5

Q.55 fufafRad sy W faaR #3:

1. HEI T AN Ifad SMYR g4 R favat ot
HHA P ST BT Y S Jobal B

2. AT AT AN & U1 Al WIS ¥ S0
fofa &1 sruTer YR 37 @ T 21
SR AU U Fy=E # § S1-91/3 Td 2/
(a) Pad 1 (b) dhad 2

(€)1 3R 2 AT (d)T a1 3AIRAE 2

Consider the following statements:
1. The Central
order an inquiry into any matter if there are

Information Commission can

reasonable grounds.
2. The Central Information Commission has the
power to ensure compliance of its decisions by
the public authority.
Which of the statements given above is/are
correct?
(@) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Q.56 RTERI AMAIIGR ST 3HF Y Sifirpd 3

1. AFATGRI & Iccie- & ATl | Wd: I8dIs
S

2. URd P T 3faIad & qHE dfed AFaIIBRI
& IRIUT ¥ JSI Hriare] H gXd&d HRATl

3. AR & Ie@od & GIval & RIars
PHRATE BT

4. gUfd gRT SFRIY fby 9 M W dfayr #
AR Urau &) GauT-e sarRae &3]

i faT 1T Fe &1 TN HR 95l S -

(a) Had 1 3R 2 (b) Pad 1 3R 3

() Pad 2 3R 4 (d) Pad 2 3R 3

The National Human Rights Commission is

authorized to

1. Inquire suo motu in cases of human rights
violations.

2. Intervening in proceedings relating to human
rights allegations pending before a court in
India.

Q.57

Q.58

3. Take action against those guilty of human
rights violations.

4. Constitutional interpretation of human rights
provisions in the Constitution when
requested by the President.

Select the correct answer using the code

given below :

(@) 1and 2 only (b) 1and 3 only

(c)2and 4 only (d)2and 3 only

frafafed & @ 1= W@ Ruid wgufa grr dog
T 3t Wit 82

1. ¥9 <l JaT 3MANT o1 R

2. S IR Sl SHraRT 1 R

3. AP AHATIDR AN BT RUIE

4. 4T AT AT B g

5. LI Fadhdl AT

= f3T 71T Fe &1 TR H "El IR g
(a) Pad 1 3R 2 (b) Fad 1, 3 3R 4
() Paa 2,3 3R 5 (d)Pad 1, 2 3R 5

Which of the following reports is laid by the

President to the Parliament?

1. Report of the Union Public Service
Commission

2. Report of the National Commission for
Scheduled Castes

3. Report of the National Human Rights
Commission

4. Report of the

Commission

Central  Information
5. Central Vigilance Commission

Select the correct answer using the code
given below :

(@) 1and 2 only
(c) 2,3 and 5 only

(b) 1, 3 and 4 only
(d) 1,2 and 5 only

YR =Argutferet & weH #, fFrafafad sy=t

Wﬁﬂ'ﬂaﬁﬁmz

1. HRd & JFUfd ST galgafd § WRd & =
A gRT F=ad g S At fat

I B IITH AT & T & UG
W S84 3R B A 8 AT o Gl B
2. YRd H {5t +f = ey & e fAvfg &
gAfdaied & e w8, S fb I=an

T P U g

Sudad HYHl # § P /P A TE 2722




Q.59

Q.60

(A) Had 1 (B) padl 2
(€)1 3R 2 qFf (D) Fdr13RA

With reference to the Indian Judiciary,

consider the following statements:

1. A retired Judge of the Supreme Court may be
called by the Chief Justice of India with the
prior approval of the President of India to sit
and act as a Judge of the Supreme Court.

2. Any High Court in India has the power to review
its decision, as the Supreme Court has.

Which of the statements given above is/are

correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor
AR 2022 § HRd WRPR gRI IS &

e wRUEs @ MU W@ REOR A
T forar

A. IHEITd §IC B. §R Rig TMaRT

C. 5 At D. HidieTa ared

Which cattle rearer (Pashupalak) of Rajasthan
was honored with the 'Gopal Ratna Award' by
the Government of India in November 2022?
A. Ramdayal Jat

B. Hari Singh Godara

C. Surendra Chowdhary

D. Motilal Yadav

qdER 2022 P IGRME & HHA & g
freprfval @ “3ref 3raTs’ fau W #t wwon
BTS2

A. T gfar SR fasr 3THR

B. 3AYSHT fgRaTe 3R Treft port

C. 3191 31 3R IS At

D. 79 A BIs el

Which two police officers of Rajasthan were
announced to be given 'Arjuna Award' on
November 2022?

A. Seema Punia and Vikas Thakur

B. Omprakash Mitharwal and Sakshi Kumari

C. Ajay Rathore and Raju Chowdhary

D. none of these

Q.61 IS P fry =T Y G-20 & 3iafa
W-20 99g ® afgar ufafafyr & &u ¥ e
forar T 2003F
A. 1 Saifet fobRor e
B. UI. ¥f¥reeT M9
C. MR O

D. e gRar

Which economist from Rajasthan has been
included as a female representative in the W-
20 group under the G-20?

A. Dr Jyoti Kiran Shukla

B. Prof. Shamika Ravi

C. Bharti Ghosh

D. Sandhya Poorecha

Q.62 IS FuIC 2023-24 & AR B I TiY BT
DI TSAdTN givoH AIge’ & & U § fawiid 1l
oo

ST -
A. gAY §7Y B. SIATS §iY
C.AdeT &Y D. BT §iY

According to Rajasthan Budget 2023-24
which dam will not be developed as ‘Eco
Adventure Tourism Site' -

A. Hemawas Dam B. Jawai Dam

C. Newta Dam D. Kanota Dam

Q.63 Tuic 2023-24 H IGIYM dfvieed AfdT
fSefladt SRURRA" (RLSDC) & T3 1 Twon
P17, R Sexa @ -

A. TIfRe® FidT St FYuar & fu TWHRT R
B3 I 4501 2|

B. 3% W Hfdal HIfHer o B UUT Bl JHI
DA

C. Aifife® Tfdy ! fAgurar & forg wgde argHl
BT HATe BT

D. $1H 9 BI5 a1

The formation of 'Rajasthan Logistics Service

Delivery Corporation’ (RLSDC) was

announced in the budget 2023-24, which

aims at -

A.To build a government warehouse for efficient
logistic service.

B. To end the practice of taking contract
personnel on contract.




C. Operation of private vehicles for the
efficiency of logistic service.
D. None of these

Q.64 faT adf 2023-24 F I Foie # IGHIWY HIET

T AHd TR ITG BT fha=T ufa=rd g4 &1

ST e fhar 14T 82
a) 3.98% b) 4.36%
) 5.16% d) 5.86%

In the state budget for the financial year 2023-
24, the fiscal deficit has been estimated to be
what percent of the state gross domestic

product?
a) 3.98% b) 4.36%
c) 5.16% d) 5.86%

Q.65 IR §olc 2023-24 ® ‘@A RISt

Yf® Jaa ST G ST A DI GYOT Bt

g, fo® HaY § B9 T FYT TAd § -

A. 9 IS ST ATY Uoligd 4ite! Td Kie ded
B! AT H el 811 R i uran 31

B. ST AT ¥ 21 J 50 a4 dch o 3M1Y ATt YfHeh
B oH 33T Thd B

C. 39 TIoHT BT oY 3gdrd H Hal 84 & a1
Fad 7 fa I g fore g

D. 39 JioHl & dgd 4l &I 2200 wfdfer &t
eI UG &t STt |

In the Rajasthan budget 2023-24, it was

announced to implement ‘Chiranjeevi

Shramik Sambal Yojana’, in relation to this

which statement is wrong -

A. The benefit of this scheme is available to
registered workers and street vendors on
hospitalization.

B. Only workers in the age group of 21 to 50
years can take advantage of this scheme.

C. The benefit of this scheme will be available
only for 7 days after hospitalization.

D. Under this scheme, workers will be provided

assistance of Rs. 200 per day

Q.66 Wi aRP®H, ot 4004 St g1 & |

g 1€ fY, & g § F=afafed sy w
faerR Y-
1. 95 Rifdwn & URTs g5 T 3|

Q.67

2. 98 3fgH ¥Amufd U

3. AfUd SRG&HA 7 WA & UG g |
ST T TRIfSTd faa ol

S # A fra sy T 8 2

a) $ad Th b) Had al

o gt = d) 379 A H1S T8

Consider the following statements with

reference to Lachit Barphukan, whose 400th

birth anniversary was celebrated recently-

1. He was a famous war hero of Sikkim.

2. He was an Ahom general.

3. Lachit Barphukan defeated the British in the
famous battle of Saraighat.

How many of the above statements are

correct?

a) only one b) only two

¢) all three d) none of these

gid & faf & ==f # @ ‘AI-ECTA’ § ‘Ar 9
m%:

a) 3NEfpRmd g=faory

b) TSR gfear

¢) 3 ferT-yRd

d) SIRd-HIRd

The term 'AlI' in the recently discussed 'Al-
ECTA' refers to:

a) Artificial Intelligence

b) Air India

c) Australia-India

d) Arab-Israel

Q.68 22d WIWT Peard fay $U 2022 FT JURY fHa

Q.69

TMEX T g1 UT?
a)qTelt SEEIED
SEEH] dyaet

From which city the 22nd FIFA Football World
Cup 2022 was inaugurated?

a) Bali b) Bangkok

c) Dubai d) Doha

YRA 9 21 AdaR & GPAI BT A& US UG
a1 81 GPAI &1 RT M &

a) Y-XTorad aRued & s Rad Sefemia
b) afyye HreRt # snféfthlRma Sefesia




Q.70

o) Yot YRt & sféfthfRma Seferoia
d) 3f¥e uiktien 7 snféfrRmra gefereia

India has assumed the presidency of GPAI

from 21st November. The full form of GPAI

is:

a) Geopolitical ~ Perspective  on  Artificial
Intelligence

b) Global Partnership on Artificial Intelligence

c) Geopolitical  Partnership on  Artificial

Intelligence

d) Global Perspective on Artificial Intelligence

TR/ & 104 gy & ¥u ¥ fHaffa gu
&
(a) 38T S8IG BIHdT
ORSIEESEIED
(c)3FTR ZTfeH
(d)HBTRR fom AgHe

Who has been elected as the 10th Prime
Minister of Malaysia:

(a) Ahmed Zaheed Hamidi

(b) Najeeb Razzaq

(c) Anwar Ibrahim

(d) Mahathir bin Mohd.

Q.71 1S T-20 fphe fAy®Y 2022 &1 faSar &1

Q.72

2139 fayey # e §7ds oa fFai ar
T-20 fay®u &1 fasiar @1 82

A) TH B) &l

o= D) IR

England has become the winner of T-20
Cricket World Cup 2022. Including this World
Cup, how many times has England been the
winner of T-20 World Cup?

b) two

d) four

a) one
) three

gTd g1 # IR | Y81 fawq-ua g 2

(a) SHIR g Uld

(b) TRATY FATferd Trigesit

(c) TRUIS! @i 3R Repadt aTa

(d) HRd &1 Ugdr it IR WR fasfa siafver
J&qur =

Q.73

Recently in news 'Vikram-S' is?

(a) Amphibious Warfare Ship

(b) Nuclear powered submarine

(c) Torpedo Launch and Recovery Vessel

(d) India's first privately developed space
launch vehicle

Isg F fdd wd 2022-23 F AR RR
Pl R FN &7 P71 o 82

(A) 28.85% (B) 28.50 %

(C) 27.76 % (D) 28.32 %

According to the State Economic Survey
2022-23, the share of agriculture sector at
constant prices is?

(A) 28.85% (B) 28.50%

(C) 27.76% (D) 28.32%

Q.74 ICTRH Pl Jadrg & YR W frad Ffy

Q.75

Q.76

Siqaryg &7 # fyurfora frar man g 2
(A) 5 (®) 8
() 10 (D) 12

In how many agro climatic zones, Rajasthan
has been divided on the basis of climate ?

(A) 5 (B) 8

Q) 10 (D) 12

oI 2023-24 & AR U H i1 TAIg @t
TST TP TR A TTPH fhd-il B ST AU
fparmar g 2
(A) 1500
(C) 2500

(B) 2000
(D) 3000

According to the budget 2023-24, how many
numbers has been made to increase of Indira
Rasoi in the state from one thousand?

(A) 1500 (B) 2000
(C) 2500 (D) 3000

HRA & IWIYUTd & He & Fafafed s w
frar #3:

() SWIPUT & HRIBIA ST FHIE & HRU gH
It Rfdq &1 1A & R g6, SsRdea ot
AT ¥ gga I fobarn e |

(i) TSTHHT & U GHUURA B geH H AHaHT Bt
PIS fFrHT T &




Q.77

(ifi) I7sT FHT H JUWRTPUS YT SUIHTUTT DI 8 &
T T U9 I el 9edl & 2/3 9gHd 9
UTiRd febam Srem |

SR HYHT § § B 91/ 98 T8 2782

(a) Had 1 3R 3

(b) Hhad 2

(c) Pad 2 3R 3

(d) SR T BIE T8

Consider the following statements in the

context Vice-President of India:

(i) An election to fill a vacancy caused by the
expiration of term of office of Vice-President
shall be completed before the expiration of
the term.

(ii) The Lok Sabha has no role in the removal of
Ex-officio Chairman of Rajya Sabha

(iii)A resolution in the Rajya Sabha for the
removal of Vice-President or the Deputy
Chairman shall be passed by a 2/3™ majority
of the then members.

Which of the above statements is/are not

correct?

(@) 1 and 3 only

(b) 2 only

(c) 2 and 3 only

(d. None of the above

YRd & dfeu= § ydRuear & Fufaraq
Rrgial § 9 &9 A Rigial &1 3rg=mar a1 82
() o9 &1 yd F ufy d&Y gm

(i) Irod, YT P S HeHTd B Tobdl gl

(iii) T enfifer THEt & SHIGRI &I [T S|

(iv) TS & UG YHT &b HHA H gEI&T B Bl

Hfera wfdaat g
PIs
(@)3 3R 4 (b) 2 3R 3
©1,29R3 (d) SR T+t

Which of the following principles of

secularism have been adopted in the

Constitution of India?

(i) That state will have a close relationship with
religion.

(iii) That the State can discriminate between

religions.

Q.78

(iv) That the State would recognize the rights of
religious groups.

(v) That state would have limited powers to
interfere in the matters of religions.

Code:-

(@)3and 4 (b) 2 and 3
(©)1,2and 3 (d) All of the above
T B ga I & IR T G FYA Dt
Uga BIfe|

() e ga 9= & FiEy Sar |
(i) TaeTRier go SRam1 &l Bisar dfau o gt

HIT A SR B Tl B

(iii) =arguTfereT = UG fhar § 6 dfdum &
T TR Qs oI Yo TR FHel ol Yhell § 3R
B

(iv) TSl R BT RIgid Ugell IR $Rar< HRd
are # 3 3R 91¢ & vl # 39 IR |
T Bl TS|

(v) 39 Rrgia 3 e o e § gfg &
? 3R fafie IoHifae o gRT WieR faar
T g

Pls

(a) 2 3R 4 (b) 2,4 3R 5

() 1,2 43R5 (d)2 3,435

Identify the correct statements regarding the

Basic Structure of the Constitution.

(i) The the
structure.

constitution  specifies basic

(i) The legislature can amend all parts of the
constitution except the basic structure.

(iii) Judiciary has defined which aspects of the
constitution can be called the basic structure
and which cannot.

(iv) The principle was first expressed in the
Kesavananda Bharati case and has been
discussed in subsequent decisions.

(v) This theory has increased the powers of the
judiciary and has been accepted by various
political parties.

Code:-

(@) 2and 4

(©1,2,4and 5

(b) 2,4 and 5
(d)2,3,4and 5

Q79 FFaferfad # @ #19 yRa & Wy & d=nea A

mfE gid &1




(i) HTGTaT (if) HRd & rgufel
(iii) Iog faurHed (iv) TG

(v) ITUTd (vi) =JTaTferat
i faT 7T g I 9E SR BT I BI:-
(@) 2 3R 4 (b) 3 3R 4

(€2 33R4 (d)2 3,436

Which of the following are involved in the
amendment of the Constitution of India?

(i) Voters

(i) President of India

(iii) State Legislature

(iv) Parliament

(v) Governor

(vi) Judiciary

Select the correct answer from the codes given

below:-
(a) 2 and 4 (b)3and 4
(©)2,3and 4 (d)2,3,4and 6

Q.80 fHfefEd Fy=l &R faar 31

(i) FUfd IHE & YAfdER & fore IeneH fadas
Y T8l IS b o

(i) ~aruTfereT FauTe TR @ ufhar IR
Tel B Fbal § A fafta a¥iep! I Re
PP AT Bl YU 7 T Tobal ol

(i) e dfgus & foeedt ot v & I=eE X
Thdl B

(v) Faffaa ufaffRal & o sipa Ifdym #
TNE DA PI WS g

ST A BT HYT IS R 2
@) 1,23MR3 (b) 1, 3R 2
© 1,234 (d) SWRIad g+t

Consider the following statements.
(i) The
amendment bill for reconsideration of the

President cannot send back an
Parliament.

(i) Judiciary cannot initiate the process of
constitutional amendment but can

effectively change the constitution by
interpreting it in different ways.

(iii) Parliament can amend any part of the
constitution.

(iv) The elected representatives alone have the

power to amend the constitution.

Q.81

Which of the following statement are correct
?

(@ 1,2and 3 (b) 1and 2
(©)1,2and 4 (d) All of the above
ARG B WaaadT A v & f[afta

e g e 71 = Re T ge A w6t s a:

() Tdr g™ & o e @ fFgfaa #
ate Ty & T ranedi=r & wR=i fan
ST &

(i) TE: SaT-ghi B g A Ugd ATERN &l
[ERIEHICICI]

(i) U S AGd & AR @ g S

TgTeg B R el fbar o gepar 21
(iv)?%ﬂ?ﬁ?&ﬁﬁﬁ@%ﬁ%iﬁaﬂﬁw:@
|
fawm Y i ok i i e e & Wt
Wﬂﬁ"’{:
Car
(a) Pad 1 3R 2 (b) Pa 1 3R 4
(c) Pad 1, 2 3R 4 (d) SR T+t

Given are the different ways in which the

independence of the judiciary is ensured.

choose the correct answer from the codes
given below:

(i) Chief Justice of the Supreme Court is
consulted in the appointment of other
judges of Supreme Court.

(ii) Normally judges are not removed before
the age of retirement.

(iii) A Judge of a High Court cannot be
transferred to another High Court.

(iv) Parliament has no role in the appointment
of judges.

Select the odd one out and select the correct

answer from the codes given below :

code

(@) 1and 2 only

(b) 1 and 4 only

() 1,2 and 4 only

(d. All of the above

Q.82 HRdN Afdu™ & weu ¥ fFufafea su=i wv

far $vd g, 9 31 79 B




() ey fAafarst &1 A ot o gy |
DI AN el 8 Yhdl i YD UGy W
faaR @ fo=R forar man SR Tagmfa @ uid
T |

(i) YR HAYH & $S UG Upia H ST
|

(i) HRTT iy & Iee & fafte a8 g1

IS

(a) pad 1 3R 2 (b) I 1 3R 3

(c) I 2 3R 3 (d) STRIFd gt

Considering the following statements with
reference to Indian Constitution, choose the
correct one.

(i) The framers of the Constitution believed
that there could be no defect in the
Constitution because each and every
provision were discussed at length and
passed unanimously.

(i) Some of the provisions of the Indian
Constitution were temporary in nature.

(iii) There are different methods of amending
the Indian Constitution.

Code

(@ 1and 2 only (b)1and 3 only

(c)2and 3 only (d) all of the above

Q.83 fafufea Wne=t &1 39® e smaxa® sgua

(i) Citizenship Clause A. Simple majority

(ii) Right to freedom of B. Special majority
religion

(iii) Changes in the 7th C. Special majority
Schedule with ratification

by half the states
(iv) Change in the boundary  D. Absolute majority
of a state

Code:

a)
b)
)
d)

Q.84 fufafEd W far Fifomw|
1. AHIHT|
2. ST
3. Ty faym ufkwe |
4. 3159 Ty gy
HRd & IWIPUfd &1 g@ &1 & fog
FAFRRT Piasw SWIdd d 9 fFaa faer
g1 8?2
a) Had 1
b) g 1 3R 2
Q) Pad1,2 3R 4
d) 1,2 3 3R 4

> W > > -
WO W mN
NN OnNnw
>> 00N

Consider the following.
1. Lok Sabha.
2. Rajya Sabha.

& YPR & A1 A= o1
-1 Tat-In
(i) TR G A. FIYRUT §gHd

(if) & T T BT HfUSR B, faRIY sgAd
(iii) 7 ST H ufadH C. 3T Il &

ST & Ty
faRiy gaa
(iv) Tl g &t <t o D. gUf (Absolute)
LIECRE] CREG
Dis:
1 2 3 4

a) A B C D

by A B D C

) B D C A

d A B C A

Match the following amendments with the

type of majority required for each.
List-I

List-1I

3. State Legislative Councils.

4. State Legislative Assemblies.

Which of the above makes up the Electoral
College to elect the Vice President of India?
a) 1 only b) 1 and 2 only

c)1,2and 4 onlyd) 1, 2,3 and 4

Q.85 fFufafad w AR Fifvmu|

1. 99 AFTRS fgdl &1 Ius= |

2. ATG® YRS BT Y|

3. $CR I DI 9gIa1 ¢TI

4. SRISTT Mifd BT Sgrar &1l

IWRIad A F P § YR Idfaya # Wy &g
¥ Sfcafaa &2

a) Had 1, 3 3R 4

b) Pad 1,2 3R 4




Q.86

) Had 1 3R 4
d) 1,2, 33MR4

Consider the following.

1. Promotion Uniform Civil Code.

2. Prohibition of intoxicating liquor.
3. Promotion of cottage industries.
4. Promotion of international peace.
Which of the above are clearly mentioned in
the Indian Constitution?

a) 1,3 and 4 only

b) 1, 2 and 4 only

c) 1 and 4 only

d) 1,2, 3and 4

Frafafaa sy w® far Fifm)

1. 4Rd ¥ Sy 3 Fuika fFar § & wdf=
Y & aREad YRR @ URd & T
<raefter & U § fAgad foar sme

2. I el o rEneiRn & Agfad erd 985
RIYUFd GRT R & 8 =AraTeier 8wl fbar
e |

SWIFd HY=T § | HH-91/9 I8 8/87

a)%?ﬂ

b) Had 2

c)13ﬁ'€2a7‘ﬁ

d)Adr 1 eiRTd 2

Consider the following statements.

1. The Constitution of India has stipulated that the
senior most judge of the Supreme Court shall
be appointed as the Chief Justice of India.

2. The Chief Justice of India shall be consulted by
the President while appointing judges to the
High Courts.

Which of the above statements is/are correct?

a) 1 only

b) 2 only

c) both 1 and 2

d) neither 1 nor 2

Q.87 YR & AU F} ywara1 U e uR=a @

TfaemrT & AT A gg A fAfta g P w
wquf w@faem &1 fAator far w81 FPafafaa
FYAI R faR #

Q.88

1. YRAT I3 ot uara-n # afofa ameef
foralt ot =marera & @y A A TR

2. $YGHE HRA! HHA & A1H q gdrE
IATAd A 99T &t f URdTaT &1 SUanT
AU & gy IuS=IT B SARAT HA & [o1g
fopar o gpar 3|

IR FYA A A HI-91/A T8 8/82

a) ®ad 1

b) Had 2

) 1 3R 2 GAf

dyFdr 13RI 2

The Preamble to the Constitution of India is a
brief introduction. The Preamble of the
Constitution contains the philosophy on
which the entire Constitution has been built.

Consider the following statements.

1. The ideals mentioned in the Preamble of the
Indian Constitution are not enforceable in
any court.

2. Through the Kesavananda Bharti case. The
Supreme Court declared that the provision
can be used to interpret unclear
areas/provisions of the Constitution.

Which of the above statements is/are

correct?

a) 1 only

b) 2 only

c) both 1 and 2

d) neither 1 nor 2

& wea Rigia T URdg aiie Risia @

g Risia $eare YR & g9 Uik aea

# YRd & Hdiw ATay & Bad R ryTid

3R fawfra gan 81 gg fAivfa 9 Faa daufe

FH & e ¥ e Ma &1 1R 3, afer

Haute sfae § @@ #Agwqyl His @

Frafafad sy W faR #3)

1. ga W Rigia daufe d=iest R @ng
6K

2. Id I Rigid &t faRivang et =amared
RI WY ¥U J gRUINd &1 78 |

SR HYET & & PH-91/2 98 2/82

a) Had 1 b) had 2

) 1 3R 2 gl d)yTar13iRTg 2




Basic Structure Doctrine is an Indian judicial
doctrine. This doctrine is based on and
developed from the Supreme Court of India's
decision in the most famous case of

Kesavananda Bharati. This judgment is not

only a milestone in the development of

constitutional law, but also a turning point in
constitutional history. Consider the following
statements.

1. The basic structure doctrine is applicable to
constitutional amendments.

2. The features of the Basic Structure Doctrine
have been clearly defined by the Supreme
Court.

Which of the above statements is/are

correct?

a) 1 only b) 2 only

c) Both 1and 2 d) Neither 1 nor 2

Q.89 fFufefaa w faar #ifse
1. PRIGIRT Afffa 31 FAgfad|
2. DA S &1 3ifcd SHRBR|
3. fo<ita ama wR gz A
4. 19 A & gald faaR H9 & &4 H i
T
SR A S $TH IS S PR IR A 82
a) Had 1 3R 2
b) Had 2, 3 3R 4
¢ Had 1,2 3R 3
d) 1,2, 3 3R 4

Consider the following

1. Appointment of Executive Committee.

2. Final authority to make laws.

3. Controlling financial matters.

4. To act as the highest discussion forum of
national policy.

Which of the above are the functions of the

Parliament?

a) 1 and 2 only b) 2, 3 and 4 only

c) 1,2 and 3 only d) 1,2, 3and 4

Q.90 T&i WfAUT & $ ANlexis geu 3R 31
fag M ¥ st W e Fifvr

A. Ty 1. WHR fardt o H1 U8
B

B. TTURTSY 2. @l &) Fofg aR &1

i PR g

C. Y@ /§Yd 3. 314 &1 W@ U (aifad
fad BT 7

D. yHfRTe 4. ATl BT YIS -9 DI RE
&1 ATl

IS

A B C D

a) 2 3 4 1

b) 2 3 1 4

) 3 2 1 4

d) 3 2 4 1

Here are some of the guiding values of the
Constitution and their meaning. Match them
correctly.
A. Sovereign 1. Govt. will not take sides of
any religion
B. Republic 2. The people have the
supreme right to decide.
C. Fraternity 3. The head of the state is an
elected person.
D. Secular 4. People should live like
brothers and sisters

Code
A B C D
a) 2 3 4 1
b) 2 3 1 4
c) 3 2 1 4
d) 3 2 4 1

Q.91 UH ATYRYI fadus Tve & fodt W e d uwr

forar 51 Har 21 v fAdas a1 af v WA O

T ol wew grRT U fhar s g @1 qd

A # 38 WRER! fadys & ©u § §E1 Srar

? 3R 91¢ ¥ e § =2 ol gew & fadas

F ¥u # w1 wrar g1 Ffafae sy w

AR ®31

1. U YRV 38T B BT 9 & g, 59
UG & Gl Y&l gRI T gl I3 H Uid A
B ARGl Bl B

2. 3 el & o fopdt oft R & Have & fRufa
# fadge &1 gl & gafd & fow QRfad
TG SITE|

IWRIed & F B9 T/ Y L 8/872

a) Had 1 b) Had 2

9 13R2aA d)Far13iRAG?2




An ordinary bill can be introduced in either
house of the parliament. A Bill can be
introduced either by a Minister or a private
member. In the former case it is known as a
Government Bill and in the latter case it is
known as a Private Member's Bill. Consider
the following statements.

1. For an ordinary bill to become a law, it needs
to be passed by both the Houses of
Parliament in the same (single) session.

2. In case of any difference of opinion between
the two houses, the bill will be reserved for
the assent of the President.

Which of the above statement(s) is/are

correct?

a) 1 only b) 2 only

c) Both 1and 2 d) Neither 1 nor 2

Q.92 o fadus! # faRly =0 A A &t TN 3R

T B, Aied AfU Qo= & T anfe &

UGy gid 8, 3¢ o fadas & ¥ § yAifoa

forar Srar 21 99 Ay Had deayr | 99

fruarusd 71 u= Rdue & dei § Fafifeq

HYF R foaR #Y1

1. I YT B fuddt ot o fAdus & sRAleR
P BT PR e B

2. TSI B 14 e & HidR o7 fAdas a9
HET BB

3. AHIHT ISTIHT gRT IR gRad-i &
WHR A & 1w a1 T8 2

SWRITd A S II/A HYF T 3/872

a)%?ﬂ

b) Had 2 3R 3

) $ad 1 3R 3

d) 1,2 3R 3

Bills which specifically contain provisions for

the levy and abolition of taxes, appropriation

of money out of the Consolidated Fund, etc.

are certified as Money Bills. Money Bills can

only be introduced in the Lok Sabha. With

reference to Money Bill, consider the

following statements.

1. The Rajya Sabha does not have the power to
reject any money bill.

2. Rajya Sabha has to return the money bill within
14 weeks.

3. The Lok Sabha is not bound to accept the
changes sought by the Rajya Sabha.
Which of the above statement(s) is/are

correct?
a) 1 only b) 2 and 3 only
c) 1 and 3 only d)1,2and 3

Q.93 HRd &1 Hdlwd HATad HIRd & Sfaer & HIT

V & AT IV gRT WG S=dH e w1

MR orfier &1 oifow Srgraa 81 IRy &

SUR, Fate <rTad &1 YT dfau &

TP 3N TP Y 3rerad $1 gl

fFafafed sy w® foar #31

1. HEIMANT ST ufshar & wegd ¥ gufd grRi
Tafeg <qrITerd o TRl ol g ST @ 3R
CJI B RABIRY W AFufd gRT = IrTed &
TR BT BT ST B

2. gafe <amaed & i & g & forw
HRIFHNT UEdTd ol IHT & &l fagTs Jei &
SgHd 4 Ui foear Sme |

IWIad A F SI9 TI/A $YF T 8/82

a)%?ﬂ

b) Had 2

) 1 3R 2 Gl

d)yFdr13iRAE2

The Supreme Court of India is the highest

judicial forum and the final court of appeal

established by Chapter IV of Part V of the

Constitution of India. According to the

constitution, the role of the Supreme Court is

as a guardian of the constitution and a

federal court.

Consider the following statements.

1. A Supreme Court Judge is removed by the
President  through the process of
impeachment and a High Court Judge is
removed by the President on the
recommendation of the CJI.

2. An impeachment motion for the removal of a
Supreme Court judge must be passed by a
two-thirds majority of the members of the
Lok Sabha.

Which of the above statement(s) is/are

correct?

a) 1 only b) 2 only

c) both 1 and 2 d) neither 1 nor 2




Q.94

Q.95

YRd & Idfau™ gRT dreaHr &1 Fafafea o

q B A Wit e #1718 32

1. G9E DI GG I & T I Gl § BT
M 3R T 1 31 31 URG arsii &l
R B W Haiferd Hebed o1 GRRITIA|

2. ¥ fadTel & TIikd 81 W AHaHT &I IRy
faenfreT ifIeR U g |

3. T foRIV 93& # dieaT Iyufd R 9t

RIS STUTADTA i FRARCT DI SRAIBR B
Thdl 8, Y B ISTTHT 39 IRE P UTd
G R B S|

Pls:

a) HId 1 b) a1 3R 3

) Ppad 1 3R 2 d) g 2 3R 3

Which of the following powers have been
conferred on the Lok Sabha by the
Constitution of India?

1. To introduce a resolution empowering
Parliament to make laws in the State List and
to establish one or more All India Services.

2. The Lok Sabha has special legislative power
over the passage of Money Bills.

3. The Lok Sabha in a special sitting can reject
the continuation of a national emergency
declared by the President even if the Rajya
Sabha rejects such a motion.

code:

a) 1 only b) 1 and 3 only

c) 1 and 2 only d) 2 and 3 only

i 1992 # faddiwvur ¥ fR=n A vy@ wen
JBTT T qYT APdT & dR WR B SR
fFaRTet R yHdt s & fog dfaus |
e foar i

R fEm i

1. AT BRI GaeTe &9 1 fard s=mr |
2. STIfa 1R o1 & MR WR et BT SRl

3. 19 TG ST &1 HHfo|

SWE # A HH-A/A 739 Iy S

Sfufraw 1992 $1/% uivurms 2/272
a) Had 1 3R 3 b) Fad 1 3R 2
Q1,233 d) Fad 2 3R 3

Major steps towards decentralization were
taken in 1992, the constitution was amended

to make the third tier of democracy more

powerful and effective.

consider the following.

1. Holding of elections made constitutionally
mandatory.

2. Reservation of seats on the basis of caste and
gender.

3. Creation of State Election Commission.

Which of the above is/are the result/s of the

73rd Constitutional Amendment Act 1992?

a) 1 and 3 only b) 1 and 2 only
c1,2and 3 d) 2 and 3 only
Q.96 fAufefad wy=T W faER Fifem)

1. Tard forem uRkve & THY ¢[vd H S Bl
Bl

2. AR W U g & g ard AT TTH IHT &
I g gl

IWRIed | § P19 I/ Y I8l 8/872

a) pad 1 b) Had 2

o) 132 aHt d)TdN1MRAN2

Consider the following statements.

1. The Panchayat works under the overall
supervision of the Zilla Parishad.

2. Usually the people living in a village are the
members of the Gram Sabha.

Which of the above statement(s) is/are

correct?

a) 1 only b) 2 only

c) both 1 and 2 d) neither 1 nor 2

Q.97 FafafEd w faur Sl
1. & 2. g
3. PN 4. GIR
IR & A S Ty = & e 82
a) Pad 1 3R 3
b) Pad 1,3 3R 4
) $Id 1 3R 4
d) Had 1,2 3R 4

Consider the following.

1. Defense 2. Irrigation

3. Agriculture 4. Communication

Which of the above are included in the Union
List?

a) 1and 3 only b) 1, 3 and 4 only




c) 1 and 4 only d) 1,2 and 4 only

Q.98 Fufafaa Hy= W fauR Fifvm|

1. Gfaym feat oft udf ) Ry goif 7Y a8 8iR
Tuft safaal & foedt oft enf &t A SR TRR
B B WA Y HRAT g |

2. Ty Isg 3R ISP S B fpd of
offRufa & of & Al § <d ¢ A Adpar g |

SR & A DI /A Y T 3/8?

a) Had 1 b) Had 2

9 18R2a d)yFar13RAE2

Consider the following statements.

1. The Constitution does not give a special status
to any religion and provides freedom to all
individuals to practice and propagate any
religion.

2. The Constitution prohibits the State and its
organs from interfering in matters of religion
under any circumstances.

Which of the above statement(s) is/are

correct?

a) 1 only b) 2 only

c) Both 1and 2 d) Neither 1 nor 2

Q.99 fFufifEd & I #19 I $YT YRd & vy HHAt

& Wdy # 9El 7

a) 98 Pad 3 ANl # ¥ U1 HEA A & U
WA g Sl We & bl off waT & gew g

b) 39 Feit H YR & AFUd gRT Iferd WA &
TG 3T Hfere TRl 3 g7 Yad B

03U HiAHSd # HEE & T H B B ard
Tl & 9o # fAdPIPR g, A 3% 6
TR & iR dug & frdt ot wed &1 gaw
§1 =BT

d) 30 o Tediftrdl &1 udi # Paa A
Yl § Fife fder wfeqal ¥Ra &
Ipufa & o Afd B

Which of the following statement is correct

regarding the Prime Minister of India?

a) He is free to choose his ministers only from
among those who are members of either
House of Parliament

b) Can Choose his cabinet colleagues after due
consultation by the President of India in this
regard.

¢) has full discretion in the choice of persons
who are serve as ministers in his cabinet, but
they must have become members of either
House of Parliament within 6 months.

d) has only limited powers in the choice of his
cabinet colleagues as the discretionary
powers are vested with the President of India.

Q.100 YRd ¥ <rauTieresT & aR A Fafafaa A a o4

q HYT II 872

1. UG gRT YR TS B HI qared rarad
& 3fIHIGA B HIIH T gidl 8|

2. et fdt B P XE R vl § Al
I8 IfIYM BT HIgTT & fovg SaT g

3. U ST T W 8l

4. 318 Wt MRS 3eTad ST Idhdl 8 3R I9%
e SMIBRI &1 Ieco BidT 81

Pls:

a) Pad 2, 3 3R 4

b) Had 1,3 3R 4

Q) Pad 1,2 3R 3

d) 1,2, 3 3R 4

Which of the following statements are true

about the Judiciary in India?

1. Every law passed by the Parliament needs the
approval of the Supreme Court.

2. Judiciary can strike down a law if it goes
against the spirit of the constitution.

3. Judiciary is independent from the executive.

4. Any citizen can go to court if his fundamental
rights are violated.

code:

a) 2, 3 and 4 only

c) 1,2 and 3 only

b) 1, 3 and 4 only
d)1,2,3and 4

Q.101 fFAEfufEd #y=i R faar sl

1. fo=gf i Ir=at ® ST U 9y Hal BT HH J HH
6% TG BT |

2. fopdft oft Q) o0 O A 9T & fole &9 ¥ HH
T8 9ic S|

T SIS G I AP G4 &b ¥4 H A=l

U H3 & fore Swda #f & Si4-91 °Fds T_T

AT AR W?

a)W1

b) Had 2

o) 1 3R 2 gl




d)Ta13IRAE2

Consider the following statements.

1. Securing at least 6% of the valid votes polled
in any three states.

2. To win at least six seats in the Lok Sabha from
any two states.

Which of the above criteria must be fulfilled

by a political party to be recognized as a

national party?

a) 1 only b) 2 only

c) both 1 and 2 d) neither 1 nor 2

Q.102 FFafafad Hy=f wr faar Fifsm)

1. IFUfd &1 g1 T afaes Hedl gRI fbar s
& forad Tre & g1 et & 9t Fatfad gew
3R g fyyrrayrell & g gewg fd g
gl

2. facell ) Blear, 30 b MR USR DI URd
@ YT BT GG B o fo7Q Fafees Heel o1
o g A1 e 5

SR & A DI II/Q FYF T 3/8?

a) Had 1 b) Had 2

o) 1 3R 2 gl dyFdr 1 3RA2

Consider the following statements.

1. The President is elected by an electoral college
consisting of all the elected members of both
the Houses of Parliament and all the members
of the State Legislatures.

2. Except Delhi, other Union Territories are not
considered part of the Electoral College to
elect the President of India.

Which of the above statement(s) is/are

correct?
a) 1 only b) 2 only
c) both 1 and 2 d) neither 1 nor 2
Q.103 fufifad sy W faar Fifsm|
1. HRA & GYTHA & (a9 3oy uara dad
AHIHT H 1T S Fohell B
2. gfe gerTvE & fovg uxara uiRkd gl Srar g o
A AURye B ATTF 3 P TIRIHdT
T8
IWRIad | | B9 /A Y LI 8/8?
a) Had 1 b) Had 2

Q) 1 3R 2 gt d)Ta13MRAE2

Consider the following statements.

1. A motion of no confidence against the Prime
Minister of India can only be brought in the
Lok Sabha.

2. If the resolution against the Prime Minister
is passed, then there is no need to resign the
entire Council of Ministers.

Which of the above statement(s) is/are

correct?

a) T only b) 2 only

c) both 1 and 2 d) neither 1 nor 2
Q.104 fAufafldd Hy= W faar Fifsm|

Q.105

1. HEURYE ISTTHT & TY-T1Y b GUT & Ufd
1t SiaTeeE B

2. Iy UKdg Fad g Teq # & o o
THd Bl

3. JT GHT BT Y& YYHA §7 FobdT 8, A
I AHIHT H IgHd GGl &1 JHUY UIed g1
ElIY

TAad HYF g |

(a) had 3 (b) HId 2

(c) Had 1 (d) SR Tt

Consider the following statements.

1. The Council of Ministers is responsible to the
Council of States as well as to the Lok Sabha.

2. No-confidence motion can be brought only in
the lower house.

3. A member of the Rajya Sabha can become the
Prime Minister, but he must have the support
of a majority of members in the Lok Sabha.

Choose the incorrect statement.

(a) 3 only (b) 2 only

(c) 1 only (d. All of the above

Hifd M @ WIUAT HRd PR g§RI

BT
A. 1 @8 2015 B. 1 SaRY 2015
C. 152015 D. 1 BRast 2015

NITI Aayog was established by the
Government of India on .

A. 1st July 2015 B. 1st January 2015

C. 1st June 2015 D. 1st February 2015




Q.106 FEIT Faddr TANT $t Wy Fafafeaa # 3
fora aftfa @1 R w 3t 7€ o

e gfafa

fe=r e wfafy

. dR$s IfAfa

. Ry gfafa

onNw>

The Central Vigilance Commission was
established on the recommendation of
which of the following committees?

A. Santhanam committee

B. Dinesh Goswami committee

C. Tarkunde Committee

D. Narasimhan Committee

Q.107 FHET JIAT TANT (CIC) 30 I fhy HATTa &
3t 3mar 82
A. T8 HATEd
B. fo Harera
C. Fiffe HaATe™

D. IS AT 3R FRITRIDHUT HATTY

The Central Information Commission (CIC)
comes under which of the following
ministries?

A. Ministry of Home Affairs

B. Ministry of Finance

C. Ministry of Personnel

D. Ministry of Social Justice and Empowerment

Q.108 % # URd ¥ Ugd! TSaYU" WRPR Hd a1 &l?
A. 1962 B. 1977
C. 1984 D. 1991

When was the first coalition government
formed in India at the center?

A. 1962 B. 1977
C. 1984 D. 1991
Q.109 fAufefad Hy=i R faar Fifve:

(i) Pz -AgToraT tiierss o1 dxicd 81T fb a8 34
Toft oiferal ot aRar utem B S URA @
Ifera fAfY & geu g

(i) Frd=e-AgTeraT tiiefe &I ¥d a1 fohdl I o
fedt srafag a1 faurT & @ 7T YusRY O
Tl & A3 B TARaT LTI B 3R I
I1ad Ra1é 33 &1 WfIBR ghT|

a9} ey &1 7= P

A. (i) 3R (ii) G Tad &
B. (i) 3R (ii) & TEt &
C. () TTad € QfP (i) Ie1 8
D. (i) T&! § AfdhH (i) Ted §

Consider the following statements:

(i) It shall be the duty of the Comptroller and
Auditor-General to audit all receipts payable
to the Consolidated Fund of India.

(i) The Comptroller and Auditor-General shall
have authority to audit the accounts of
stores or stock kept in any office or
department of the Union or of a State and
to report thereon.

Select the correct option:

A. Both (i) and (ii) are wrong

B. (i) and (ii) both are correct

C. (i) is false but (ii) is true

D. (i) is true but (ii) is false

Q110 YRd & fAUT® 3R HeTawT Wieid F Frfay

¥ T # Fofeafa sy § § o a1 9 T8

13

A. 3% US q g B Ufehar 3R YR Fdia
T P TN B FHME B

B. HRd & MdA® IR HeTal Wieid &1 Fgfaa
RIYUfd GRT &1 S &

C. YU 3R T & oAl & @l $ 39 Re I
T S o {3 yufa e ok weTa
Tieh Bt T8 R B Ibhd o

D. T8 30U+ Ug R 3 81 & dI I I T
WHR & ded M & (Mo &) sriay &
INMCIER]

E. SWIad H Y D5 To1/SWRIad H 1 Th § 3D

Which one of the following statements is not
correct about the Office of the Comptroller
and Auditor General of India?

A. The procedure and grounds for his removal
from office are the same as that of a judge of
the Supreme Court.

B. The Comptroller and Auditor General of India
is appointed by the President.

C. The accounts of the President and the States
of the Union shall be maintained in such
manner as the President may, on the advice




Q.111

Q.112

Q.113

of the Comptroller and Auditor General,
prescribe.

D. He is eligible for further office under the
Union or State Government after he has held
office.

E. None of the above/More than one of the
above

diegHE AR Iudege B fAgiR B
P 22

a) JSTuTe

b) T

¢) AIHTHT 378

d) I T & ATATeR

Who
Upalokayukta?

appoints Lokayukta and
a) Governor

b) Chief Minister

c) Speaker of the Lok Sabha

d) High Court Judge

fg af dfaur & #Hifere wdal & W
far war ur?
(a) 1972
(c) 1985

(b) 1976
(d) 1970

In which year fundamental duties were
included in the constitution?

(a) 1972 (b) 1976

(c) 1985 (d) 1970

yRd ¥ de # fufafee & ¥ @

USRI 3R Hdadl & dia Tt JaY &2

(a) SMIPR Hacdl & Y TgHardd &

(b) HfIPR cAfGTTd § SR N TS 3R
Facdl Y W &

() AMR® & Hfddd B! I & AU ARHR
Tgayuf § Sefe wde el gl

(d) Faed, I & RRAT & fau wgayuf g
Safe 3feR T8 g

With reference to India, which one of the
the
between Rights and Duties?

following is correct relationship

(a) Rights are correlated with duties

(b) Rights are individual and hence
independent of society and duties

(c) Rights, not duties, are important for the
advancement of the personality of the
citizen

(d) Duties, not rights, are important for the

stability of the state.

Q.114 YR{ WAy & dgd #ifes feRT &1

Q.115

Q.116

Q.117

& B 82
(a) I9E (b) Tgufd
(c) goiH I (d) Bfere

Who is the custodian of fundamental rights
under the Indian Constitution?

(b) President

(d) Cabinet

(a) Parliament
(¢) Supreme Court

Uit & PR & YR & ARSI BI
TREFd Mfe ARSR 31 T ger fea
T g1

(a) FATCITGT FRNEA  (b) dareiaat S=NeH
() AaTferaat IRMeA  (d) Yareiaat d=ied
The ‘'right to property' was removed from
the list of fundamental rights guaranteed to
the citizens of India in

(a) Forty-second Amendment

(b) Forty-third amendment

(c) Forty-fourth amendment

(d) Forty-fifth Amendment

HRUF BT T AT gD RN H) gt
T 3R W@ PRI A Tl & Tae H JgReT

USH BT 272
(b) 3TE 22

(a) STHE 19
(€ 3TDE 21 (d) 3TT 20

Which Article of the Constitution provides
protection to the accused in respect of
conviction from double bar and self-
incrimination?
(a) Article 19
(c) Article 21

(b) Article 22
(d) Article 20

fFafafaa & ¥ #19 dfqus 9w &t Jare
gftrfa &1 sremer 4 2

[a] S 3R TSI [b] TSI UTG

[c] Sielt P! [d] ST §TGR A




Who among the following was the Chairman
of the Steering Committee of the Constituent

Assembly?
[a] BR Ambedkar [b] Rajendra Prasad
[c] JB Kriplani [d] Tej Bahadur Sapru

Q.118 HRIG T &1 HI9 AT TG " SYgar

&1 THIW BT 22
[a] 14 [b] 15
[c] 16 D] 17

Which Article of the Indian Constitution
abolishes "Untouchability"?

[a] 14 [b] 15

[C] 16 [D] 17

Q.119 WfIUH & 3¢ 17 3NR 18 WTH Hd &
[a] TS THTCT [b] 3 TaT=ar
[c] IS Ul [d] YTfHe JHHT

Articles 17 and 18 of the Constitution
provide
[A] Social equality [B] Economic equality

[c] political equality [d] religious equality

Q.120 frufafaa & @ frg fofa & e mar 2 &
‘R YET 3R HHare' YR |faur ot
e fdhwarg 82
[a] HRIATG YRG!
[b] TY.3R. SHHs HTHT
[c] $faRT |t A
[d] faraf e |

Which of the following judgments states
that 'Secularism’ and ‘Federalism’ are the
basic features of the Indian Constitution?

[a] Kesavananda Bharti case

[b] S.R. Bommai case

[c] Indira Sawhney case

[d] Minerva Mills case

Q.121 URd PR AfUFH, 1935 fFa w smerfia
YT:
[a] TS ol TANT [b] TTSHA HHITH
[c] TS aatrsd &t RAIE  [d] feftra e

The Government of India Act, 1935 was
based on:

[a] Lord Curzon Commission

[b] Simon Commission

[c] Lord Clive's report

[d] Dimitrov thesis

Q.122 U1 & agd, Fufafaa # § arw gur #) F19-
P faRiv =fdT ueE €1 718 82
1. @fe1 Ugl W A
2. famr Al &1 Wighd BT
3. fa<1 srdeq &1 fafafia &<
4. TATTd & WAl BT [WRETE 3R 3HfSe BT

Ble:
a) 133 b) 1,2 3R 3
01,334 d)1,23MR4

Under PESA, which of the following has been

granted special power for Gram Sabha?

1. Control mineral leases

2. Approve development plans

3. Regulate Money lending

4. To provide for maintenance and audit of
accounts of Panchayat

Code:
a)1and 3 b)1,2and 3
c1,3and 4 d)1,2and 4

Q.123 WU ®) WY fFrad gRT fRars o &;
(a) YRd o T Araefier
(b) gd g4 Tt
(c) HRd & gufd
(d) ST F F BIE

By whom is the oath administered to the
Prime Minister;

(a) Chief Justice of India

(b) Former Prime Minister

(c) President of India

(d) none of the above

Q.124 MR Wy # Tadzdr &1 RFR' IR
TG gRT Ve frar mn g s &
(a) 3FTDG - 19 ¥ TG - 22
(b) 3THG - 16 T TG - 19
() TG - 17 F TG - 20
(d) TG - 18 U TG - 21




Q.125

Q.126 "

Q.127

The 'right to freedom' in the Indian
constitution is provided by four articles
which are

(a) Article - 19 to Article - 22

(b) Article - 16 to Article - 19

(c) Article - 17 to Article - 20

(d) Article - 18 to Article - 21

frare PRy sififeas & aga, fed aafe

) far T goped & ARWR fear o goar @
(@ 1HHT  (b)3TEH
(©) 6 AEH (d) 9 TR

Under the Preventive Detention Act, a
person can be arrested without trial

(@) 1 month (b) 3 months

(c) 6 months  (d) 9 months

USRI & wad= & fag fd=r 7 sme=r/ e
TR $31 & AT Srgradl &1 RN $3
#1 AfpR" frg Aifve AfeR & siaifq
3T 82

(a) YH Pt TaddT BT PR

(b) TRBTa® 3R e fBR

(c) AUt s IUIR BT PR

(d) TMV0T & RIQAT® SHHR

"Right to move courts for issuing
directions/orders/writs for enforcement of
rights” comes under which fundamental
right?

(a) Right to freedom of religion

(b) Cultural and educational rights

(c) Right to Constitutional Remedies

(d) Right against exploitation

qdaR 2022 ® R 3R ST ferar &7 “3iive-
8 2022’ gsmam wgi = foar T

1. ORI 2. §HTR

3. SIYR 4. SR

Where was the 'Austra-Hind 2022' exercise

of India and Australia started in November

2022?
1. Jaisalmer 2. Bikaner
3. Jodhpur 4. Barmer

Q.128 - 3l Ao & Ty # fFArAfefaa

FYAl IR faaR B -

1. 39 AISHT &1 Y[F3MTA 01 3R, 2021 DI B
TS

2. 39 OIoFT & ded gadl, fidrg, srearer ok
HTIHT B GI-al U T & JIP URAR B
- fqafka fed S|

8! HYF BT I HIfTE-

(a) Pad 1 (b) Had 2

() 1 3R 2 w& OEGIREP)

Consider the following statements

regarding Ghar-Ghar Aushadhi Yojana -

1. The scheme was launched on August 01,
2021.

2. Under this scheme, two plants each of Tulsi,
Giloy, Ashwagandha and Kalmegh will be
distributed door-to-door to every family in
the state.

Select the correct statement-

(@) 1 only

(b) 2 only

(c) 1 and 2 are correct

(d) neither 1 nor 2

Q.129 IR FIY RV R FY syawmg wd

Py fFrafa wicares ifa #a 9 #1151
(a) 12 Tdg=R, 2019 (b) 12 f&TmR, 2020
(c) 17 feamR, 2019 d) 17 fTegmR, 2020

When was the Rajasthan Agricultural
Processing and Agribusiness and
Agricultural Export Promotion Policy
released?

(a) 12th December, 2019

(b) 12th December, 2020

(c) 17th December, 2019

(d) 17th December, 2020

Q.130 AT Tt & FAR YA STAT & HeH |

fFrefafed sy w R #ifce-

(a) TSR &1 YH DT 10.84 Uferra fgwar arfet
& Sfid 3T B

(b) ISR &1 Hd Ulcafed & Halftres areH
(G ST §3HT 80 (52.34 Tfa=rd) &1 8|




(0) T BT $o Ufddfcd &% au 2020-21 H
342.89 UG eI &

Iuaa A | far wy= Tl -

(a) Al U (b) Paa &

(© gt = (d) PIg t &Y

According to the Economic Survey, consider
the following statements regarding land
use-

(@) 10.84% of Rajasthan's land comes under
forestry.

(b) Rajasthan has the highest contribution in
net sown area (52.34%) to the total
reported.

(c) The total reported area of the state is 342.89
lakh hectares in the year 2020-21.

How many of the above statements are

correct-
(a) only one (b) Only two
(c) All three (d) none

U 9@ 131 ¥ 135 9@ - 38 10 ude
R ¥ TP Sy faar mar € 3R Sud A @
yderome & 7 ¥ R @) 7 an 9 e=ifar
21 Ul A gU wy= iR yduronsit ¥ @
P durRom sy | wffRd 2, sHer
fofg e 8 2

(a) TS Fad YHURON () HY H IfARA B

(b) A Faa QAR (1) HY= H WAk 81

(0) T GdYROT (1) @ (1) BYA H WRRd 21

(d) T T aF gdaRom (1), 3R 7 g gaurRo (1)

YT H glafza gl

In each of the following question numbers

130 to 134, a statement is given followed by

two assumptions marked (I) and (II). You

have to decide which of the given

statements and assumptions is implicit in

the given statements?

(@) if only assumption (I) is implicit in the
statement.

(b) if only assumption (ll) is implicit in the
statement.

(c) if only assumption (I) and (Il) are implicit in
the statement.

(d) if neither assumption (I) nor assumption (ll)
is implicit in the statement.

Q.131 BY : T3 e ifd W fa=R fovam 51 361§ Sifep
fRreror yomelt & weayul ufvad= & |
qa‘%rmnﬁ
. gadr Rrer voret # uRada &t saxaddr
gl
Il o fRren womelt I saRaddr &I
HeAoR Fd gU RTd §1

Statement: New education policy is being
considered which will  bring
significant  changes in the
education system.

Assumptions:

I. There is a need for change in the present

education system.

[l. The present education system is inconsistent

with the national requirement.

Q.132 HY : YHadl U Afad DI 3T UD| Tg! &Y
Y IREGH BT &A1 gt g
Qﬁmﬁ
. 3 P TR BT G aldl U afad & e s
IUfTT T8t ]
II. T U Safad TTad fofa gt R Iad |

Statement: A successful person has the ability
to judge himself correctly.
Assumptions:
I. The judgment of others is of no use to a
successful person.
[l. Successful people cannot make wrong
decisions.

Q.133$W:Hﬂﬁwﬁrwuamuﬁaaﬂﬁ%|
T URUMY:
| GHER UF U & R g B
II. I afad R g1

Statements: All persons like to read
newspapers.

Assumptions:

I. Newspapers are for reading.

IIl. Everyone is educated (literate).

Q.134 YA : YD el : Tepleid UM W &
fore e R® 3|




qﬁwﬁi

. Tchlgid Tl U 9 W # gf it 3

Il. IRd H dTa! B Pl oIevd ol gl

Statement: Statutory Warning Drinking
alcohol is injurious to health.

Assumptions:

l. Health is enhanced by not drinking alcohol.

[l. There is really no need for alarm.

Q.135 HY : 3(TY TP &I Id § Iwhadl &I gafedi IR
5t uga 9aFd |
Q\_Q:WI'I"Q
. QT el Bt goiel IR UgaHl a18d gl
II. AT Bt gadl TR Uga- & g 31 T
DI TER Bl B

Statement: You cannot reach the heights of
success in one night.
Assumptions:
l. People want to reach the heights of success.
ll. To reach the height of success, tireless effort
is needed.

U ST 136 I 140 dF A 38 T ydS

= B T wY o mar # ok sud R @

et fed ma 8 g (n T (i) & =fa T @)

3Ty o T ®u R frsput & ¥ S

frepd wy & wfafea ¢, swe o s g 2

(a) Tf Had FspY (1) T I 811

(b) TG raet Fp (11) T T B

(o) afe Fpe (1) 7 (1) S adh TTd B

(d) afg 7 @ e (1), 3R 7 & Ay (1) T
SUGK]

In each of the questions below question

numbers 135 to 140, a statement is given

followed by two conclusions numbered (I)

and (II). You have to decide which of the

given conclusions and conclusions are

implicit in the given statements?

(a) if only conclusion (1) follows.

(b) if only conclusion (ll) follows.

(c) If both conclusions (I) and (Il) follow.

(d) if neither conclusion (l) nor conclusion ()
follows.

Q.136 HYT : HRA H 10 Hfawrd Y Texit & U It
3T T 35 UfAId |
forsa:
. o it &1 faeT ool ¥ gidT 8 O 8
B AT & U e B Syfef 8 ureh B
I1. YR & I 31 1 fIaRor SR g

Statement : Top 10 percent of the households
in India have 35 percent of the
national income.

conclusion:

I. When the economy develops rapidly, the

money supply is limited to a few people.

[I. The distribution of national income in India is

unequal.

Q.137 HYA : TER(l T U W18 U GO ST O &
fore Se & forr &4 7161 7 Al
frepd:
| AER@ T $c g SManE - &1 9ad Il
YA B
II. TRl B $e SHfdHd § Iuas g g
Statement: In deserts one cannot travel for
work without camel from one
place to another.
conclusion:
I. Camel is the cheapest means of transport in
the desert.
Il. Camels are available in abundance in
deserts.

Q.138 HYH : U AR Feadl § 3R s IR
IPHT VI TG0 R At 3|
e
i et &1 @ & Fifer 3 Siof 81 e g
I1. gRad uefa &1 w3

Statement: The old order changes and the new
order takes its place.

conclusion:

I. Discard old ideas because they are out of
date.

[Il. Change is the law of life.




Q.139 HYF : YHER-TA &1 Aed em & sifalked
ARG & w0 | Hi 7H1 ST =1 el
forsa:
| AT SHER-uE e ot 2 ¥ wded B
II. GHRR-UAT & TR Hgd & gyd faar
S W B
Statement: The importance of newspapers
should be considered in the form
of entertainment in addition to
education.
conclusion:
I.  People buy newspapers for the purpose of
education.
[l. The entertainment value of newspapers is
being realised.

Q.140 YA : Holl P 3fcAfbd Sl BT YART Sl B
FHH BT frer I
e
|3 dp-1p -4 ol & difbed Bt
HTRMF ATl
Il TUTaRor T A Gl SHoll & <Nipd Sdl &
& BT HRUT

Statement: The use of non-terrestrial sources
of energy will eliminate the
shortage of energy.

conclusion:

I.  Modern technology is gradually replacing

the cosmic sources of energy.

[l. The over-exploitation of the environment is

the reason for the depletion of cosmic
sources of energy.

U GWT 141 § 145 99 A9 37 ¢ vds
U ¥ U Hy faar T § R 99d AR 91
sriarfeal & 1% 8 fore (1 7 (an & Fwfar ma
21 Ul f3d gu vy iR srdarfeal & &
P FrdaE HYT A & T SEeR
YR W SUGe P T TR fofa
g, 39T fAvfg AT g 2

(a) TS Had HRIATE! (1) T T BT

(b) TS Had HrAATa! (II) TP TI1d B

(c) afe Sriarfedr (1) @ (1) SF ad J7d gl
(d) Tfe 7 @ Brfaret (), 3R 7 & Hrdare! (1) ab

T g

In each of the questions numbered 141 to

145 below, a statement is given followed by

two courses of action marked (I) and (II).

You have to decide which of the given

statement and course of action would be the

appropriate  course of action or

administrative decision based on the

information given in the statement?

(a) if only course (l) is reasonable.

(b) if only course of action (ll) is reasonable.

(c) If both the courses of action (I) and (Il) are
reasonable.

(d) if neither course () nor course (Il) is
reasonable.

Q.141 HYH : YoM ¥ $© f5al ¥ fdar fad

Q.142

TARIRIT e T P RIHR € o B &1
ﬂv‘l'dﬂﬂ%'lﬁ:
. T8I & AN Pl WIRIZS BT 3HfUb Jad BT
ELNY
Il IORIF WBR B Hoff aduT qaREl o
eReRe TRTS Td HicraH seram =gl
Statement: In some districts in Rajasthan, most
of the people are becoming
victims of the disease called
Fluorosis.
Proceedings:
I. The people there should consume more
fluoride.
Il. Rajasthan government should put tartaric
acid and calcium in wells and reservoirs.

Y : IOIAT & 31 IUTGD 3T b HERUI Td
I IYfId fauuE & 31yrd & A1t & Ad W
I CEREARECR ]

mﬁ:

. PR B! Afqs Ahs RIKT f[TuuHE §18)
& HIEH Y 3T TG B Ao Ui BT
ElRY!

Il. TRBR I Dles LIRS D IR AT MR

Statement: The potato growers of the district

have been forced to sell potatoes
at the cost of the soil (at a very
low price) due to lack of proper
marketing and storage of
potatoes.

Proceedings:




I. The government should immediately pass a
plan to buy potatoes through NAFED
(National Marketing Board).

[l. The government should make arrangements
for cold storage.

Q.143 HY : IGYM! H HARIT BT UHIY doil § dgdl off
wEl
mﬁar%u‘f:
| TR A @) ifaae gS&! @ A1dl Bt IHIg
TUT 318181 FT [SHId AT ATl
11 T 1 YIS (FRG ) TRTIER T Tl |

Statement: Malaria outbreak is increasing

rapidly in the capital.

Proceedings:

I.  The Municipal Corporation should clean the
roads and spray the drains with DBT without
any delay.

ll. People should sleep with safeguards
(mosquito nets).

Q.144 HYF : BRI W§d YA T T §H & davig
1t S P TIPS U H Flde Hal &) G fer-
Tfife Tt o %61 &

Hﬂ'dﬂﬂ%’lﬁ:

. PR B! Hidc Wpdl W UAEy T AT
ElY

II. TRBHR DI 3D Y YD Wpdl Wi digu|

Statement: Despite having adequate
number of government schools,
the number of convent schools is
increasing day by day in every
part of the country.

Proceedings:

[. Government should ban convent schools.

ll. The government should open more and

more schools.

Q.145 HYF : IS Isg Ty gRae fma & srRkd
HHANG! B! e 2 auf 9 3d7 78} i T B
mﬁ:

. WPHR & 9Y URag fHH &I §¢ HR e
ElY

IIl. TRHR DI 7Y TRaed F7H &1 Fefiezo =
AT =R

Statement: The employees working in
Rajasthan State Road Transport
Corporation are not getting
salary for the last 2 years.
Proceedings:
I. The government should close down the
road transport corporation.
Il. The government should privatize the Road
Transport Corporation.

U HBT 146 | 150 I 9 37 W v+

U # ¢ By 33 T ? ok 39 A @

frepd A M E o g () T () | SfaT T

32 gu Y= Tdza 9l I A9 T vE@H ard g1

T oft 3y I T FHS 3R Fd3Td ql

@t Sr@eal Hid g¢ fad mu el 4 @

PHIT TPy HY F YR UR dHITT 7Y

A Frpaar @, saer Fofg a1 g 2

(a) Tfe Had FApy (1) T T71d 81

(b) afe Had ey (1) 9% T 8l

(c) afe Faa fased (1) T (1) T ITa BT

(d) afg T @ fspd (1), 3R 7 & e (1) Ih
ITd &

In each of the questions given below from

question numbers 146 to 150, two

statements are given followed by two

conclusions numbered (I) and (II). If the

given statements are not matching with the

well-known facts, yet you consider them to

be true and disregarding the well-known

facts, which of the given conclusions

logically emerges on the basis of the

statement, it has to be decided?

(a) if only conclusion (1) follows.

(b) if only conclusion (ll) follows.

(c) If both conclusions (1) and (l1) follow.

(d) if neither conclusion (l) nor conclusion (Il)
follows.

Q.146 &Y : Gt U8 B B

EERGEICE
s
. I par US Bl

I. HS FoI U &

Statements: All trees are flowers.




Some flowers are pens.
conclusion:
l. All pens are trees.
Il. Some flowers are trees.

Q.147 ®Y : Tt HRITT A9 5|
PO 9 T B
o
| ol 99 A B
Il $ ouel I TET B

Statements: All chairs are apples.
Some apples are tables.

conclusion:

I. All apples are chairs.

[Il. Some tables are not apples.

Q.148 Y : $B Uell Sreel 3
ST T Ul 5l
s
. $B ded Ul gl
II. BIST STed el g

Statements: Some birds are clouds.
Horse is a bird.

conclusion:

|. Some clouds are birds.

[Il. A horse is not a cloud.

Q.149 BYH : $© e Alen B
31 T e Bl
forep:
. 1 U Afge e gl
11 gt YT e 3|

Statements: Some teachers are women.
Rekha is a teacher.

conclusion:

I. Rekha is a female teacher.

II. All Rekha are teachers.

Q.150 YT : $T SIdeX IT ¢
PR SR |
forsep:
. P2 TH SlaeR 7l
Il T g 5

Statements: Some doctors are fools.
Suresh is a doctor.

conclusion:

I. Some fools are doctors.

. Suresh is a fool.

2.0 0 ¢
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Asal Uttar AU-01 (INDIAN POLITY)

Answer Key
Question | Answer | Question | Answer | Question | Answer | Question | Answer | Question| Answer | Question | Answer | Question | Answer | Question | Answer
1 C 21 C 41 B 61 A 81 C 101 D 121 B 141 B
2 B 22 C 42 B 62 B 82 102 D 122 B 142 C
3 B 23 A 43 D 63 B 83 D 103 A 123 C 143 C
4 C 24 B 44 D 64 A 84 B 104 C 124 A 144 D
5 C 25 A 45 D 65 B 85 D 105 B 125 B 145 B
6 C 26 B 46 D 66 A 86 B 106 A 126 C 146 B
7 D 27 C 47 C 67 C 87 C 107 C 127 B 147 B
8 C 28 A 48 B 68 D 88 A 108 B 128 C 148 A
9 A 29 B 49 A 69 B 89 B 109 B 129 A 149 D
10 B 30 D 50 C 70 C 90 A 110 D 130 B 150 A
11 C 31 D 51 B 71 B 91 D 111 A 131 C
12 D 32 B 52 A 72 D 92 C 112 B 132 C
13 B 33 A 53 B 73 B 93 D 113 A 133 A
14 B 34 B 54 D 74 C 94 D 114 C 134 D
15 B 35 A 55 C 75 B 95 C 115 C 135 B
16 D 36 D 56 A 76 C 96 D 116 D 136 B
17 A 37 B 57 D 77 A 97 C 117 B 137 C
18 D 38 C 58 A 78 B 98 A 118 D 138 B
19 B 39 B 59 B 79 C 99 C 119 A 139 A
20 B 40 C 60 B 80 B 100 A 120 B 140 C
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Q1. The correct answer is (C).

Explanation - Social equality - It is referred to as equal rights and opportunities for development for all classes of people
without any discrimination such as civil rights, freedom of speech, property rights and equal access to social

goods and services. Hence, option (C) is correct.
Equality of opportunity for all the people of the society.
Right to Equality (Articles 14 - 18)

Q.2 The correct answer is (B).

SCHEDULE

FIRST

SECOND

EduKare Online

THIRD
FOURTH

FIFTH

SIXTH

SEVENTH
EIGHTH
NINTH

TENTH

ELEVENTH

TWELTH

Q.3 The correct answer is (B).

SCHEDULES OF INDIAN

CONSTITUTION

DETAIL

The list of states and union territories with territorial
demarcations

Provisions of the President, Governors of States, Speaker

and the Deputy Speaker of the House of the People and
the Chairman and the Deputy Chairman of the Council
of States and the Speaker and the Deputy Speaker of the
Legislative Assembly and the Chairman and the Deputy
Chairman of the Legislative Council of a State, the
Judges of the Supreme Court and of the High Courts and
the Comptroller and Auditor-General of India.

The Forms of Oaths or Affirmations.

Provisions as to the allocation of seats in the Council of

States.

Provisions as to the Administration and Control of

Scheduled Areas and Scheduled Tribes.

Provisions as to the Administration of Tribal Areas in the

States of Assam, Meghalaya, Tripura and Mizoram.

The Union list, State list and the concurrent list.

The list of recognized languages.

Provisions as to validation of certain Acts & Regulations.

Provisions as to disqualification on ground of defection.

The powers, authority and responsibilities of

Panchayats.

The powers, authority and responsibilities of
Municipalities

Explanation - Under the recommendations of the Cabinet Mission Plan, the Constituent Assembly was elected in July
1946 by the Legislative Assemblies of various provinces, princely states and 4 commissioner's provinces.
e Congress got 208 seats, Muslim League 73 and others 15 seats in these elections, while the princely states

(awarded 93 seats) decided to keep themselves away from the Constituent Assembly.
e Mahatma Gandhi and Jinnah were not members of this Constituent Assembly.

e The first meeting of the Constituent Assembly was held on December 9, 1946. In this first meeting, senior
member Sachchidanand Sinha was elected as the temporary president.
e It is clearly mentioned in the Preamble of the Constitution that the Constitution was adopted, enacted and
enfoced by the Constituent Assembly on 26 November 1949.

Q.4 The correct answer is (C).

Explanation- The Indian Constitution was enacted by the Constituent Assembly (People of India) on 26 November 1949.

Q.5 The correct answer is (C).

Explanation- Statement 2 is wrong because the admission and establishment of new states is done by simple majority.
Article 368 of Part 20 of the Indian Constitution describes the procedure for constitutional amendment. The procedure
for amending the constitution has been taken from the constitution of South Africa.




Constitution can be amended in two main ways:

1. Informal Amendment - by Judiciary

2. Formal Amendment - By Parliament

Under Article 368, Parliament can amend the Constitution in three ways:

(i) Amendment by simple majority of the Parliament.

(ii) Amendment by special majority of the Parliament.

(iii) Amendment by a special majority of the Parliament and after the recommendation of half the State Legislatures.
Amendment by simple majority: Many provisions of the constitution can be amended by simple majority of both the
Houses of the Parliament. These arrangements are outside the purview of Article 368. These arrangements include:
1. Admission or formation of new states.

2. Creation of new states and alteration of its area, boundaries or names of the respective states.

3. Creation or abolition of the State Legislative Council.

4. Second Schedule — Emoluments, privileges etc. for President, Governor, Speaker of Lok Sabha, Judge etc.

5. Quorum in Parliament.

6. Salaries and allowances of Members of Parliament.

Amendment by Special Majority:
A majority of the total members of each house and a majority of two-thirds of the members of each house present and
voting are required.
Such amendment arrangements include-
1. Fundamental Rights
2. Directive Principles of State Policy, and
Amendment by special majority and after the recommendation of half of the state legislatures:
The provisions of the Constitution relating to the federal structure of the policy can be amended by a special majority of
the Parliament and it is also necessary that half of the state legislatures approve them through a simple constitutional
majority. Got it There is no time limit prescribed for the states to give assent to the bill. The following provisions can be
amended under it.
1. Election of the President and its process.
2. Expansion of the powers of the Central and State Executive.
3. Supreme Court and High Court.
4. Division of legislative powers between the Center and the States.
5. Any matter included in the Seventh Schedule.

Q.6 The correct answer is (C).

Explanation- In 1929, in the Lahore session of the Congress, under the chairmanship of Jawaharlal Nehru, the Congress
passed the proposal of complete independence and it was decided that Independence Day would be
celebrated on the next 26 January. Accordingly, the first Independence Day was celebrated on January 26,
1930, so it was decided to implement the constitution on January 26 itself. Hence option C is correct.

Q.7 The correct answer is (D).

Explanation- The Constituent Assembly was partly elected and partly nominated body. The representatives of each
community were to be elected by the members of that community in the provincial assembly and the
representatives of the princely states were to be nominated by the chiefs of the princely states. Hence
statement 1, 2 and 4 are correct.

Q.8 The correct answer is (C).
Explanation- The Indian Space Research Organization (ISRO) had successfully launched the 200th launch of RH-200 on
25 November.




Rohini RH-200 Sounding Rocket
e The RH-200 is a two-stage rocket capable of reaching an altitude of 70 km with scientific payloads. Hence
statement 1 is correct.
e |tis 3.5 meters tall.
e The first and second stages of RH-200 are driven by solid motors. Hence statement 3 is correct.
e The '200' in the name RH-200 stands for the diameter of the rocket in mm. Hence statement 2 is not correct.
sounding rocket
e A sounding rocket is an instrument-carrying rocket designed to take measurements and perform scientific
experiments during sub-orbital flight.
* Rockets are used to launch instruments 48 to 145 km above the Earth's surface.
e The first sounding rocket was the American Nike-Apache - launched in 1963.
e |SRO launched its sounding rocket - Rohini RH-75 in 1967.
rohini rocket
e Rohini is a series of sounding rockets developed by the Indian Space Research Organization (ISRO), for
meteorological and atmospheric studies.
e This sounding rocket is capable of carrying a payload of 2 to 200 kg to an altitude of 100 to 500 km.
e |ISRO currently uses RH-200, RH-300, RH-300 Mk-Il, RH-560 Mk-II and RH-560 Mk-Ill rockets, which are launched
by Thumba Equatorial Rocket Launching (TERLS) at Thumba and Sriharikota. are launched from the Satish
Dhawan Space Centre.

Q.9 The correct answer is (A).
Explanation:-
(i) Federal Constitution and Union Power Committee - J.L. Nehru
(i) Provincial Constitution Committee - Sardar Patel
(iii) Committee for States - Jawaharlal Nehru
(iv) Advisory Committee for Fundamental Rights, Minorities and Tribes and Excluded Areas - Sardar Patel

Q.10 The correct answer is (B).

Explanation:- On 26 November 1949 Citizenship, Elections, Ad-hoc Parliament Temporary and Transitional Rules and
other Articles 5, 6, 7, 8, 9, 60 (Oath of the President), 324, 366, 367, 379, 380, 388, 391, 392 and 393
automatically came into force. Hence statement 1, 3 and 5 are correct.

Q.11 The correct answer is (C).

Explanation:- Indian constitution establishes federal government and it has federal features like:- two government,
division of powers, written constitution, supremacy of constitution, rigor of constitution, independent
judiciary and bicameralism etc.

e |t also has unitary and non-federal features such as:- One strong center, one constitution, single citizenship,
flexibility of the constitution, integrated judiciary, appointment of governor by the center, all India services,
emergency provisions etc.

Q.12 The correct answer is (D).
Explanation:- The original Indian constitution refers to the constitution which came into force on 26 January 1950.

e Longest and written constitution are the features of the original constitution, prescription from various sources,
coordination of flexibility and inflexibility, federal system with tendency towards unitarism, parliamentary form
of government, coordination in parliamentary sovereignty and judicial supremacy, unified and independent
judiciary, Fundamental rights, Directive principles, Secular character, Universal adult franchise and Single
citizenship, Emergency provision.




Fundamental duties, secular words, three tier government were added later. so statement 1, 3 and 4 are
correct.

Q.13 The correct answer is (B).
Explanation:- The 27th Summit on Climate Change (COP-27) was held in Sharm el-Sheikh, Egypt from 6 to 18 November.

This year (2022) was organized under the presidency of Egypt. Hence statement 1 is correct.

Spain and Senegal jointly launched IDRA (International Drought Resilience Alliance — IDRA) to promote cooperation to

enhance preparedness against future droughts. Hence statement 2 is correct.

The Indian delegation was led by the Minister of Environment, Forest and Climate Change Bhupendra Yadav. Hence

statement 3 is not correct.
Major nations of the world participating in COP-27 agreed to take the following steps -

United Nations Climate Change Conference COP-27 signed an agreement to provide financing to vulnerable
countries under 'Loss and damage fund'.

A new five-year program to promote climate technology solutions in developing countries was launched at COP-
27.

A mitigation program has been launched with the aim of immediately increasing mitigation ambition and
implementation. Notably, the program will begin immediately after COP-27 and continue until 2030, with at
least two global dialogues per year.

At the United Nations Climate Change Conference COP-27, delegates held the second technical round of the Ist
Global Stocktake to raise ambition under the Paris Agreement. The UN Secretary-General will hold a 'Climate
Ambition Summit' in the year 2023 before the stocktake culminates in COP-28 next year.

The Sharm el-Sheikh Adaptation Agenda outlines 30 adaptation outcomes by 2030 to enhance resilience for the
4 billion people living in the most climate-sensitive communities.

The Action on Water Adaptation and Resilience Initiative (AWARe) program has been launched to reflect the
importance of water as both a climate change problem and potential solutions.

The African Carbon Market Initiative (ACMI) has been launched to develop carbon credit generation and create
jobs in Africa.

The Global Renewable Alliance which for the first time brings together all the technologies needed for the
energy transition to ensure a rapid energy transition. Which can establish renewable energy as a pillar of
sustainable development and economic development.

The efforts being made by the Government of India to deal with climate change include:-

'Panchamrit Ghatak' given by PM under COP-26.
National Action Plan on Climate Change, 2008 (NAPCC).
State Action Plan on Climate Change (SAPCC)

National Adaptation Fund.

International Solar Alliance.

Commitment to the Paris Agreement.

National Hydrogen Energy Mission.

National Offshore Wind Energy Policy etc.

Q.14 The correct answer is (B).

Serial Countries Indian Constitution Did Borrow Pr
number operties
1. Australia e concurrent list

e freedom of trade , commerce
and association

e joint sitting of both houses of
parliament




Canada e union with a strong center
e vesting of residuary powers
in the center
e Appointment of governors of
states by the center
e advisory jurisdiction of
supreme court

Ireland e directive principles of state
policy
e Nomination of members to
Rajya Sabha
e method of election of

president
Japan e procedure established by law
Soviet Union ( o fundamental duty
USSR) ( now e Preface ideals of justice
Russia) (social , economic and
political) in
UK e parliamentary government

e rule of law

e legislative process

e single citizenship

e cabinet system

e privilege writ

e parliamentary privilege
e bicameral

usa e Fundamental Rights

e independence of judiciary

e judicial review

e impeachment of the
president

e Removal of Supreme Court
and High Court judges

e Vice President Post

Germany e suspension of fundamental
(Weimar) rights during emergency
South Africa e amended the Indian

constitution Process
o Election of Rajya Sabha
members

France e Republic
e liberty, equality and




fraternity in the Preamble

Q.15 The correct answer is (B).

Explanation - The Constituent Assembly was formed under the Cabinet Mission. The mission reached Delhi on 24 March
1946 and presented its plan on 16 May 1946. The first meeting of the Constituent Assembly was held on 9
December 1946. According to the recommendation of the Cabinet Mission, the Constituent Assembly will
be elected by proportional representation based on the proportion of the population of the provinces and
the members of the legislative assemblies of the provinces.

Q.16 The correct answer is (D).

Explanation - According to Kesavananda Bharti's case, the preamble is a part of the constitution and apart from other
parts of the constitution, it cannot be legally enforced in the court, but the subjects contained in the
preamble could be made legally effective through other parts of the constitution.

Q.17 The correct answer is (A).

Explanation: Madhya Pradesh, Karnataka, Punjab, Kerala, Haryana, Andhra Pradesh and Chhattisgarh celebrate their
foundation day on 1 November every year. All these states were formed on 1 November only.

Following is the list of foundation days of Indian states

State Establishment day Date Year
Arunachal State | Arunachal State day February 20 1987
Assam Assam day December 2 1928
A state in A state in Eastern India | March 22 1912
Eastern India day
Chhattisgarh day -701

Goa Goa day May 30 1987
Gujarat Gujarat day May 1st 1960

Haryana day 1966

H

Himachal State | Himachal State day 15 April 1948
Jharkhand Jharkhand day 15 November 2000
Karnataka Rajyotsav 1956
Kerala day
Middle State day 1956
Maharashtra Maharashtra day May 1st 1960
Manipur Manipur day 21 January 1972




Meghalaya Meghalaya day

Mizoram Mizoram day February 20 1987
Nagaland Nagaland day 1 december 1963
Odisha Odisha day April 1st 1936
Punjab Punjab day november 1 1966
Rajasthan Rajasthan day March 30 1949
Sikkim Sikkim day May 16 1975
Tamil Nadu Tamil Nadu day november 1 1956
Telangana Telangana day June 2 2014
Tripura Tripura day 21 January 1972
Answer State Answer State day 24 January 1950
Uttarakhand Uttarakhand day november 9 2000
West Bengal West Bengal day June 20 1947

Q.18 The correct answer is (D).
Explanation - Justice - social, economic, political justice.

Freedom - Freedom of thought, expression, belief, religion and worship.

Q.19 The correct answer is (B).

Explanation -

(i) The Preamble begins with 'We the people of India' which indicates that the Constitution has been ordered by the
people of India.

(ii) The head of the state (President and Governor) is indirectly elected.
(iii) The words socialist and secular were added by the 42nd amendment, 1976.

(iv) The Objectives Resolution presented by Nehru had an impact on the making of the Constitution.

Q.20 The correct answer is (B).

Explanation - In the Berubari Union case (1960) versus the Kesavanand Bharti case (1973), the Supreme Court called the
Preamble a very important part of the Constitution.

Q.21 The correct answer is (C).
Explanation - (i) Justice - social, economic, political

(ii) Freedom - thought, expression, religion, belief, worship

(iii) Equality - equality of status and opportunity




Q.22 The correct answer is (C).

Explanation - From the Constitution of U.S.A. - Fundamental Rights, Independence of Judiciary, Doctrine of Judicial
Review, Office of Vice President, Removal of Supreme Court and High Court Judges and Impeachment of
President has been borrowed in Indian Constitution.

Q.23 The correct answer is (A).

Explanation - Fundamental rights are justiciable, the state can impose reasonable restrictions on fundamental rights.
However, whether a reason is reasonable or not is decided by the court. In this way, it maintains a balance
between individual rights and the rights of the whole society.

Q.24 The correct answer is (B).

Explanation - Under Article - 19 - The right of transmission has been given everywhere in the territory of India. Under
this, the right to go to Goa is also included in your free movement. Its objective is to promote nationalism
and not parochialism.

e Restrictions on this freedom can be imposed in the interest of common people and in the safety and interest of
any Scheduled Tribe, as well as any prostitute or patient can be banned on the basis of public morality and
public health.

Q.25 The correct answer is (A).

Explanation - Equality (equality before law) and liberty are the most important rights in any democracy, one cannot be
imagined without the other. Liberty has no value in the absence of law. Freedom means freedom of
thought, expression and action but freedom does not mean that we can do as we please, if allowed to do
so many people would be deprived of enjoying their freedom. That's why it is necessary to have a law to
enjoy freedom.

Q.26 The correct answer is (B).

Explanation - Guarantees six rights under Article - 19.
(A) Freedom of speech and expression.

(B) Right formation of Sangam Union or Co-operative
(C) Right to buy and sell any property.

(D) Right to assemble peacefully and unarmed.

(E) Right to travel abroad.

Q.27 The correct answer is (C).

Explanation - Some of the fundamental rights are available only to Indian citizens and others are available to all persons.
e |tis not absolute; it is obtained relatively. The state can impose reasonable restrictions on them.
e Except articles 20 and 21, others can be suspended during national emergency.

Q.28 The correct answer is (A).
Explanation - Under Article - 23, forced labor (forced labor), human trafficking and other forced labor have been
banned. Paying someone less than the minimum wage is included in forced labor.

e Article - 14 includes equality before law and equal protection of law.

e Articles 21 and 19 have been mentioned earlier.

Q29 The correct answer is ( B) Preamble and Directive Principles of State Policy.
¢ The Preamble of the Indian Constitution secures social, economic and political justice to its people.
e Directive Principles of State Policy: —




e It has been acquired from the Irish constitution.
e According to Article 38 of the Directive Principles of State Policy, the State shall endeavor to promote the
welfare of the people of India by securing and protecting their social, economic and political justice.

Q30. Correct Answer (D)
Explanation - Constitutional Government:—The basic element of constitutional government is the existence of a rule-of-
law or basic laws that bind both public office-holders and all members of society within a given territory.
e Constitution tries to regulate political power A tries.
e Constitutional government means a "limited government".
e Constitutional government is defined by the existence of a constitution — which may be a legal instrument or
simply a set of fixed norms or principles generally accepted as the fundamental law of the polity — which
Effectively controls the exercise of political power. Hence option D is correct.

Q31. Correct Answer (D)
Explanation: There are some important keywords in the Preamble of India like:
e We, the people of India: It refers to the ultimate sovereignty of the people of India. Sovereignty means the
independent authority of the state, which is not subject to the control of any other state or external power.
e Secular: The word means that all religions in India get equal respect, protection and support from the state.
e It wasincluded in the Preamble by the 42nd Constitutional Amendment, 1976.

Q32. Correct Answer (B)

Explanation — It is said in the Preamble that the Constitution derives its authority from the people of India. It declares
India to be a sovereign, socialist, secular, democratic and republican state. It specifies justice, liberty,
equality and fraternity as the objectives.

According to the Kesavananda Bharati case (1973), the Preamble is a part of the Constitution.

Q33. Correct Answer(A)

Explanation - According to Dr. Ambedkar, Article 32 is the soul of the Constitution.

Thakurdas Bhargava has called the Preamble the soul of the Constitution.

NA Palkiwala called the Preamble the identity card of the Constitution.

The Directive Principles of State Policy aim at achieving social and economic democracy.

Fundamental Duties are the responsibility of every citizen of India.

Fundamental rights are the basic human rights of every citizen of India:—right to equality, right to liberty, right against
exploitation, right to freedom of religion, cultural and educational rights, right to constitutional remedies.

Q.34 Correct answer is (B)

Explanation - Directive Principles of State Policy are guidelines for the central and state governments of India, which
should be kept in mind while formulating laws and policies.

The framers of the constitution borrowed this idea from the Irish constitution of 1937, which had taken it from the

Spanish constitution.

The Directive Principles of State Policy are enumerated in Articles 36 to 51 in Part IV of the Constitution.

Along with the Fundamental Rights, the Directive Principles form the philosophy of the Constitution and are the soul of

the Constitution.

Q.35. Correct Answer (A)
Explanation - In the year 1993, in Unnikrishnan JP vs. State of Andhra Pradesh and others, the Supreme Court in its
landmark judgment said that right to education is a fundamental right under Article 21.




By the 86th Constitutional Amendment in the year 2002, the right to education was included as a fundamental right in
Part-Ill of the Constitution. It has been included in Article 21 as life and personal liberty.

Q.35. Correct Answer (D)
Explanation - The first Lokayukta was established in Maharashtra.
e After Maharashtra, many states like Uttar Pradesh, Rajasthan, Bihar, Odisha, Madhya Pradesh, Karnataka,
Gujarat, Kerala, Andhra Pradesh, Tamil Nadu and Delhi followed this Lokayukta principle.
e Maharashtra Lokayukta is considered to be the weakest as it lacks powers and funds while Karnataka Lokayukta
is considered to be the most powerful Lokayukta in India.

Q.37. Correct Answer (B)

Explanation - The concept of welfare state is found in the Directive Principles in the Indian Constitution.

Directive Principles of State Policy (DPSP):— The Directive Principles of State Policy are contained in Articles 36 to 51 in
Part IV of the Constitution.

DPSPs are fundamental in the governance of the country and are non-justiciable.

This is a feature taken from the constitution of the former USSR.

Q.38 Correct answer is ( C)
Explanation - Article 36-51 under Part-IV of Indian Constitution deals with Directive Principles of State Policy (DPSP).
They have been borrowed from the Constitution of Ireland.

Q.39 Correct answer is (B)

Explanation - Fundamental Duties (Article 51A): Part IV-A

About Fundamental Duties: Fundamental Duties (Article 51A) are basically moral (not legal) obligations on Indian citizens
to encourage the feeling of patriotism and to keep the unity of India intact.

Ten Fundamental Duties (Article 51A) were added to the Constitution by the 42nd Constitutional Amendment Act, 1976.
The 11th fundamental duty was later included in the list by the 86th Amendment Act of 2002.

Swaran Singh Committee: The Fundamental Duties (Article 51A) were included in the Constitution on the basis of the
recommendations of the Swaran Singh Committee.

Fundamental Duties in the Indian Constitution

Article 51 A (C) To maintain and protect the sovereignty, unity and integrity of India.

Q.40 Correct answer is (C)
Explanation —
e Section 8 of the Representation of the People Act (RPA, 1951) provides the grounds on which a person is
disqualified from contesting elections in case he/she has been convicted for the following offenses:
e Promoting enmity between different groups of people divided on the basis of caste, color, religion, place of
birth, etc. and disrupting an environment of harmony.

e for the offense of bribery and undue influence or personation in elections respectively.

e Offense of rape

e making controversial and hate-provoking statements related to religion, communities, or classes

® Promoting or preaching the traditional practice of 'untouchability' which is abolished completely under Article
17 of Indian Constitution

e Insulting the National Honour Act, 1971.

A conviction for an offense of robbery (section 390 of the Indian Penal Code) is not a ground for disqualification
of electoral candidates under the Representation of People Act (RPA) 1951.
e Hence, option (c) is the correct answer.
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Q.41 Correct answer is (B)

Explanation - Writs are written orders issued by the Supreme Court of India to provide constitutional remedies to

protect citizens from violation of fundamental rights.

Article 32 also empowers the Parliament to amend these writs. may authorize any other court to issue

Before 1950, only the High Courts of Calcutta, Bombay and Madras had the power to issue writs.

Article 226 empowers all the High Courts of India to issue writs.

Statement 2 is correct.

Q.42 Correct answer is (B)
Explanation -

Basic Structure Theory: Introduction: —

The Kesavananda Bharati judgment introduced the Basic Structure Doctrine, which limited the power of Parliament to

make drastic amendments that could affect core values enshrined in the Constitution such as secularism and federalism.

The judgment upheld the Supreme Court's power of judicial review of laws of Parliament. It evolved the concept of

separation of powers among the three branches of governance - legislative, executive and judiciary.

The principle of basic structure states that the unlimited power of the Parliament to amend the constitution is subject to

only one restriction i.e. it should not weaken or violate the basic structure of the constitution or the effect of the

amendment should be abrogative or disturbing in nature to the basic structure. Shouldn't happen.

Q.43 Correct answer is (D)

Explanation -

In the Kesavananda Bharti case (1973), the principle of basic structure of the constitution has been given by the
Supreme Court.

All the following elements are part of the basic structure of the constitution.
Supremacy of the Constitution.

Separation of powers between the legislature, executive and judiciary.
Republic and democratic form of government.

Secular character of the constitution.

Federal character of the constitution.

Sovereignty and unity of India.

Freedom and dignity of the individual

Parliamentary System.

Mandate to make a welfare state.

India as a sovereign democratic republic.

Equality of status and opportunity of a person.

Secularism and freedom of conscience and religion.

Government of laws and not of men (i.e., rule of law)
Judicial review.

Free and fair elections which is inherent in democracy.

Limited power of the Parliament to amend the Constitution.

Harmony and balance between Fundamental Rights and Directive Principles.
Effective access to justice.

Welfare State (Social Justice)

Powers of the Supreme Court under Articles 32, 136, 141 and 142

Principle of equality

Independence of Judiciary.

Powers of the High Court under Articles 226 and 227.
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Limited power of the Parliament to amend the constitution
A republic and a democratic system.

Secular character of the constitution.

Maintenance of separation of powers.

Federal character of the constitution.

The mandate to build a welfare state enshrined in the Directive Principles of State Policy.
To maintain the unity and integrity of India.

Sovereignty of the country.

Sovereignty of India.

Democratic character of politics.

Unity of the country.

Essential features of individual liberty.

Mandate to make a welfare state.

A sovereign democratic republic.

Provision of social, economic and political justice.

Freedom of thought, expression, belief, faith and worship.
Equality of status and opportunity.

Q.44 Answer — (D)
Explanation -

The Council of Ministers is responsible to the Lok Sabha.

Parliamentary system is the democratic form of government of a state, in which the executive derives its
democratic legitimacy from, and is accountable to, the legislature (Parliament).

The executive becomes a part of the legislature. In India, to become a member of the executive one must be a
member of the parliament.

Q.45 The correct answer is (D)
Explanation - The Legislative Council is a permanent house in which the number of members of the Council shall not

exceed one-third of the strength of the State Legislature.

The Chairman of the Legislative Council is elected by the Council of Members and is not nominated by the Governor.

Q.46 Correct answer is (D)
Explanation -

The Supreme Court is the custodian of the Constitution of India.

It is the guardian of fundamental rights (Article 32).

It has the power of judicial review.

The Supreme Court is an interpreter and guardian of the Constitution.

Q 47. Correct answer is (C)
Explanation -

Panchayati Raj institutions are meant to promote grassroots democracy and development. Its objective is to
develop a system of democratic decentralization and people's participation to ensure rapid, speedy socio-
economic progress and provide adequate justice.

Political accountability can be achieved in any system with democratic governance. Hence statement 2 is wrong.

Q48. Correct Answer(B)
Explanation -
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¢ Bills pending in the Rajya Sabha which have not been passed by the Lok Sabha do not lapse on the dissolution of
the Lok Sabha. Hence, the statement is false.

e Parliament consists of Lok Sabha, Rajya Sabha and the President.

e A bill does not lapse when it is pending in the Rajya Sabha but not passed by the Lok Sabha. Hence statement 2
is correct.

Q.49 Correct answer is A
Explanation - NOTA started in India for the first time after an order given by the Supreme Court in 2013, it may be noted
that in the case of People's Union for Civil Liberties vs. Government of India, the Supreme Court ordered
that the option of NOTA is also available to the public for voting. To be done After this order, India became
the 14th country in the world to provide the option of negative voting. There is a pink button for NOTA
(NONE OF THE ABOVE-NOTA) in the EVM machine under NOTA. If the parties give wrong candidates, then
the public can register their protest against the parties by pressing the NOTA button.
e NOTA was introduced for the first time in 2013 in the five state assemblies held at that time. In the assembly
elections held in Delhi along with Chhattisgarh, Mizoram, Rajasthan and Madhya Pradesh, for the first time
people were given the option to reject all the candidates standing in the election.

Q.50 The correct answer is C
Explanation -
e The Election Commission was established in accordance with the Constitution on 25 January, 1950 (celebrated
as National Voters' Day). The Secretariat of the Commission is in New Delhi.
e It conducts elections to the Lok Sabha, Rajya Sabha, State Assemblies, President and Vice President in the
country.
¢ |t has nothing to do with elections to panchayats and municipalities in the states. For this, the Constitution of
India makes provision for a separate State Election Commission.

Q.51 Correct answer is B
Explanation -
e NPRis a database that contains the list of all the usual residents of the country.
e Usual resident for NPR is one who has resided in a local area for at least the last six months or intends to reside
in a particular place for the next six months.
e NPR was first prepared in the year 2010 and then updated in the year 2015.
e NPR has been prepared under the provisions of the Citizenship Act 1955 and the Citizenship (Registration of
Citizens and Issue of National Identity Cards) Rules, 2003.
e |tis mandatory for every "usual resident" of India to register in the NPR. Hence statement 2 and 3 are correct.

Q.52 Correct answer is A
Explanation -
e Right to privacy in respect of telephone tapping
e The recent Supreme Court judgment states that the right to privacy is an integral part of the right to life which is
enshrined under Article 21 of the Indian Constitution.
e Intercepting a person's telephone without any information is a violation of that person's right to privacy. But this
can be done by the government in some special circumstances.
e The government has been empowered to do so under section 5(2) of the Telegraph Act.
e According to section 5(2) of the Telegraph Act, if phone tapping is done in public interest or national interest
then it is not a violation of right to privacy.
¢ Phone tapping in India is governed by the Indian Telegraph Act, 1885.
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Q.53 Correct answer is B
Explanation -

It was appointed to examine the functioning of the Community Development Program and the National
Extension Service.

Rajasthan became the first state in India to accept the recommendations of the Balwant Rai Mehta Committee.
Due to the recommendation of this committee, the Panchayati Raj system was created.

In 1959, Rajasthan became the first state in India to introduce Panchayati Raj. It was inaugurated by the Prime
Minister on October 2, 1959 in Nagaur district of Rajasthan.

The Balwant Rai Mehta Committee was appointed by the Government of India on 16 January 1957 to inquire
into the working of the Community Development Programme.

The Community Development Program was formed in 1952 for the development of rural areas.

The program was developed to provide an administrative framework through which the government could
reach out to rural areas.

The committee submitted its report on 24 November 1957.

Recommendations of Balwant Rai Mehta Committee:—

1.

L 0 Nag, U

Establishment of a 3-tier Panchayati Raj system — Gram Panchayat at the village level, Panchayat Samiti at the
block level and Zilla Parishad at the district level.

The directly elected representatives will be constituted under the Gram Panchayat, while the indirectly elected
representatives will be constituted under the Panchayat Samiti and the Zilla Parishad.

All development plans should be entrusted to these bodies.

The Panchayat Samiti should be the managing body, while the Zila Parishad should be the advisory, co-
ordinating and subordinate body.

The District Collector should be the Chairman of the Zilla Parishad.

There should be a genuine transfer of power and responsibility to democratic bodies.

Adequate resources should be available for these democratic bodies.

A system should be evolved to result in further degradation of authority in future.

Elections should be held every 5 years.

Q.54 Correct answer is (D)

Explanation -

O 00 N O U b W N P

The power, rights and responsibilities of Panchayats are mentioned in the Eleventh Schedule of the Indian
Constitution. There are 29 subjects in this schedule.

A new Eleventh Schedule was added to the Indian Constitution by the 73rd Amendment in 1992.

Twenty nine subjects are listed in the Eleventh Schedule of the Constitution.

The 73rd Amendment Act is also known as the "Panchayati Raj Act".

The Panchayati Raj Act came into force on 24 April 1993.

The subjects included in the 11th schedule are:—

. Agriculture (includes agricultural extension).

. Land Development, Land Reforms Implementation, Consolidation and Land Conservation.
. Development of minor irrigation, water management and watershed area.

. Animal Husbandry, Dairy Industry and Poultry Farming.

. Fishing Industry.

. Social forestry and farm forestry.

. Minor Forest Produce.

. Small scale industries including food processing industries.

. Khadi, village industries and cottage industries.

10. Rural Housing.

11. Drinking water.
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12. Fuel and fodder.

13. Roads, culverts, bridges, ferries, waterways and other means of communication.
14. Rural electrification, including distribution of electricity.

15. Non-Conventional Energy Sources.

16. Poverty Alleviation Program.

17. Education, including primary and secondary schools.

18. Technical training and vocational education.

19. Adult and non-formal education.

20. Library.

21. Cultural Activities.

22. Markets and Fairs.

23. Health and Hygiene (Hospitals, Primary Health Centers and Dispensaries).

24. Family Welfare.

25. Women and Child Development.

26. Social welfare (welfare of handicapped and mentally retarded persons).

27. Welfare of weaker sections and in particular of Scheduled Castes and Scheduled Tribes.
28. Public Distribution System.

29. Maintenance of community assets.

Q.55 Correct answer is ( C)

Explanation - The powers and work of the Central Information Commission can be seen through the following points:

1. Related to information: The Commission is investigating a complaint by a person who has been unable to obtain
information, or has been denied information or has been given false or misleading information, or has made
unnecessary delays, Checks and resolves.

2. The Commission can on its own order order the investigation of cases having any solid basis.

3. Power of Civil Court:

(a) The Commission may issue summons (order) for the appearance of any person while inquiring into any matter.

(b) he may order him to produce evidence either orally or in writing on oath.

(c) The Commission can call for any document or evidence from any court, public office and examine it.

4. The public authority cannot refuse to present the public documents before the commission during the investigation
and the commission can ensure the compliance of the decisions of the public authority, receive reports, give directions
regarding the maintenance of records. |

5. He can also arrange for training regarding the right to information.

6. The Commission can order the public authority to pay compensation or impose a fine if the applicant does not provide
the information requested. He can also reject any petition.

7. The Central Information Commission functions as an independent body. It examines and redresses complaints and
appeals regarding offices, financial institutions and public sector undertakings etc. under the Central Government.

Q.56 Correct answer is (A)

Explanation.—The Commission shall perform all or any of the following functions, namely:—

e A) On its own initiative or on a petition presented by a victim or any person on his behalf, inquire into a complaint of-
e i) violation of human rights or incitement or

e ii) negligence in the prevention of such contravention, by a public servant;

® B) Intervene with the approval of such court in any proceedings relating to any allegation of violation of human rights
pending before any court;

® c) to visit, under intimation to the State Government, any prison or any other institution under the control of the State
Government where persons are detained for the purpose of treatment, reformation or protection, to study the living
conditions of the prisoners and to make recommendations; taken or placed in on that;

15



e D) review the safeguards provided for or under the Constitution or any law for the protection of human rights and
recommend measures for their effective implementation;

e E) review the factors, including acts of terrorism, that impede the enjoyment of human rights and recommend
appropriate remedial measures;

e f) study treaties and other international instruments on human rights and make recommendations for their effective
implementation;

® G) to conduct and promote research in the field of human rights;

® H) To spread human rights literacy among various sections of the society and to promote awareness about the
safeguards available for the protection of these rights through publications, media, seminars and other available means;
® |) encourage the efforts of non-governmental organizations and institutions working in the field of human rights;

e J) such other functions as it may consider necessary for the promotion of human rights.

e Functions assigned to the commission under the act

e K) It is not empowered to take action against the culprits of violation of human rights and no commission can provide
assistance (financial assistance) to any victim. The recommendations of the commission are not binding on the
concerned government or officials but the action taken on its advice has to be informed to the commission within one
month.

Q.57 Correct answer is (D)
Explanation -

1. Union Public Service Commission (UPSC), National Scheduled Castes Commission (NSCC) and Central Vigilance
Commission (CVC) send their reports to the President and the President places these reports on the table of the
Parliament.

2. The National Human Rights Commission sends its report to the Central Government and the respective State
Governments.

3. The Central Information Commission submits its annual report to the Central Government and the Central
Government places this report on the table of both the Houses of the Parliament.

Q.58. Correct Answer (A)
Explanation -

e Article 137 of the Constitution of India, 1950 provides that subject to the provisions of any law and rules made
under Article 145, the Supreme Court has the power to review any judgment pronounced or order made by it .

e As per Article 128 of the Constitution of India, the Chief Justice of India may at any time request a retired Judge
of the Supreme Court or a retired Judge of a High Court (who is duly qualified for appointment as a Judge of the
Supreme Court) . To act as a judge of the Supreme Court for a temporary period. He can do so only with the
prior consent of the President and the person so appointed. Hence statement 1 is correct.

e Forms of Court of Record In India, the High Court can review its decisions under Article 226 of the Constitution.
Statement 2 is not correct.

e The Kerala High Court has reiterated the legal proposition that High Courts as courts of record can review their
orders.

e A division bench of Chief Justice S Manikumar and Shaji P Chali was faced with an appeal against a review
petition.

e |t is the highest judicial court and under the Constitution of India, the Supreme Constitutional Court is the final
court of appeal with the power of judicial review.

e India is a federal state and has a single and unified judicial system with a three-tier structure, viz., Supreme
Court, High Courts and Subordinate Courts.

e The Constitution of India provides for the provision of the Supreme Court under Part V (Union) and Chapter VI
(Union Judiciary).
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e Articles 124 to 147 in Part V of the Constitution deal with the organisation, independence, jurisdiction, powers
and procedures of the Supreme Court.

e The Constitution of India under Article 124(1) states that there shall be a Supreme Court of India consisting of a
Chief Justice of India (CJI) and until the Parliament by law determines a greater number of seven other judges .

e The jurisdiction of the Supreme Court of India can be broadly classified into original jurisdiction, appellate
jurisdiction and advisory jurisdiction. However, the Supreme Court has many other powers as well.

e The Supreme Court is a federal court, the highest court of appeal, the guarantor of the fundamental rights of
citizens and the guardian of the Constitution.

Q.59 Correct answer is (B)

Explanation — Hari Singh Godara of Sanghar village of Suratgarh tehsil of Ganganagar district of Rajasthan has been
awarded 'Gopal Ratna Award' (incentive amount of 3 lakhs) for his excellent performance in artificial
insemination work.

Q.60 The correct answer is (B).

Explanation — Deputy Superintendent of Police Omprakash Mitharwal (Shooting) and Sub-Inspector Sakshi Kumari
(Kabaddi) were announced to be given the 'Arjuna Award' on 14 November 2022 by the Union Ministry of
Sports and Youth Affairs.

Arjuna Award

It was started in the year 1961. Dedicated to sports personalities for their excellence in sports, this award is the second

most prestigious award after Khel Ratna. The award is given for outstanding performance, leadership quality,

sportsmanship and discipline.

Q.61 Correct answer is (A)
Explanation — From December 1, 2022, India has become the chairman of G-20. Under this, former Rajasthan Finance
Commission chief Dr. Jyoti Kiran Shukla has been included in the W-20 group.

Q.62 Correct answer is (B)
Explanation — Jaipur's Naveta Dam and Kanota Dam, Bharatpur Dam Baretha Dam, Jodhpur's Kaylana and Surpura Dam,
Pali's Hemawas Dam, Jhunjhunu's Kot Dam (in Udaipurvati) etc. will be developed as 'Eco Adventure Tourism Site'

Q.63 Correct answer is (B)

Explanation: The formation of Government Rajasthan Logistic Services Delivery Corporation (RLSDC) was announced on
the lines of REXCO, ending the practice of taking contract workers on contract to free them from
exploitation through Placement Agencies. January 1, Contract workers working before 2021 will be able to
get full wages without any deduction by taking them directly as per requirement through the newly formed
government company.

Q.64 Correct answer is (A)
Explanation — In the financial year 2023-24, the fiscal deficit has been estimated to be 62,771.92 crore (3.98%), while
last time it was 4.36%.

Q.65 Correct answer is (B)
Explanation- Under 'Chiranjeevi Shramik Sambal Yojana', registered laborers and street vendors of 25 to 60 years will be

provided assistance of @ 200 per day for 7 days through Auto DBT during hospitalization.

Q.66 Correct answer is (A)

17



Explanation: The 400th birth anniversary of famous war hero Ahom Senapati Lachit Barphukan of Assam was celebrated
recently. Hence statement 2 is correct.

Lachit Barphukan was the famous general of the Ahom army, who defeated the Mughals and checked the growing

ambitions of Aurangzeb. Hence statement 1 and 3 are not correct.

The Prime Minister called Lachit Borphukan, the commander of the Ahom Kingdom, a "symbol of the self-reliant army"

of India.

Q.67 Correct answer is (C)

Explanation: The Australian Parliament has approved the Free Trade Agreement (AI-ECTA) between India and Australia.
The agreement (AI-ECTA) was signed by both the countries on April 2, 2022. It will boost India's exports in
the textiles, leather, gems and jewelery sector.

Q.68 Correct answer is (D)
Explanation: The 22nd FIFA Football World Cup 2022 was inaugurated on 20 November in Doha, the capital of Qatar.
The opening ceremony was held at Al-Bayat Stadium in Al-Khor. The official opening of the World Cup was held by Emir
of Qatar Sheikh Tamim bin Hamad Al-Thani.
Key Points of FIFA World Cup 2022:

e Golden Boot - Kylian Mbappe

¢ Golden Glove - Emiliano Martinez

e Golden Ball - Lionel Messi

e Young player - Enzo Fernandez

e FIFA Fair Play Award - England

¢ The official mascot is 'La'eeb’.

¢ In Arabic, 'Laib' means 'super-skilled player'.

Q.69.The correct answer is (B).

Explanation: India assumed the presidency of the Global Partnership on Artificial Intelligence (GPAI) from November 21.
Rajeev Chandra Shekhar, Minister of State for Electronics and Information Technology, GPA in Tokyo |
symbolically received the chairmanship reins from France in the meeting. India has been given the
chairmanship of GPAI for 2022-23.

GPAI (Global Partnership on Artificial Intelligence)

It is an organization of 25 countries. India joined GPAl in the year 2020 as a founding member.

Currently, GPAI has twenty-five member states: Australia, Belgium, Brazil, Canada, Czech Republic, Denmark, France,

Germany, India, Ireland, Israel, Italy, Japan, Mexico, Netherlands, New Zealand, Poland, Republic of Korea (South Korea

), Singapore, Slovenia, Spain, Sweden, the United Kingdom, the United States and the European Union (EU).

Q.70 The correct answer is (C).
Explanation: Anwar lbrahim was sworn in as the 10th Prime Minister of Malaysia on 24 November. Anwar Ibrahim has
been the Deputy Prime Minister of Malaysia in the 1990s.

Q.71 The correct answer is (B).

Explanation: England has become the winner of T-Twenty Cricket World Cup 2022. He defeated Pakistan by five wickets
in the final match played in Melbourne on 13 November. England's Sam Karan was awarded 'Player of the
Match' and ' Was declared Player of the Series.

England has created history by winning this World Cup for the second time. Only West Indies and England have won the

T20 World Cup twice.

8th ICC Men's World Cup 2022
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e Australia, New Zealand, England, South Africa, India, Bangladesh, Pakistan and Afghanistan automatically
qualified for the Super 12.

e Virat Kohli was the highest run-scorer in the tournament with 296 runs in six innings. Virat Kohli also broke Sri
Lankan player Mahela Jayawardene's record for most runs in T20 World Cup.

Q.72 The correct answer is D.

Explanation: India's first private rocket Vikram-S took off successfully on November 19 and placed three satellites in
their orbit. This launch was done from Satish Dhawan Space Center in Sri Harikota. With this, the entry of the private
sector into the country's space programs began. That is why, the mission has been named 'Prarambh’.

Q.73 Correct answer is (B)
Explanation:

e The contribution of agriculture at constant prices is 28.50 percent, while the contribution of agriculture (which
includes crops, animal husbandry, forestry and fisheries) sector at current prices is expected to be 28.95 percent
in the year 2022-23.

e The industry sector, which includes mining, manufacturing, electricity, gas and water supply and remedial
services and construction sector, is expected to contribute 27.31 per cent to the gross state value addition in the
year 2022-23 at prevailing prices.

e At prevailing prices, the services sector, which includes trade, hotels and restaurants, transport, storage and
communication, financial services, real estate, home ownership, professional services, public administration,
railways and other services, its conurbation is expected to be 43.74% in 2022-23.

Q.74 Correct answer is (C)
Explanation: On the basis of climate, Rajasthan has been divided into 10 agro-climatic zones.

Q.75 Correct answer is (B)

Explanation: Shri Ashok Gehlot, Hon'ble Chief Minister, Government of Rajasthan, with the resolution of “Nobody sleeps
hungry”, the Indira Rasoi Yojana was launched from 20 August 2020 through 358 kitchens in all 213 urban
bodies of the state.

In the budget announcement, the number of kitchens has been increased from 1000 to 2000 in the year 2023-24.

Q.76 Correct answer is (C)
Explanation: Statement 1 is correct and statement 2 and 3 are incorrect.
The resolution in Statement 3 requires a simple majority of all the members then present.

Q.77 Correct answer is (A)

Explanation: Statements 3 and 4 are correct and statements 1 and 2 are incorrect.

Because the constitution says that the state shall not have a close relationship with religion and the state cannot
discriminate between religions

Q.78 Answer (B)

Explanation: Statements 2, 4 and 5 are correct.

Statements 1 and 3 are incorrect, the Constitution does not specify the Basic Structure of the Constitution and the
Judiciary has never defined the Basic Structure of the Constitution.

Q.79 Correct answer is (C)
Explanation: Such electorate, judiciary and Governor are not involved in the amendment of the constitution of India.

19



Q.80 Correct answer is (A)

Explanation: Because the power to amend the constitution rests only with the Parliament and with the State
Legislatures. This power of the Parliament is not absolute. The Supreme Court has the power to declare invalid any law
which it finds unconstitutional.

Q.81 Correct answer is (C)
Explanation: Statement 3 is incorrect.
Because under Article 222, the President can transfer the judges of the High Court.

Q.82 Correct answer is (C)

Explanation: Statement 1 is wrong, the framers of the constitution knew about the progress in the society of the nation
so they initiated the process of amendment in the constitution. they never believed that there can be no fault in the
constitution.

Statements 2 and 3 are correct.

Q.83 Correct answer is (D)
Explanation:

List-I List-11

(i) Citizenship Clause A. Simple Majority

(ii) Right to freedom of religion | B. Special majority

(iii) Changes in the 7th|C. Special majority with

Schedule ratification of half the states
(iv) Change in the boundary of | A. Simple majority
a state

Q.84 Correct answer is (B)

Explanation:

1. The Vice-President is elected by an electoral college consisting of members of both Houses of Parliament, in
accordance with the system of proportional representation by means of the single transferable vote and voting at such
election is by secret ballot. All the members of both the houses of parliament in the electoral college that elects a person
to the office of vice-president.

Q.85 Correct answer is (D)
Explanation: DPSP refer to Article 36 to 51 of the Constitution.

Q.86 Correct answer is (B)
Explanation:
e According to this principle, the Chief Justice of India is appointed by the senior most judge of the Supreme Court.
e The principle is an unwritten rule known in legal, intellectual and judicial circles as the "seniority principle". Its
goal is to protect the independence of the judiciary from political interference.
e This principle was introduced by Prime Minister Jawaharlal Nehru in Justice M.C. Chagla was the Chief Justice of
India, a former Chief Justice of the Bombay High Court following the death of HJ Kania, the first Chief Justice of
India.
e However, this principle has been overridden many times.
e For example: The Indira Gandhi government appointed Justice A.N. In 1973, Ray succeeded Justice Shelat, the
most senior judge of the Court, as well as two other judges who had been criticized as Chief Justice of India.
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Q.87 Correct answer is (C)

Explanation: Both the statements are correct,

In the LIC of India case (1995), the Supreme Court held that the Preamble is an integral part of the Constitution, but it is
not justifiable and its provisions cannot be legally enforced in the courts. The Supreme Court has held that the Preamble
can be treated as a legal interpretation of the Constitution. Hence option (c) is correct

Q.88 Correct answer is (A)
Explanation: Only statement (1) is correct
Supreme Court has given only examples but has not defined basic structure so statement 2 is wrong.

Q.89 Correct answer is (B)
Explanation: Statement 1 is incorrect
Because the executive is not appointed by the Parliament. other statements are correct

Q.90 Correct answer is (A)
Explanation:
A. Sovereign 2. The people have the supreme right to decide.
B. Republic 3. The head of the state is an elected person.
C. Fraternity 4. People should live like brothers and sisters.
D. Secular 1. The government will not take sides of any religion

Q.91 Correct answer is (D)

Explanation: Both the statements are wrong

Because - 1. An ordinary bill need not be passed in the same session to become a law.

2. In case of difference of opinion between the two Houses, there is a provision for joint sitting by the President. Hence
option (D) is correct

Q.92 Correct answer is (C)
Explanation: Statement 1 and 3 are correct and statement 2 is incorrect.
Rajya Sabha has to send a money bill within 14 days, hence the answer is option (C).

Q.93 Correct answer is (A)

Explanation: Statement 1 is true and statement 2 is false because

1. A High Court Judge is removed by the President on the recommendation of the CJI

2. An impeachment motion must be passed by an absolute majority to remove a Supreme Court judge.

Q.94 Correct answer is (D)

Explanation: Statement 2 and 3 are correct and 1 is incorrect.

Because the Lok Sabha cannot initiate a resolution to empower Parliament to legislate in the State List for the
establishment of one or more All India Services, this power rests only with the Rajya Sabha.

Q.95 Correct answer is (C)
Explanation: All the statements are correct.

Q.96 Correct answer is (D)
Explanation: Both the statements are wrong
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Because in statement 1, the Panchayat works under the supervision of the Gram Sabha. 2. Only the voters are the
members of the Gram Sabha and not the people of the village, hence the correct answer is (D)

Q.97 Correct answer is (C)
Explanation: Agriculture and Irrigation come under the State List, Defense and Communications are in the Union List.
Hence, option (C) is correct.

Q.98 Correct answer is (A)

Explanation: Statement 1 is correct as per article 25.

Statement 2 is wrong, the state can interfere in the matters of religion under any circumstances, hence option (A) is
correct.

Q.99 Correct answer is (C)

Explanation: Other options are incorrect.

Because the Prime Minister has complete discretion in the matter of appointment of Cabinet Ministers, provided that
the person selected becomes a Member of Parliament within a period of 6 months from the date of appointment as per
Article 75(5), if not a Member of Parliament at present.

Q.100 Correct answer is (A)
Explanation: Only statement 1 is wrong and other statements are correct.
Because not every law passed by the Parliament needs the approval of the Supreme Court of India.

Q.101 Correct answer is (D)
Explanation:
e If the party wins at least 2% of the seats in the Lok Sabha (lower house of parliament) from at least three
different states in the general election.
e |If the party secures at least 6% of the total valid votes polled in any four or more states in a general election to
the Lok Sabha or the Legislative Assembly.
e |f the party is recognized as a state party in at least four states.
e Hence both the statements are wrong.

Q.102 Answer (D)
Explanation:
* Elected members of both the Houses of Parliament.
e Elected members of state assemblies.
e Elected members of the Legislative Assemblies of Delhi and Puducherry.
e Jammu and Kashmir has not been included.
¢ Hence both the options are wrong.

Q.103 Correct answer is (A)

Explanation:

Statement 1 is correct, Statement 2 is incorrect, If the motion against the Prime Minister is passed, the entire CoM will
have to resign.

Q.104 Correct answer is (C)
Explanation: Statement 2 and 3 are correct and statement 1 is incorrect.
Because the Council of Ministers (CoM) is responsible only to the House of the People/Lok Sabha.
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Q.105 Correct answer is (B)
Explanation: Niti Aayog was established in 2015 by the NDA government to replace the Planning Commission, which
followed a top down model.

Q.106 Correct answer is (A)
Explanation: The CVC was set up on the recommendation of the Santhanam Committee Report (1962-1964) institutions
as a measure to prevent corruption and improve efficiency in public services.

Q.107 Correct answer is (C)
Explanation: CIC is a statutory body, established in 2005 under the Right to Information Act, and comes under the
Ministry of Personnel.

Q.108 Correct answer is (B)
Explanation: The first coalition government in India was formed between March 1977 and June 1979 under the
leadership of Morarji Desai.

Q.109 Correct answer is (B)

Explanation: The Constitution of India (Article 148) provides for an independent office of the Comptroller and Auditor
General (CAG) of India. He is the head of the Indian Audit and Accounts Department. He is the custodian of
public money and controls the entire financial system of the country at both the central and state levels. His
duty is to uphold the Constitution of India and the laws of Parliament in the field of financial administration.

Q.110 Correct answer is (d)
Explanation: The Comptroller and Auditor General after ceasing to hold office shall not be eligible for any other office
either under the Government of India or under the Government of any State.

Q.111 Correct answer is (A)
Explanation: The governor of the state appoints the Lokayukta and the UP-Lokayukta.

Q.112 Correct answer is (B)
Explanation: 1976 fundamental duties were included through 42nd CAA.

Q.113 Correct answer is (A)
Explanation: Rights and duties are closely related and cannot be separated from each other. Hence option 1 is correct.
One cannot enjoy rights if others do not perform their duties.

Q.114 Correct answer is (C)
Explanation: The Supreme Court is called the guardian of the constitution as it protects the fundamental rights of the
citizens from being violated by any organ of the government.

Q.115 Correct answer is (C)
Explanation: Right to property ceased to be a fundamental right with the 44th C.A.A. In 1978. It was made a
constitutional right under Article 300A.

Q.116 Correct answer is (D)

Explanation: Article 20(1) = Post facto law
Article 20(2) = Double Jeopardy

Article 20(3) = Right against self incrimination
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Q.117 Correct answer is (B)
Explanation: Steering Committee = Dr. Rajendra Prasad
Drafting Committee = Dr. B.R. Ambedkar

Q.118 Correct answer is (D)
Explanation: As per Article 17, untouchability is abolished and its practice in any form is prohibited.

Q.119 Correct answer is (A)

Explanation: Article - 17 = Abolishes untouchability
Article - 18 = Abolishes the titles

they provide social equality

Q.120 Correct answer is (B)
Explanation: Bommai Case V. Union of India 1994, Justice Sawant and Kuldeep Singh said that federalism and secularism
were an essential feature of our constitution.

Q.121 Correct answer is (B)
Explanation: The Government of India Act 1935 was based on the Simon Commission and the principle of federation and
parliamentary system

Q.122 Correct answer is (B)
Explanation: Gram Sabha is not entitled to audit and maintain accounts of Panchayat under PESA so statement 4 is
wrong and other statements are correct.

Q.123 Correct answer is (C)
Explanation: The oath is administered to the PM by the President of India as per the third schedule of India.

Q.124 Correct answer is (A)
Explanation: Right to liberty guarantees the citizens the freedom to lead a dignified life among other things. These are
given in Articles 19, 20, 21A and 22 of the Constitution.

Q.125 Correct answer is (B)
Explanation: The detention of a person cannot exceed 3 months, a limit which can be changed by the Parliament.

Q.126 Correct answer is (C)
Explanation: Under Article 32 for the Supreme Court and Article 226 for the High Court, a person can approach the
Supreme Court and the High Court to protect his fundamental rights.

Q.127 Correct Answer - B

Explanation - The first war exercise between the armies of Australia and India 'Austra-Hind-2022' (Austra Hind-2022)
was organized from 28 November to 11 December 2022 at Mahajan Field Firing Range, Lunkaransar,
Bikaner. In future it will be held alternately in India and Australia every year.

Q.128 Correct answer - C

Explanation - This scheme was launched on August 01, 2021. Hence statement 1 is correct.

Under this scheme, two plants each of Tulsi, Giloy, Ashwagandha and Kalmegh will be distributed door-to-door to every
family in the state. Hence statement 2 is correct.
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Q.129 Correct answer is (C)

Explanation: On 17 December 2019, Rajasthan Chief Minister Ashok Gehlot launched the Rajasthan Agro-Processing,
Agri-Business and Agri-Export Promotion Policy 2019 to encourage agro-processing and agri-exports in the
state and increase farmers' income. The policy seeks to make Rajasthan a production and supply hub for
processed agricultural products and a preferred destination for investors, processors and exporters.

Q.130 Correct answer is (B)
Explanation:

LAND UTILISATION

The total reporting area of the State is 342.89 lakh
hectare during the year 2020-21. Out of this, 8.08 per
cent is under forests (27.72 lakh hectare), 5.86 per
cent area is under non-agriculture use (20.10 lakh
hectare), 6.91 per cent under barren and uncultivable
land (23.67 lakh hectare), 4.86 per cent under

hectare), 0.09 per cent land under miscellaneous tree
crops and groves (0.30 lakh hectare), 10.87 per cent
under culturable waste land (37.27 lakh hectare), 6.10
per cent under fallow land other than current fallow
(20.93 lakh hectare), 4.89 per cent under current
fallow (16.75 lakh hectare) and 52.34 per cent area is
under net area sown (179.48 lakh hectare) as shown in

- figure2.7.
permanent pastures & other grazing lands (16.67 lakh

Figure: 2.7

Land Use Statistics 2020-21

Forest
Area Under Non Agriculture uses
Barren & Unculturable land

Parmanent Pasture & other grazing
lands
Land under miscellaneous tree crops
and groves

= Culturable Waste Land

» Fallow Lands other than current
Fallow
» Current Fallow

= Net Area Sown

Q.131 Correct answer is (C)

Explanation: The statement emphasizes on 'significant changes in the teaching system'. That is, it is clear that there is a
need for change in the education system. At the same time, the present system is inconsistent with the
national requirement, so a new education policy is being considered, so that the national requirement can
be met.

Q.132 Correct answer is (C)

Explanation: A successful person does not need to judge others because he himself has the ability to judge himself
correctly. That is, assumption (l) is correct. At the same time, the one who tests correctly cannot take a
wrong decision. That is, assumption (ll) is also correct.

Q.133 Correct answer is (A)

Explanation: Assumption (1) is clearly implicit in the statement. Since newspapers are meant to be read, everyone likes
to read them. The emphasis is on 'read' in the statement. Whereas in Assumption () it is broadened by
saying 'every person' because it is not necessary that every person likes to read newspaper. Hence,
assumption (l1) is false.

Q.134 Correct answer is (D)

Explanation: Both the assumptions (I) and (Il) are wrong. Since there is no increase or decrease in health by not smoking
cigarettes, this statement has nothing to do with it. Also, any warning is given only when its need is felt, that
is, according to assumption (ll) there is no need for this warning in reality, it is a completely wrong
assumption.
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Q.135 Correct answer is (B)

Explanation: Whether people want to reach the pinnacle of success or not is not clear from the statement, but, 'You
cannot reach the pinnacle of success in one night' - this confirms the implication that to reach the pinnacle
of success It requires tireless effort. That is, it is not possible in a single night.

Q.136 Correct answer is (B)

Explanation: According to the statement, the top 10 percent of the households have 35 percent of the national income,
that is, the remaining 90 percent have only 65 percent of the national income. It is quite clear from this that
the distribution of national income in India is not equal.

Q.137 Correct answer is (C)

Explanation: According to the saying, one cannot do without a camel to go from one place to another in the desert. It is
clear from this that camel is the only means of transport in the desert. Since this is the only resource, it will
definitely be in excess in the desert and if there is excess, then it is natural for the demand to decrease.
Which confirms that this is the only cheap means of transport.

Q.138 Correct answer is (B)
Explanation: The old system changes and the new system takes its place. That is, any system is subject to change. That
is, change is the law of nature.

Q.139 Correct answer is (A)

Explanation: Newspaper should be given importance in the form of entertainment in addition to education. It is clear
from the point of view that people do not consider newspapers from the point of view of entertainment,
that is, people buy newspapers from the point of view of education.

Q.140 Correct answer is (C)

Explanation: Use of extra-terrestrial sources of energy will eliminate the lack of energy, it means that extraterrestrial
sources are being used in place of cosmic sources to eliminate the lack of energy. That is, the supernatural
source is taking the place of the cosmic source. At the same time, the emphasis is on non-terrestrial sources
in the statement, that is, that the cosmic resources are being depleted, that is, the environment has been
over-exploited. Because cosmic sources of energy exist only in the environment.

Q.141 Correct answer is (B)

Explanation: Bone fluorosis is caused by consumption of excess fluoride water. Hence, action 'l' is absolutely
inconsistent. While treating with tartaric acid and calcium, the amount of fluoride becomes minimum,
which is not harmful in any way.

Q.142 Correct answer is (C)

Explanation: If the government purchases potatoes through Nafed (National Marketing Board), then the potato growers
will get a fair price. At the same time, due to the lack of arrangement for the storage of potatoes, the
producers have been forced to sell potatoes at the cost of the soil, because of which they will be destroyed
due to lack of storage. But with the arrangement of cold storage, this problem will be solved easily.

Q.143 Correct answer is (C)

Explanation: Since malaria is transmitted by mosquitoes and mosquitoes spread through dirt. Therefore, if cleaning
arrangements are made and D.D.T. If sprayed, mosquitoes will end, which can definitely solve malaria, as
well as if people use safeguards (mosquito nets), then there will be no possibility of mosquito bites and
thus prevent the spread of malaria. May go.
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Q.144 Correct answer is (D)

Explanation: Adequate number of government schools are mentioned in the statement. Therefore, there is no meaning
for the government to open more and more schools. But the problem is that the number of convent
schools is increasing day by day in spite of having sufficient number of government schools. This means
that there is no proper system of education in government schools. Therefore, in this situation, there is no
justification for the government to ban convent schools, because the government itself is responsible for
this.

Q.145 Correct answer is (B)

Explanation: The employees of Rajasthan Transport Corporation are not getting salary for the last two years which
shows departmental inefficiency as well as inefficiency of the government. Therefore, to solve this
problem, privatizing the road transport corporation would be the right step for the government because
experience shows that private sector undertakings have tighter and better management than government
sector undertakings.

Q.146 Correct answer is (B)

Explanation: This is also according to the above rule. According to the rules of inference both conclusions (1) and (ll) are
invalid, while according to the rules of inference conclusion () is a valid translation of the first statement
'Some flowers are trees'.

Q.147 Correct answer is (D)
Explanation: When the first statement is 'Universal Affirmative' and the second

Q.148 Correct answer is (A)

Explanation: According to the rules of the above question, in this also, according to the rules of justice, both the
conclusions are illegal. Whereas from the point of view of inference, conclusion (1) 'Some clouds are birds' is
a valid version of the first statement.

Q.149 Correct answer is (D)
Explanation: In the above question both the conclusions logically do not follow.

Q.150 Correct answer is (A)

Explanation: When the middle term is absent, then according to the rules of justice, no valid conclusion can be drawn,
here both the conclusions are illegal according to the rules of justice. Whereas, according to the law of
inference, conclusion (1) 'Some fools are doctors' is a valid translation of the first statement.

YAk
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TR R & forg feeme fovan man g
- Ahe BT IUAN T DI g T 48 ¥ 145 fobtll SR IUBRUN DI Al B & foIQ fopam S B
. U8 AIFET IMhe MRS A2 !-3Ur o7 - foR’ 1963 | di= fooam Tam 1|
. T T 1967 H U1 FREFET b - Aol 3REa-75 @i faa|
<ifgoft
. Afeoft, A fagme iR argHeea Siegga & foe, YR Sidfver s Te @R gR1 fasiid
TS pe Bt U 4Tl
. YIRS APBe 100 T 500 frardter Bt Hams d® 2 T 200 fFaUH dF & Uais o I & A Bl
« T AU H RH-200, RH-300, RH-300 Mk-II, RH-560 Mk-II 3fR RH-560 Mk-IIl (e BT STINT
FAT &, S YIS B YT SHTIRTd Adbe Al=iT (TERLS) 3R digReier & Tdfier yae siafe o 9
i fol oITdl 5|

Q.9 TE I (A) B
(i) Tt 4T 9 99 e Il - O.8d. Jge
(i) TiciTa dfaem 9ffd - ReR ued
(i) 4T & T IR - SaeRard A8
(iv) TfeTep SITIPR, SeIRRETD! g TSI 9T Siethd &3 & ot JegdR AT - WER ued

Q.10 g IW (B) Bl
26 AR, 1949 B AN, TG, dd TG SRR g URad-=id 99 3 3= 3w 5, 6, 7, 8, 9, 60
(RTSCUf U), 324, 366, 367, 379, 380, 388, 391, 392 d 393 Wd: &1 ANLEI T 3fd; HYUF 1, 3 3R 4 gl

gl

Q.11 T IW (C) Bl
RO TG T TRBR Bt RITGTT BT § adT 30 U1 A0 fIe@H § S:- & WRbR, Wfeaal o
fayrom, fafad dfaur, dfaur o Tafadar Ty @ HaRdr, Wdad R 9 fgge-adr anfe|
o TUH THIAD 3R IR-YET &0l Ht fGmm § SIN:- Th T=Iad $hg, U AAe™, Thd ANTRa,
A DT A, Thldd A—UIID], b gRT Isguld & (Agfad, sied YR dar,
SMATAHTC WaUT 3G |

Q.12 T IW (D) Bl
o HRA TfFer o1 ard st TfFer 26 Sast 1950 B TR g, 39 Jfae 4 7
o T dfay™ @ faRivdrst & Je9 w1 9 forfad dfaum, faft= endl 9 fafgq, 7=ar 9 sH=Idr &1
JHY, THTHDBA I 3R FbId & I Yd1d YaRYT, WHR 1 IS W, YI HUYdl d




A% gafeadl ® qHg, Tdhipd d Wad Ui, At fieR, Hfa-Fdwe g,
erifRUe Wy, IR o0 AAIfiBR d Uhd AN, STUTaeHTe- URaUT & |
o TSI Faioy, yHRUe Tsg, FHRAT TWHR I1¢ H SIS T 3fd: HYF 1, 3 3R 4 TEI B

Q.13 & IR (B) B

RSAT:- Saarg URac ¥ Hefd 2737 fRReR THe (@19-27) 6 ¥ 18 FdaR de [0 & XH 3d-Rrg T {riford
o TR 71 9 9N (2022) T SIS O BT SreaerdT & foban 7 oT| 3fd: HUH 1 Tgt g
Yiaw & gE & fEaTe daial o1 9g™ & e gaiT $f 9g1aT ¢ & g WA $iR ITa 7 dgaa
¥U T IDRA (International Drought Resilience Alliance — IDRA) qi= fhar13a: HUY= 2 '\‘T{ﬁ%l
THiaRYl, a9 3R Sraarg uRad= @ Yo ared A URd wfafRfmued &1 A o uTisme: &3 3
SHEE

copnﬁwﬂmq%ﬁq%mﬂ@mﬁyﬁr@amwﬁwmﬁﬁ
Wﬂgmqﬁﬂ?ﬁw COP-27 7 HHUR <=M P! AN TS SH' (Loss and damage fund)
% dgd faTaNr YeH B & ol U JHe IR gxer fohd |
cop-27 ® fammasita <=1 & Serarg Wienfitest JHTUMT &1 Serdl & & ol T a1 Uaauig HrisH
= fobar T AT

. I HE@THiE AR et &) dahId SoM & IR0 ¥ Udh WA HIwH YR (61 T § | earded
2 &, SrdwH cop-27 & A a1 Y& BN 3R a¥ 2030 dF SRY X7, o ufday #49-3- 1 af
afyye Hare g

- g Y S URadH FEe cop-27 H UfafAfal 7 iy gHehd & dgd Heaidbial e & ford
Ugdl df¥e W (st Global stocktake) 1 GURI AT dTdl Bi | AT AT COP-28 H Tdhed &
YA § Ugd a9 2023 H S Y AN Sdrg HedTbial RRR e Smiford H4|

. H-3T-UG G ToisT & dad a8 2030 d@ Jau Y% Siaarg Jde-I=ia THard! H ¥g+ aTd 4
3R AT & ford TTteTu=T sIgT 8 30 3% TR &1 ST R BT 7

. TaRg URaad IHRT R FUIGd SETel GF & U B 9d & Agd P Udfafad d 8g o
3IHT R T Ugd TR HAdTs! (AWARe) BRIHH Y= a1 T 3|
PHTe hige IATE & [ABT 3 Ud 3MPIHT H ASHIR & SaIR U1 HRA g 3MPId! BIe- dToR Ugd
(ACMI) & &1 Tt ]

. Y BN TeERA foRId d8d U IR U GRd FHoll GshHU AR & & ol St
Iopaur & ford snaxgss Tt oI &1 Uh WY AHR AT 81 Sl 3Herd Holl bl Idd e 3R
3 faPmr & WY & U & RIS HR T |

mwmmuﬂaﬁqﬁﬁuﬁ%ﬁmm@mﬁm&m%
COP-26 & dgd UUTFHAT gRI f&d 7T "amd gce' |

- Se7arg UREd UR ST 1 IS, 2008 (NAPCC) |

. Targ gRac WR I B ST (SAPCC)

. Tl'gl'q WW (National Adaptation Fund)|
i IR Toe |

. OfT gEEia & ufa ufdesdn|

SR BRHES EERCT (RN

- P UL Ua il Hifd S|

Q.14 W& IR (B) Bl
HHIG oM YR Afae &t YR faivan
1. T fern o Ul gt
« SR, IOy 3R JHNTH Bt
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10.

NICIG

gifdad I9
(USSR)
(3{d, =¥)

ESy

BT qRIANT
= |l GﬁT oo Y[y
& Tt &l ger T
JUTE BT Ug

USRI P SR Hiferd
SHYBRY &1 e

YR Tfay™ | I=ed
CaARCIER]
TG & F&-! DT AT

0T
URdTaT H Tadad], HMT 3R

§ted & 3




Q15 WEIITR (B) Bl

TR - T JUT BT T3 BHio-ie =M & i fasa 11 7 =M 24 71, 1946 P fawdt ugan 9T 16 T,
1946 T 3T TSI UK Bt | WA THT B! U 96 9 fETaR, 1946 I g5 | Hige A= o
RGNS & SR Hfae™ T &1 fHafem uidl &1 f[aumayTen & Tawd 9uT Uidl &1 S & S0Td

& YR R TP Ufafa grRi foar s

Q.16 T IW (D) Bl

TR - HAHSE YRG! A1E P TR YRATGHT FIFEUT BT U & U1 WIAUH P 37 HIT F 31T 39 fafdres =y
J Ty # yafdd T8l fpar S gobdT § A Ut | fAfgd vl &) |fdem™ & 3 Wi & A1eqH

Y fafties U guTIEt ST off IhdT B

Q17T (A) T |

TR AP TN 1 TdeR DI He U, plch, UoTd, Bd, BRATUN, 31y TR 3R ST U R0 fgaq

TS €. 37 Qoft I BT 6 1 R BT & g1 Ul

YR I8} & W19 feaq @t =t Fafafaa @

N YT fead CRicd a¥

- 3ty TR feay - 1956
RUMEAUSY | SPUMEA US| 20 TRas 1987

feag

3Tq 3Y faaq 2 liusR 1928
fagR fogR feaq 22 A 1912
- SuG fgag F 2000
mar ar fgag 30 1987
ORI ToRTd feaa 103 1960

g fag

1966

ferra uew

IREIECREE!
IGGR

15

1948

IRES feag

15 FJdeR

2000

Hlcd AU

1956

I fead

7Y Yo fgaq

1956

HERTY fdaq

1960




AR AR fead 21 SRt 1972
B EEIRCACER]

[BEIR] ooy faaw 20 TREX 1987
SIS armeis feaw | 1 fadsR 1963
IS feen feag 1 30d 1936
LRI PEIEACER] ECEN 1966
TSR oM fdad | 30 W/ 1949
Rifdwa Rfdpafcad |16 W8 1975
dfeerTg dftrerTg faag | 1 79 1956
qETT AT fgaw 2 5 2014
EER PR foag 21 SRl 1972
IR YaW IR UG faq | 24 SR 1950
RIS JRRAS faag | 9 TR 2000
TiEH e TiEH e fday | 20 9 1947

Q.18 W&l ST (D) ¢

TRAT - 1 - AT, 3i1fdfes, Iomiifae <
g - foaR, siftsafad, fawarg, o @ SurgHT ot Td=ar|

Q.19 gl ST (B) B
RST - (i) TG BT HRH GH HRA & AT I BT & or I8 gfud gl & fob Tfae™ & yRd & @l A
3mefRd fpar gl
(i) T & GRIgT RTeeufd g IsguTe) e 4 ¥ fHaifid giar g |
(i) FHTSIATET g YHARYE Ueg 429 WRMeH, 1976 GRI SIST 14T
(iv) 0. 8% gRT URdd 369 URATd BT WA & HHI0 TR 3[R Tl

Q.20 TEI I (B) B
TBT - S&ale! U9 AW (1960) & [dFg HAHE HR A (1973) H I=aad Faraad - Wa-1 &1
AT HT i Ag@qul HFT STl

Q.21 W8I I (C) B

BT - (i) T - A, 3Tffes, Ie-ifad
(ii) TadadT - foaR, siftyeafaq, o, fawary, SurT
(iii) THT - UTAS3T 9 3aTR P JHT




Q.22 TE I (C) &
TS - YU, & AU ¥ - Jd ABR, [IIfcies] Ht Wa=dl, TS JRIadDH BT RiGid, STRICUTT BT
Ue, IaH -raTad 3R 3= e & aranefi=il &7 g ¥ gerdn ST iR Ireeufd BT AT |

Q.23 HEl I (A) B

TR - Aftieh SRIBR a1e A1 B & Iy Nfdieh 3MfIPR W gfFaged ufase & obdl 3| el Plg HRUT
A § A1 51 SHT (Ul Sfarad aRdl ¢l 39 IRE Y ATRFIG SHUBRI d G JHS & oid dgad
HTIH Il B

Q.24 TEI I (B) B
TR - TG - 19 P A - YR P Aoged B T YRl F1 IBR o T 81 39 Siafa iar ST &1
3P ft 3T STy faaRur & wfid g1 SHHT I AT W &Y 9g1d1 & § 7 fob Japiofar |
* U WAl R 3TH AN & fd 9 foodil sy Sienfd &1 JRe 9 fed & ufdee & 9ed ©, 1Y gt
St awar a1 Ift & Irdee Afdear g TrduiFe Wy & YR W ufasfid far o gear g1

Q.25 WEI S (A) B

ATBT - foret t Ahca & Toar (Y & Ter THa) SR WdAdT T Agayul SR g, 370 9 Th & fam T
IR B! HeUT ol Bt o gt | Al B SFufUfa & Wdadl 1 His ged Tl &1 WaAdl &1 Y §
feidm, sificafad SR S & WAl dfde Taa=dl &1 I8 dIdd ol ¢ o §H oIl 18 alT B Tl
IS VT B B SSIeTd &l T3 Y Igd AT STUAT 3MSIIE} &1 3 o ¥ dfrd g S| gafere
AT T ITHNT B & ford e 1 g Siiaxaedd 6

Q.26 W&l 3T (B) &

STET - 3T - 19 P 3Ad B: HRYBRI B MR AT B
(A) 1 g 3l Bt WaAd|
(B) TTH G T GgHRI
(C) forslt Sttt I TG d 97 BT HABR|
(D) Xifayd® a FRIgY T &1 ISR |
() fac=r amn oA &1 SfeR|

Q.27 TEI I (C) B
RS - T HAGRI T $3 Had R ARG B U § 9T 3 Juft safaaal & fag Suasy 3|

Tg FRUer T8, 108 U 9 U § | IS0 S IR Gfdagad ufae T e g |
T TATADTA & GRIF HTedq 20 9 21 I BISHR 3= Bl Hafad fohaT off Febdl g |

Q.28 WIS (A) Bl

BT - TG - 23 P A HR (FATAHH), AT GHTUR T 3T I $H W ufaate sman mar g | fadt
e P YAdH Horgd! O Hl HH 31F 1 SR § e g
3G - 14 & Sfarid fafr & Tmer qoar g fafy & T TReor mida B
315G 21 9 19 HT Ugd Ioeid fobal T g

Q29 Hdl IR ( B) UG 3R Iy Hf & e Rigid &1
o URT TIUM B} TRATT U AT & AT, e 3R Ioi-ifdes <arg &1 QRIE a1

8



° W%Wﬁmw—

o T8 MR Tfay™ ¥ ifdufed fasar w5

o U & ifa FAEEH RIgia & rwde 38 & YR, IS U AT, e SR Aerifaeds =g &I
IRIET 3R TR FRPb YR & AN B BTl B F@Tal o BT YA BT

30. eI 3w (D)
%T@T-ﬁWW:—ﬁWWW%wwW-wmmme%ﬁﬁw
fau e &7 F iR IrdwiRe Srfe-URe! 3R JaTe & T ga=it S ) siedr 3|
o fYyF Yo wfdd & fafafid &A &1 v FRar gl
o  TAYH TWBR PT AR U "HAd WHR” I &
o AUH WHR P! U AU & 3ifda T uRyIia forar STar 8 - St U ST 1eq &) Taval § a1
Fad (T TSt a1 Rigidl &1 T Ie 8l Iabdl 8 o 3| dR W ST & Mds S & 9§
PR BT ST § - S gHTE! U J o1 Afdd & TN & F83d &l g | o1 fawed D wgt
gl

Q31. gl 3T (D)
RS -HRd ! TG & $& HeaqUl JaReq g oi:
o TH YRA P AN T8 YR P NI B ifTH TUYAT BT AT BT 31 TUHCT BT 31ef B 37 BT Wil
SRIBR, S forelt o X a1 S1el ifek & A= & Sfefi 781 5
o TifFRUe: Trsg BT 3 B fp URA & Tt el b1 ITs0 q IHH THAH, JR& 3R gu= iear g1
o 39 42d Wy W=, 1976 SR URATa-1 H QA fobar 1 1|
o YR WU ¥ 3rIwda 25 ¥ 28, Hifd Fo=® dd 44 (FHM ANRS Wigd) SdTfe SH-RugHr &
TIae g

Q32. Wa! S (B)
BT -1 § gl T § b Afae YRa & Al & 301 3feR Ui &xal g1 98 YRd &I T Uy,

JHSIAIG], YHARUe AidhdiEe 3R T0diEE Aod Gitd SRl & | T8 <O, Waadl, THAT 3R dgd
DI I b TI | AP HAT ]I
HIAHE HRT aTE (1973) & TR TRATT S & U & |

Q33. TEl IW(A)
BT - ST, ST & IR 3¢ 32 T BT M B

BIHRENT HFTG A URATAT I AU B ST Hal 7 |

U9 U UTAPHIaTal A UETa1 &1 SfAYU ST Uga Ud Hal|

I Hifd & e Rigidl o1 I Mo 3R 3ffe deda & e &1 |

Hifcie Pded YR & YA AR BT Sl B

e IHR YR & Td® ARG & Jd AFANIBR & —IJHA BT ATABR, Wd=dl BT HfAGR, 0T
¥ favg SR, el o1 Tad=ar &1 SfeR IRGA® iR e IHR, aene IuaR] &1 feR|

Q.34 &I IR (B)

TR - AT & I P I YRA Bt Fg 3R Io0 WBR! & forg femnf ey & K1 St ok Hifaat &
I IHY 07 H @1 ST 1T
1937 & MRS Tfgu J gy & Fafdrsit = 9 TR o SyR form w1, oA 39 WA dfgu
forar umi
U™ & WRT IV # s Fifa & =i Risidl o1 S sigwsa 36 9 51 da a1 T g |

9



Aiferes FfPRT & Iry-Try i e Rigial & Gfaum o1 g3 7 iR Ifdur &t e gl

Q.35. gl 3R (A)

TR - T 1993 T IHGUMA S §HIH 78I T T 3R 37 A & Jafeg e = 39+ Yfgiiye Fofg
o Pl b e &1 PR Srgwye 21 & 3favid U Hiferd AIHR B
IY 2002 H 864 HaUT-e TN T &M & AGR B Wfau™ & U 11l H U Hiferd HfeR &

ded XN forar T | 52 U ud Sfew adadl & ©u H sffsee 21 W Xnfhe far mar g |

Q.36. Tg! 3R (D)
auT@n ﬁumvﬂmaﬂmﬁnﬁ?ﬂl
TG, IR VeI, Ao, fagR, Sifewn, 7e uewt, Ficd, ToRId, HRd, 3y UG, aferg
aﬁvﬁﬁﬁaﬁﬁmﬁsﬂaﬁmﬁmwwm|
HERTY Abga D! JoH HHGR A ST § Hiifs A Wfekidl 3R o1 B HHI gIchl § Tafb Pl
mﬁwﬁﬂaﬁmmwg@dwwm%l

Q.37. sl 3 (B)
TEAT - HAUBRI I P SFYRUT HRATT Ay H Rz Rigial & urs ot g
I Hifa & e Rigia (opsp)—3sa Hifd & Adwe Rigia dfaum & urt v & s 36 ¥ 51
qb giRIferd g
DPSP X1 & I H A € 3R IR--JaeTd & |
T8 Jd USSR & faer § o Tt faRiwar g

Q.38 HEI ST (C)
ST - HRAY AU & HIT-IV & T6d =g 36-51 4 Hiid & e Ryl (Dps P)@rwﬁm%ls%
MRAS & AU q IYR foram a1 g1 Wied & dgral &1 Hifd Fewe dal # nfie T8l g1 31a:

HYT 4 T B

Q.39 Ul 3T (B)

HTET - TS ol (3G 517): YT IV- T
et Bled b AR T: Afeih B (3RS 510) Hel T Y YR TSB! TR IR Y HIaT Bl
TR R T YR B Ul B! 300 ST I8 1 A el (e =gl g
423 Tfgyr Teq siffom, 1976 GRT < Mfed daadl (3we 517) & Ay § ATy faar
T
11d Mfefe e B d1g | 2002 & 869 T=MeH AR gRT It § Ty foa |
wuf Rig wfifa: Mide wdal (3w 519 &I dfdy™ o ol Rig I & Ixfadl & ouR W
Ay fobam 7ram |
Iudad HUF 2, 3 TN 4 YR Tfde™ § Aifciss wdoa H =MiAE 71

Q.40 T& IR (C)
TS -
o SHUfAffE TAFTH (RPA, 1951) BT URT 8 37 SMURY BT Y& Hal ¢ o R [t aafad ot Fufafaa
1YY & forg et B8RTE o @ FRufa & gTa e ¥ 3w aifSd fora oifeT &:
o SN, T, o, S R 3fe & YR WR fquiford antt o fafvs Togi & o TRpar &1 Serar ¢ 3R
Te&Td & ATTaRUN Pl ST HAT|
TG T HH: RYTERY 3R 3Ffad UvTa a1 dfadd & SfR1Y & fa|
JATBR BT AHIRTY
o, TeT a1 ot § Hefed faareRug iR gumRde §9 oA
'3RYRIT B URURSD YT DI FTal oAl a1 I9DT YaR H1, o YR Hiae™ & 3w 17 & dgd
T RE & T R fear T g
o PTG HfATTIH, 1971 BT YA BT

10



. sﬁée{wu$mwmﬂ?ﬂaa€ﬂ%mﬁam39mwﬁrﬁﬁm&r@rﬁm(m 1951 & dgd
AT IEHCART B AT BT YR 81 g
o 3T fawen @ T ST R

Q.41 I8! I (B)

e - e AR & Aiftre SfeR! & I ¥ gaM & T Jauf e Ut UeH &1 & ol YRd &
gat= <arared gRT 9R} fu e fafad smewr |
3TE 32 TG & I8 ISR ft a1 8 f a8 37 Rel & SRt ava & foru fonsdt s =amarera &t
TIferrd R Tavall §
1950 ¥ UG, I Holdhl, sds 3R AEY P I -AMITAd) & UMy gt e SRt a3 o1 e ot
Mﬁﬁzm;mémﬁaammﬁﬁ%aﬁaﬂﬁmaﬁm?%m%l
HYT 2 Tal gl

Q.42 98I S (B)

TS -
e |1 Rigia:ufvay:-
Wumﬁ%ﬁmﬁﬁ G Rigid o geeitd &1, T 4G Bt W Bl HAR MY B &
mmwm@mﬁwﬁwﬁqﬁmﬁﬁ%ﬁ%q@ﬁumﬁamw%lw
3 E & DI B TS FHIET B B qdred AT B ad DI SRBIR QT I R BT A
SRaraft - faumdt, HrduTfereT SR araurfereT & e Wfaddl & JUaHRul &I SfaerRun & fasRid fean

ol Ga1 &1 Rigid Pedl § b I & I2e o1 31 I9¢ ot g e $aa Us ufdsy &
3 7 srufd 0 AU & 4d o & HHIR a1 Icaigd el BT AT 1 J=Me &b THI Jad AT &
Ufd Ul § FRET I TR 34 a1 el 81 A1

Q.43 T&l 3T (D)
RSAT -
o HIAFC YRG! AW (1973) T Jafed AT gRT SAUH &1 Hot Ga1 &1 Rigid fear mn g
o auft T wfaem @) ga "= o1 [t g1
T3 Pt Farea
faenRyenT, HrAUTA®T SR AT & st JMfaddl 6T GYa |
TR 3R WHR BT Abdie WET|
Tfger &1 ydfRYe afE|
Sfqur &1 Feig afk=|
YR P YUY 3R Teha|
fard Pt T 3R TIRHAT
TSI vt |
ODQ"Z‘IIUIOYHQ Ry ®|"|I:| W\ﬂﬂla-‘lll
URd Th GUY ADhdiAD TR & =0 H|
ot oafa & fRUMY 3R SIgTR ot I
errffRTeraT 3R f3ae iR e @t o=
BTl Pt RBR 3R T DI Tl (@R, B BT )
P e
WA 3R Fsaer g9 ot drebad § fAfed g
Jfgur o d=neq & fo Tue o diftd 2|
Hifer SHRBRT SR e Rigidl & e ame $fR IgeH|
g d YUTd! Ugd |
DHAUBRT T (TS 1) .
TG 32, 136, 141 3R 142 & ded Tdl= araTed &) Qfaaar
AT &1 Rigid

11



R ICRIREACARSRERI _
3G 226 3R 227 & d8d 3= AT Bt Al |
S & SR & fog 9 &1 g ufed

TP UG 3R AbdiA Yura |

e o1 erRue alkA |

Tl & GYFHRUT o] [GW(T |
Sfqur &1 9T aRke |

Iy Hifd & Fewe Rigial § Afed 16 FUEBRT I8 §9H &1 SHICH |
HRA P UhdT 3R RISl ! §18 I

SR BT HUYAT|

YR B GUYT|

RIS BT Albdie aRa|

3 $! T

T Taaadl I AT faRwdd |

ODQ'LIIUICIOIQGI NG ®I"|I'-‘\| a’Tf\SI"Ila-‘lll

T Uy AhdiAd TR |

T, 3nffes SR s =arg &1 YT |
foaR, siftreafdd, faym, sme Sik goll &t Wdad|
UfT SR ST &t T

Q.44 IR-(D)
ST -
o TRURYG AHTH & Ufd IR |
o T YUITCH Teh ST i Albdiich M YUMeh 8, Fors SriuTferesT U=t dicbdifzaie deidT Y U
B B, 3R AUTRIBT (&9e) F Ufd Farece gial ¢
. mﬁmwmm%lwﬁ,mﬁmwwaﬁ$mmﬁﬁwmm
|

Q.45 TSI I (D) &
m-%ﬁﬂw%ﬁ%aﬁﬁﬁwwﬁwwﬁwﬁw%wmﬁ
|

f3ur aReg & siee Taw! & URYG gRT I OTd & SR ISTuTd gRT AT a1 T oI1d & |
Q.46 {gI W (D)
ST -

o Jdied T YR & AU BT SHARED B

o T8 At BRI B We 8 (3THE 32)!

o 3TH UIRI® HleT ot Wl

o YAl Y AGYT BT Teh ARSI 3R TR&P g |

Q 47. TRl I (C)
T -
o TG I TRITY SHIT dlicpad 3R fapmd o) S¢rar 37 & o §1 3901 ST Apdiie
fIhEianur &t ot faewRid SxAT SIR ANl &t URTieR) & <fie, aRd ST - 3fife woifa gfd
BT 3R Tl U UgH BT g
. WW%WMWﬂ-ﬁWﬂFﬁﬁQM-ﬂEm SiaTace! BTRId &1 o Toball & | SHfIY HYUH 2
Tdd g

Q48. Tl 3ITR(B)
RSAT -

12



o TSUTHI H difad f9Te S AiepgHT gRT UIRd el fobar a1 8, bl & fdged IR g el giar g

3eTT, HYF T B

o IYG T AlHYHI, ATHHT 3R gyl i id &

. ﬁéﬁﬁgg;wﬁ@m%wag I JHT | df9d 8, Afde Al GuT gRT UTid a1 fpar Tar g1 3id:
HYT 2 |

Q49 VTS A
STEAT - HRA H AIeT Ugell IR GUIH DI & 2013 H e T T 311 & a1 = gofl, fafed 8 fob diged gfae
BR Rifad foedls s YR WReR AHa 7 2 <mrey 3 emew fean & a1 &1 7deq & il
et &1 ot fased Iuds HRAT AU | 9 3R & dl YR THRIAD AdGH PT [ddhed Iuds B
Tl 3% T 1497 S &9 AT el F ded sared A H FeT (NONE OF THE ABOVE-NOTA) & o
TSt 9 gial g1 AfG UIfeal Tad IMHIGdR ol g <l Alel &1 §¢ AR Uifedl & Ui ST SO
faRte aof =1 Tt B
o CT ®I 2013 H UgHl IR I THT gU Urd Il & AUyt gAE H SUAR T Se,
fAISIRA, ISR 3R AL U & 1Y et H g ey gma & ugaht IR anll & I8 fadweq
fear man f 9 g o s ot Suficar! & Wiivel a5 9 |

Q.50 JBI I« C
T -
o TG TN I RITYAT 25 RN, 1950 QTP Hefald fGad & =0 H HAI Sl ) bl WiauH &
3FTER B 7S At AN o7 irarerd 7S faweh 7 R |
o JT X H AIHHHT, ASTHHI, Y faer=gHTail, Iyufcr 3T IWRIFURA & FHTa HT GaTe Bl 5|
o TTHI I H Uamal 3R TR Urferental & gAIal ¥ I Y&y T8l 8 1 39 ford YRd & Wfaem™
ST T YT AT ST T AU Bl 8| 3k HUF 1, 2, 3, 6 Tg 5

Q.51 U@l 3R B

ST -

e NPR U Sa¥ ¢ fored <1 & quft wram fariRa & gt gt ]

e NPR & for) I ol 9 § o pH-3-54 Ued o 7l ¥ T & § 38d1 © a1 3T ©g HeHl
& ford fordt faRiw ®IM R X8 &1 1T W1 ]

e NPRUBH R ¥ 2010 H TR oo mar o1 3R b a¥ 2015 & 3 fpar Ty o7l

e NPR AFRST SHRIFTH 1955 SR AR (AFTRD! BT USRI SR AP UgaH U7 G-I BN 9,
2003 & UIGY™I & ded dIR fhar T gl

o YR P UIS "R Farit & o) TSR H Usiihrul AT Hard 81 3id: BY 2 3R 3 el 2l

Q.52 Bl ST A

ST -

o CAHIA U & Ty H fAsTar &1 ¥R

o BT T A BIC & Bud & Hgl 11 § b FAoral &1 SUSR S & ISR &7 U = i § ot
HYRAIT T & 3= 21 & dgd Afed 8

o e ot Y1 & fomT fpell aafad & CElBI I AT AT 39 Afad Bi ol & HABR &7 Ieaa-
21 Afep el fadiy ufefRufa & TR gRY T fowan o1 wear 3|

o WPHR B! CAH HUTH BT YRT 5 (2) F Tgd T B & fdd USH H1 78 g

o CHIUTE SHUFTH B URT 5 (2) B IIER, ARSI fgd a1 WY fgd & Wi 1 &t ekt & @t I8 o &
3B T Jeeie el g

e HRAH B T YR i ififaw, 1885 gRT 2RI B
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Q.53

g S B

TeT -

T8 IR [T HRisH SR AP IR a1 31 SR ot g & g Fge far mar i
gadd I Ngdl I &) R & TR S are AR YR 6T UgdT 5T §9 74T

T QT 3t RIETRRT & RO GA™dt 1ot Jore T fAfor ga|

1959 T SR YR BT Ggal T I For- T Il Bl Y3 [hAT| SHDT IGUTe 2 HagaR, 1959 Pl
ORI & AR foret H gem=Hit gRT fosar T 1|

Jadd I AT GAfd B UR TWBR GRT 16 TR 1957 B UGS [AHNI HRAGHH & HIHABIS B
e o fore fged fopam T M

IrHior &3 & fad & AT 1952 H WS ARy SRishH BT 16+ foha TR o |

U HRAGH DI Th YRS Gidl U HRA & e fasmad fovar war o1 o arend § ReR Jmior
&= I Ugd Tl |

o I 24 TR 1957 HI 37U RUIE TR B1|

Wmﬁmw&rﬁraﬁﬁlwrﬁﬁ—
. 3-T0T UG ST SOaRAT bl RATYAT - UTH TR R I U=d, sl TR UR UErd JiHfa iR forer R

R forar afvwe |

e ¥U J A T AT &1 76 34 darad | bl ST, STafd sice U 9 g T4 ufafAim o
T3 Yamad gfifa iR fSrar ulkve & agd fosar smeem |

gt faserg Tt & 571 Rl & Jiur ST anfgul

T

fTaT Feidex oI forar uikug &1 sremef g1 Ame |

gl Adizie e & IT 3R SR &1 aRafde gxdiaul g1 a1eu|

3 diddize Aol & fore yaitd Jare- Iuds g anfeu|

Higwr § Uifeieur & Sifdad 3aghHul o TR & fold e Yuel fasRid &1 ST A1l
U 5 98 H 19 g4 a1y

|1 I (D)

YRATT AU Pt AREd! S § Uarad! &1 [ad, ISR 3R IRald! &1 e § 159 S |
29 fawg €|

1992 T 739 TMeH GRT YR AU # TP -5 TREd! 3y shie! T3

Tfau™ & TRgd! S # S favg JEeg ¢ |

733 T=NeA AT BT e IS i % w0 # of S e g

Gargdt 1ot ST 24 31iie 1993 &I AR g3

118t S & 2nfire fawg 8 —1. 57 (@ fawar wnfiren | 2.uf¥ fawr, 4ty gur wrafagq, awed! sik
YA TReoT| 3. 7Y RiAE, o1d Uy 3R Sa-faueis &8 &1 sy 14, ux[ureH, 338 30T 3R Fage
qIe 15, Ao INT16. IS aTHD! 3R HTH af-e! 17. TY 9 IUsl|8. Y TN o i Qe
TR 3T o =i 19, W, UTH ST TE SR INTI10. AT AR 11, TaeTat 112, 384 3R
ARTI13. TS, Gferar, d, ], STHFT iR 3 TaR W1eH 14, UTHior faggdiaur, forad siavia faggd
&1 TaaRoT M B 115. SURURS ol Hid 16, TRIST I+ HrishH | 17.R1eq, o sidtfa mufiies ik
et fagmag o €118, da-iia! Ui iR aarauniie fRaml 193 SR sH=ie Rrefmi2o.
qIBTE | 21 TR I fhaTwad | 22 SR 3R Ael 123, WA 3R WeadT (3RTaTd, Wifle Wed &%
3R 39eTer) | 24.9RIR HedTor|25. ARE 3R ST fab™ 126, A Heur (fGaiT 3R AHRYe U J
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He faqal &1 Hevn) | 27.g8d a7 o1 a1 fafRdar srgfud snfd ok SFYfd SHwifd &1 BT i2s.
HTat e fadR0T YUTTe 129, GRS SRl BT SREf|

Q.55 TR S (C)
RSAT - <419 T TN Bt Wfderart d wrf ot g foigaeit & wreom I 3ar S G &

1. I Gefda: AT fdt cafad ot Riemd, Sty Ui w9 § Sy 38T 8, a1 39 g
S AT R T T B AT S T 1Al YD G &1 TN B AT SAIGRAD R BY oA Bl ol
gl grfl, @) Sife ud FARTEHR0T el g

2. S{TART XIORON J el 31 SR aTe A &1 S &1 AT < b g

3. S Ty @) Rifad:

(a) TN fodlt Ot &Y Sfid hrd w9Y fodt oifad &1 URdd 811 & ol 0 (3M7QRT) STRY R Ghdl

|

(b) I8 IV MNP 3rar forfed U q YUY & U & & TR A BT 31 < Jobel 3

(©) W%&Qﬁmﬁamw&uﬁ%w,%mﬁnﬁmﬂw%sﬁiwm
B GHI g

4. S & XA aoHdh awdell dI AR & THE WRdd H I Al WRISRT I 981 IR
b 9 3N dies TR ¥ Fufal & Srqurem R oar Ibdr 3,RUIE ure o gebdr §,
RepTE & TEREd & ey § e My ¢ Yo g

5. I8 A HIIBR & IR H UiR1e01 & et off HR Fahdl g

6. 3TN 3 GRT AT T SHSRY T 33 W s WIYDRY BT HITTST &7 BT MY & Fobell &
3YAT A T bl §| I8 bl ATl B SRABR U FHR Tohvell g

7. S5 I AN U Wad b B qRg B Bl o] I§ bs WHR $ SAH(d 3 a1l
FHIIad], i SRl T Ardei-d &3 & IushHl 3fe & IR § RIsrd td il o Sird Harl
2 3R IYBI FARTH BT B

Q.56 HEl I (A)
BT - ST, fgforiaa quft ar fosh of &Rl &t e, ere: -

A) WU B Ugd WR T fHat fifsd a1 It 3R 3 frd) safad gr1 9w ot 115 anfrest wR fRgfead o
RITId &1 Sid &3-

ARG RI a1 SHHH b1 Jeaia T

ii) T Jeeia Pt AhYU™H H ATURATG!, Th gRI I Adh,

B) forelt <aTaTerd & WHe difard ARG RI & Jead & fra Y 3RIT ¥ Haferd fet ot wrfargt d v
AT & S{THIG Y G HT;

C) o0 PR DI I Fa g fordt Wt Siet a1 A58 TRBR & Fgz01 H forddt 317 TR BT SRT ],
et AT ! SATS, YR T1 WU & I W sdfel of W6 o) FRUfY &1 31eqg 37 3R Rl oz
& o ferrara & for 7T & 1 @ T 8 | S W,

D) AFATIGRI & WR&U & forg Wiae a1 fosdlt SrH & ded a1 3ud dgd JR&f U ! THTem & 3R
1% T HRATGT & U B RIBIRRT BN,

E) 3MTddlc & Pl Fied I PRP! Bt JHET HRAT ot HFAMIBRT b SUHNT B S1fd BRd & 3R I
STAIRTHS IUrdl Bl RBIR 3 &

F) #1d SRIPRI R HieA iR o SIaRig axarasll &1 31880 1 SR I YHTE! Hraf-ag & o
WW;

G) AFATIGRI & &5 H ST BT 3R FeTal ol

H) JaTST & fafts avif & s AFaIfIeR TTeRdT &7 TR ST 3R UHTRHT, Hfsar, IFARY 3k s
JUAS HIYI o HIH Y 37 YBRI b1 YR&T & ol IucTs YR&T IUMT & IR T SRSl ! 9gId]
&,

) ITa SIBRI & &F H SRR TR-IRBRT A6 SR TR & T BT Urenigd B,
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) T 3 w1 o1 U8 AFaiieRI & TR & e siiawus ga3l|
SR & siarfd s & I e U E

K)HMATIBRI & Ioera P ISl &b RIATH HRATE B BT ATYBR Tl [adT g 3R Tl T forat
ifsd & Terad U ( 3ffe eradn HR Todl g1 SNt o R Gaftd TR 3ryar ifieiiar
R T1e0 TE) § TR ITB! Tellg W P TS BRidg! R IY a1 &) b Agl- $ HieR IfRrd o1 €l 21

Q.57 gl ST (D)
RS -

1.

2.
3.

g A a1 smarTguieeRh) It sy s s g Fdia gaddr smaneidi) s
RTE Tyufa 1 Ao 7 9 Iyufa 37 RO 1 99 & ved R 3@ g

TP AHATRIBR ST Ut KUl Bl b ISR g eiftid I8 ISR BT Woldl & |

HET I N O a1 RUIE dhg IRBR B! URgd IRl g 9UT hx WBR 59 RUKC Pl WG &
HI Fel & ged W& 5

Q.58. gl I (A)
TS -

YR & AU HT 3T 137, 1950 TUGH BT § [ 3G 145 & dgd §T1¢ 7Y fhaft off S iR
feet o TraeT & Siefi, Hale <marerd & U S¥o gRT AT Y fadt off ot an fop 11w sire=t ot
e R BT W B

YR AU & 356 128 & SR, YR & T IR fovst Hf T0g Tata =amarag & Jar-ga
raTteT A1 S AT & g R (S Tata <A & <Rl & w0 8 Fyfed & e
faftrad = T T §) T SRIY B Tdhd ¢ | ST 3fafd & oy atea ey & <arnei=r & U 8 &l
HT| 98 UHT Had APU IR 39 UHR Fgad fbU oM arel safed o1 gd Tedfd J g1  Thal g | 31
HUF 1 981 &

3IfeRE AT % WU B, I raTad AU & 3we 226 & dgd 39 ol ot wften wR g gl
HYUF 2 Fe! To1 5

PR I ARG A BT UaTd Pl alerrdn g fob 3= e SifHeal & <arrad & &9 § 3o e
& e HR Thd ¢ |

T e T AGAR 3R Mol df arel &1 Weula &1 Ue wHien aifueT & fears siiid & Iy
AT BT TS

g a1 Ay § 3R YRd & Wfau™ & dgd, are YU ey, <fie wter o ufea
& 1Y 3 H1 Sifaw arared g |

YR U TE1g o § 3R 39! PRag Ta, srufd et <amarey, 3= ey iR e ey <mraa
& 1Y UH THhd 3R THIHd 1 Jomed 2|

HRATT TR YT v (@) 3R 3T 6 (9 RUTfeThT) & ded i rred & UIaHT o1 UTaem
FRAT g

Gfaem™ & URTV H 3fTwdq 124 ¥ 147 Fdi -ATaTed & 16, WaadT, ifieR &3, ufdaar $ik ufsharait
T Tl B

3TRE 124 (1) & dgd YR Afqur & FHgl 71 ¢ fob YRd & T T ranei=T (FS1aMTs) &1 16 dx
AT YR BT Yared AT gHT 3R 56 do G I gRT do! T & I1d 3+ aranei=i &t e
EEIGEREZGIE]

YRd & e ArTerd & AIBR HI Al IR W Td SATIGR, e SAeR 3R TeghR
RSR & Fifferd fram o wahdT 8 | §TalTD, Tared -araTad $1 3= &g Jaal 4t g
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o dicd NI Ueh UG T g, 3UTS P Fdied 3feTerd, AN &b Hiferd HTYBRI BT TR 3R
AU o1 TR B

Q.59 &l 3T (B)
TS — ICRM & TR OTa & IRATG dgatd & GoR Md & g Rig MaRT &1 HEAA THUH w1 § ISPy
Y= & oI MU 3@ [RIBR’ (3 TR B Wierg= ) F wwrfAd fasan man g

Q.60 WEI W (B) © |

ARSAT - Yfery Iuneherss sMusTT fsRaTd (e iR IufRies el FURT ([Fag)) & HEia Wd Td gar
AT & TATT §RT 14 T4aR 2022 D ‘39 (AT’ & BI TN Bt TS|
3 DR
T 1961 T SUD! YB3 s AT WA & (U SH P & ol Wt il ol JAfUd I8 [RHR Wd 3d
& 916 W T UfAfSd RIBR 8198 TPR sgadi UeRH, ey Hiferd], ¥ Hig-T 3R
SR & ford feam Siran B

Q.61 Tl 3T (A)
BT - 1 feHaR, 2022 § URA G-20 FT 3 T 8| TP SAATd W-20 THg H Ao $1 gd ot manT wiga
1 I foh=ur 3gaa &1 2nfie far T g |

Q.62 &l 3T (B)

TS - SR Pl Adcl §iY 9 HHEIAN §78, HRAYRX D] §Y SRS §7%, SIYGR &b BRIl d JRY &Y, Urelt &
FHIGN Sy, L BT DI Y (SSIYRAIC B) 3 BT P! TeAR ¢Rod Wise’ F ¥4 H fasfd
foar smam

Q.63 &l 3T (B)

HTSAT: Placement Agencies%mmﬁﬁﬂﬁﬂﬁaﬁ@mﬁ%m%ﬂﬁwmmﬁ
D U1 I A aﬂﬁgq REXCO 1 dol IR IRBRI Rajasthan Logistical Services Delivery Corporation
(RLSDC) & T3 &1 BINUN 1 TR 11 SHERT, 2021 T Yd & BRI SHT B! DI TGS TRBRT B!
& AT I SMATHATTIR e g1 foram SR o1 fonsft St & quf wages UT &1 G|

Q.64 I I (A)
RS - fad 9 2023-24 T IS °IET 62,771.92 BRIS (3.98%) g BT AN Had BT 7T § W&

UGl IR T8 4.36% YT

Q.65 Tg! IR (B)
RS- TEIHAT Fekolial 418 Yad Ao & d8d 25 1 60 8 & Golidd HHd! 9 Kie ded &I 3Ruard J Wl
& QR 3icl DBT & AT ¥ 7 fa d& 2200 fafed &1 Tgrar e &1 See|

Q.66 T ST (A)

ST 3 H & URIG & A1 MEIH Il drad IRGHH B 400dT S 81d &f H T T3 A 187e: HU 2
gl
AT IRGH, 3EH I & URTE TTfa 3, e gral & Wifd a1 iR Sivoid &1 Jgat
Headhieall &Y A far uTi | 3rd: UT13R 3 T T &
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YHEAT 7 381 AET (Ahom Kingdom) & J-TGfd ATfId €% e (Lachit Borphukan) &1 YRd $t
"JTAFHR 1 F1 Ul Fel

Q.67 W@l I (C)

RS 3 fATS e 3 YR quT e ferar & o gad TR JH (AI-ECTA) &I Wil 31 8. 39 IHgia
(AI-ECTA) TR &I S=IT 9 2 3f0d, 2022 1 GHIER T 198 I, IHST, I SR MY &5 § YRd &
fyafa & serar <

Q.68 W& I (D)
RSAT: 22d BT PHedid [a% HU 2022 BT YHURY 20 TdeR I HaR Bi IS Gl H g3 ATl
3IgUIe YARIE 3HA-TR & 3fd-991d Kfead H o far T AT IdaR & 3HR g aHH o e
- A a3y HU BT SAABIRS Lo3M1d @1 At
uﬂwﬁqmzozz%g@ﬁg
Tiee 9 - foforas T
- TiesA Tdrd - Ui JifdAw
. Tiiced §id - forme At
. TIH HIR W 3ATS - TS
3BTRS Ui (Official Mascot)- "8’ (La'eeb) B
SRS U § AR’ &1 3 gIR-Thics WAR' gl g

Q.69 . W&l IR (B)
ARSI URA A 21 FaR I AEpRaa efooia T affe Urfiet (GPAl) &1 3iwer Ug Ugur
fora IgaagI o SiR a1 UIeifiTe! Y9 TAT Xreiid 9% WR didl  GPAI &1 96 § Fiblad w0 8 wig §
31eh8] UG B SIS R UIW BT IHRd Bl 2022-23 & T GPAI BT 3rezreqar &t < B
GPAI (Global Partnership on Artificial Intelligence)
g 25 <11 1 U W16 ¢ |1YRd GPAI T T8 2020 H IR Tewd & U | T g 4T
gdqE H, Siess & U= 9ax I §: icfor, sfesd, Soiid, $1e], O TURISY, SHT®,
@ feror ifvan, REMTER, TafAar, e, Wied, gaRes fhren, Tgad Isg ST iR R T4 &)
|
Q.70 T IR (C) B
RSAT: 3R FHMRH = 24 TdeR B! HARM™I & 10d TUFHA & U H Ug Pt YUY Tt | 3R SHH 1990 &
3 | TARET & IU-YUHH X8 I 5|

Q.71 UG SR (B) &l

RST: 3018 E1-¢ct fbdbe fay@T (T20 World Cup) 2022 &1 fasidl 41 g 139 13 TdaR &I Ade- § Wa T
W Od § Ufehd™ &I Uid fadhe I RIS & 99 B9 &I WRR 3% ¢ Ja 3R WK 3% §
RIS eifda fovam T
8 7 T IR I8 fayeu Sfid aR Sfaer a1 §1%dd desaie iR 2ds &l aR T20 fayey &1
EECIEEE]

18



8 al TS 4oy fay %1 2022
. SfTRfer, Eiic's, $7CS, IR SAYPT, HRd, SFATCST, UIfhd 3R SABI-R = Wd: & R
12 & TG STeihTs B fomam o |
foRTe Fiec o8 Tial # 296 I & Y ¢AHe H ol I o1 ard faarst Y ifavre sigd 3
3120 9 HU T didiers RIars! Tedl Saat & Jaifeie 31 T Rels ot drs faar |

Q.72 TEIIWDEI

HT@T: HRd P Ugd UTsac Adbc [AHH-TT (Rocket Vikram-S) = 19 TdeR P! Jhadl & TY ISH H 3R o
IWE! (Aearged) & 0! Hal § R fariag e st gReier & Tt gaq siale d= J fean
T 19 1Y B SR & 3faRel HRiHl § Aol 85 & Ua=T &1 URY g 198! HRUT §, 39 fIRME &1 9m
YRY [T T 8 |

Q.73 {gl 3T (B)
ATST:

o RR TN R FN &1 AT 28.50 U= B ISl Taferd goii R $iY (SR v, u-quTe, aifa!
T A) &7 BT ANGH a¥ 2022-23 H 28.95 =T JRUTIId 5|

o TafId Yeul IR I &, fored =, fafmfor, faggd, T qut Stemgfd ud Suamiers Jarg qur fFmfor
& Ifferd §, &1 Yol Iod Hed a4 H aNTeH ay 2022-23 H 27.31 Ufawd Ieq1fad §1

o Tl el IR a1 &7 fS9H AR, gled Ud eiRkwe, URdagH, HUSRUI Ud IR, fawiia 9aTd, ®ireR
e, T8 W, URIaR YaTd, dids TR, Yad auT 3= JaTd gfiyferd g, et ave af 2022-23 1

4374 9fad TRIfaa § |
Q.74 W& I (C)
SRST: STAag & YR TR AR B 10 HY Taarg &= H fauifora fovar mar g1
IR SR |E
RS ST T & =l W TR
E- 1 (Lakh
Ha.
L [la [ g= Aor gRe & 47.4) quﬁaﬂmqﬁmqﬁ%w qGRT, /S T R
2. [1b | Rifea fer) a9 9Rad &9 | 2063 ﬁfwriﬂgaqma w0, g, awa |

3. | e %mmﬁqﬁamw 7770 | SR, SRR T3 96 B TR qed

4. | lla | IJIRIHT SR I<IgNE | 3693 | Wby, AR, G, I T 9 IR 61 GV 4N | GO, S T TR

el &
5. [ 1b | o 98 emigan e & 2942 | UIcl, SR Ui RIS, G WG @ IR, TR,
i @ wiRr
6. | llla | @Y 0@ AR & 2948 | PR, T, VIR, D T, W, WK
; IO, AT
7. |- | 916 W G A & 2360 | RN @ IR, AR, SITqY WaIS AEGR Bl | Oxe, g o, L
| < & AR
8. | IV- | 3rg 3" <R Fer & 3339 | Sicwarel, SeagR foriree @ gdl Rl Hahl waR 9 @S
a { { Gl
9. |IV- | 3N <@ Har o 1721 | YRR d9drE] SGAQR BT AGON A 4T Qd | Hadl o, @R @
b forireTe @ @ HeT | ]
0. [V Jaﬁaﬁdﬁ—qﬁmm 299 | @i, Semrs, ), I 4 E6 A FRANR | e, @R,
== | st i

Q.75 Tgl IR (B)

TS 41 3RNP Tgald, AT JEIHA, ORI RBR R “@®ig W Y@ 81 JIY” & Fhed & Y 20
3T 2020 ¥ UG & it 213 TR Ml § 358 IWIRAl & AT Y ST 4TS Ao 6T JHR™
fobar T |
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ol 9o 9¥ 2023-24 H ISl B TSI 1000 F TETHR 2000 Hi TS|

Q.76 Tl I (C)
FTSIHY 1 gl § 3R HYF 2 3R 3 7 §
HY 3 T U1 & T daprel Tt Yewd & YR 9gHd &1 SHTaRIehdl gl o |

Q.77 |gl I (A)

TEIT: HUF 3 3R 4 JeI § 3R HYT 1 3R 2 Tad ¢
Fifes T Pl g fo Iou o7 ¥F & I gy Ty 78T 8 3R I9 oH & o HeHTa et B
bl &

Q.78 TR (B)
ATBITHY 2, 4 3R 5 T8I & |
HYF 1 3R 3 T g, Y T B HA IR D1 RSy T8 B & 3R =muiferet 3wt of
AU Y T TR Y URHIR 7 fpan g1

Q.79 dgl I (C)
RAT: HASTT, TTAUTIhT 3R IsTUTd HRd & JfaeT & Te | WA T8l 8id &

Q.80 gl I (A)
ARST: 1P Y H GMed B B Ufdd Ppad I9e & I § 7 & I Rymayiet & ur| g9 @1 78
XIfe ot 16l § e <araed & Ui fopddt off e bt ST BNt R i Wik § ST I SR e

WA I

Q.81 W@l W (C)
TR HY 3 T 3
Hifh 3E 222 & dad Ul Sd I & ATITeRi &I JEGaT HR el g |

Q.82 Jgl I (C)
TSI HY 171 @, faur FaAfarss ol 7y & gare § wifd & §R § udl o1 38foT 35 Jfayr & J2ned
Uehdn T YTy foar| 9 st 78 wrid & fob Sfau™ § oIS Sy 781 81 gobd|

HYT 2 3R 3 TR &
Q.83 gl IR (D)
HTECAT:
Tal-1 gA-II
(i) TR TS A. TIYRU §gHd
(i) 49 Pt WAar &1 | B. fa—y sgHd
SIREIR
(iii) 791 3T | C. 1Y I b
BIRCRE] STHY & T
EELEREE
(iv) Tt IoT BT AET | A, FIYRU dgad
o gRadA
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Q84 gl I (B)

ST
1. SWIYU H1 g9 T FHatass Hed gRT foar Sirr 8 forgd e & GFl Jai & e MAd 8id 3,
3T UfAfAfda omel & AR Udhd YhHUNT dic & ATegd J 3R T¥ gA1d & AdeM T AdeH
SR1 81 ¢ | SIRIFURI & U & fo fonddt afda &1 g1a o=t aral Fatasd Hed § ¥9e & aFl gadi &
Tt gew i B 8|

Q.85 W@l WX (D)
STEAT: T & DPSP w5 36 1 51 &1 da |

Q.86 gl I (B)
HYTCAT:
- 39 RIgid & SfuR, YR & T e &1 Fgfad Sy <amrag & akgaw iR gR1 &
EIcI
- Rigia e sifafaa Faw 8 S o, Sifgs ok e gas! § "aRkgar Rigia” & 9 & S
ST 8 | ST 8 <UTIUTerehT Bt Wzl B ISP g&iad J ST 8 |
. I8 RiGid vum U3 arexand Ag% gRI aHfd TH.. BT, St 6 Site Ied <ared o rTeiRy
¥, D YR & Ugd T TR TS ST Bt G & Sl oo ey & U § Fgad fear
e oty # gafea arrey & @ <arane=i 3 & fan
. g, 39 RiGid 31 s IR oo fa T g

Q.87 W@l I (C)

TSAT: S U Te 3,
TAsTSYt 3 fEar armd (1995) H, TEid B¢ A wg1 [ TRaraHT Wfaum &1 ue 3ifid 31 g, dfee I8
AT a1 | % 9% Wae™ ST 0 ¥ Sferedl # el 8 Yobd | JiH S 3 91 8 5 v
&) WU B B RE F =0 T 7 S Gobdl 21 31d: ey &) I8 8

Q.88 TE! I (A)
TET: Had HY (1) T8 &
o ®IE 7 Had Iarer iU § Afe gfardl g & ufkita 2t fosan 8 afere sy 2 7Tad 3|

Q.89 gl 3T (B)
IRST: HY 1 7Tdd &
Hifs HRIUTIDT BT (GfT TG GRT g1 B 9 ¢ | 37 HYUF ol &

Q.90 @I 3T (A)

T

A. Ty %Fﬁﬁﬁﬁﬂhéﬁaﬂﬂa‘faeﬁfﬁw
|
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D. YHRUE 1. IRPR B} 4H o7 ues T8l oh

Q.91 Igl I (D)

TET: GHI H TAd §
I - 1. TH YRV AYTS B BT 5 & g I T & UIiRd - BT S1axgesdl gl g |
2. 3 Ol B Aaue g &1 R # Iyufd gR1 GG 96 1 UGy g | 31d: fawed (D) 981 &

Q.92 TE! I (C)
TBT: HUF 1 3R 3 TG § AR FYF 2 T §
ST B 14 F& & iR o7 RAdge arue Yo giar 8, S9fer IR ey (O) @

Q.93 TE!I 3T (A)
TBAT: HUF 1 a1 & R HYF 2 Tad § i
1. I AT o IrndiR &1 CJ1 1 RABTRRT IR A§ufel gR1 821 oIl 8
2. qared QAT & TR DI g & fo18 HEIANT URdTd &1 QUi 9gHd 3 TR faear S anfeu|

Q.94 TE! IR (D)

BT HUF 2 3R 3 g1 § 3R 1 7Tad §
Fifch AHIHT Ueh T Uh U UP RIT YR Jars3fi B RITGAT & fole I8 el H A a9 & forg
TG 1 =T - & folE U Hdhed YR Aol R Taball ©, T8 fdd chad e THT & U g |

Q.95 &l IR (C)
IREAT: I+ YT TET B

Q.96 Wl 3T (D)

SHTET: &I YU Ted &
Fifs HUT 1 H, U=rad IH JHT & T & dgd HTH PHal 8 2. Td & AN Tg! dfeeh Ppad A
I GHT & T BId §, 39T Ual SR (D) ©

Q.97 d&l I (C)
RS HY 3R RS I57 Yt & Siard 311d &, I&f R TR T gt # § | 3fd: fadwey () T8t 3

Q.98 W@l I (A)
STRT: U 1 AT 25 F IR T g
DY 2 TTd 8, o fpdt off aRfRufar & e & Al & 38T o JohdT § 3o faded (A) T8 3

Q.99 W@l I (C)

HTET: 3 fdey Tad B
Fife g T & U Sfode Gl ot Fafea & ama & gof faaeifier 8, 9 & g1 T sfad
3RS 75(5) P IIER Fgfad B dRIE J 6 7L B 3Gy & iR I9g T &7 WG, I adwe |
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TR HIA HU 1 T § IR 39 HUF Tl ¢
i TG gRT UIRT Ud® I B! HRd & Jdied ARITed & SHTHIGH B a=adhdl el ¢

Q.101 gl 3 (D)
HTSHT:
. 3R U 3 TG H HH F HH o SET-3e o4l F AGAHT (@98 o Had ge) § &F 4 &9
2% I Shadt g
. 3R UTE AHHT AT AU THT & 31 gA1d | gl IR a1 e Il | STl 7T Hof 9y e bl HH
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. gfe urdf &l HH W HH IR Ul H 7 Uit & =Y H 701 U g
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- IOE & T geAl & Faffd gew |
- TTl Bt fyyrgHreh & Raifad e
. el 3R gg=dt @t faum wvn & faffad ew|
o S 3R HUR T Al el fopar T B
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HYT 1 I8 8, HY 2 TEd &, Afe vem 1= & Raars uxarg umid 81 ST 8 af I Wiy &1 3T &A1
BT

Q.104 gl I (C)
TBAT: HYU 2 3R 3 Tal & 3R HY= 1 7 5
Fifes AfuRee (@eiun) Fad @M & Je/dAbaHT & Ufd Tarecs gl 8

Q.105 &I ST (B)
RS- HIfd 3TANT Bt RITTAT 2015 H NDA TRBR GRT AT AN B dea & o o1 75 | ifq smany sen
3T 3{YTE TR NYIRT g |

Q.106 ! I (A)
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1964) D1 RIBINT TR CVC BT RITYAT &1 718 |
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BT YR H Ugal! T66e PR ARRe ¢uTs & g J A1 1977 I 5 1979 & &9 15 718 AT
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SRSAT: HRA BT WA (3T5E 148) HRA & fdTw 3R HeTaT Ueid (CAG) & Udh Wdd Hrafad o1 Uray
HAT 3| I8 HRAT ARATIIen SR A faUTT & Ui &1 98 Aideli-ch ¢ 1 IRe® eIl § R Hx
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Q.110 &I I (31)
TAT: 7% -ATAEIIRIS 3= UG TR 7 I8+ & 91 7 df YR WRPR & P 3R 7 g fordl T ot TRpR
F 3 fpdt 3R ug & forg ur= g

Q.111 Gl ST (A)
TRBAT: T & AT Abrgad R Jh-Abrgad &t fFgfad avd g

Q.112 98I I (B)
RS 427 HITT P ATEHH I 1976 FIfeIp doodl o WA fHar Tl

Q.113 gl 3R (A)
RST: 3ABR 3R B e T Faiftid € 3R 38 Ud GO ¥ S(e el a1 ST uehdl g | 31ck: [ddhed 1 981 g
e AR 31U Hefed] BT U el HRd & ol DI AABR BT 3G Tl o bl g
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RBAT: Yared AT Bl VAU BT W& Bl o1dl ¢ i T8 DR b bt off 31 gRT AMRSD! & Wi
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TBT: 443 CAA & I1Y Ui &1 RBR Hifcres SMBR 761 @11 1978 H| T/ 3fI5e 300A & ded Th
FauTd IGR ST 77 4T
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RSAT: 3G 20(1) = HRATR B
TS 20(2) = 1T SNAH
3G 20(3) = W SR & 995 PR

Q.117 &I ST (B)
TR e JiHfd = ST, o5 UG
UReY I = ST d.3R. g
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HTET: 3DG 17 P IR, SRYIA] B! JHT H fodn 71 g IR et ot =0 & 39T snay ufaefia g
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Q.127 Ans. U8l ST - B

BT - TR T SR HRT BT Y137 & &1 Ugall g SNaT ‘3T-feg 2022 (Austra Hind-2022) 28 FdeR ¥
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Q.132 el I (C)

HTRT: 3 B TG B HaAdT UKl Al Bl SHIAY SMIRIDHT I8! gIcll ¢ i d Ga 3! Tal TR XA B
&A1 XA g1 AT fob QdURon (1) TRt 51 1Y g T o el IR Rl 81 98 Tad HoY o g A8l
G| 3 gaerRom (1) 4 9e) 21
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Q.140 Hgl IR (C)

HTET: 3ol & 3fclifored Tdl BT YA Foll Bt B Dl fHeT I ST Iy U8 & b Holl &1 HH & fem &
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P! faawr 81 77U §, 3 aog A fp HSRUI & 3rHTa H 7t 81 owift | dfdh Ples WS &) STa®T 81 W
ST ¥ 59 GHWT ST GHIY 81 S|
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